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$�- 3".4�� �+)�+!� ) ,��4 �5#)#"  �6�)��' 7- �!"89�89� !��$%#!& ��2
!&�)� 6 ,�!�2��&#��&�9��4 ���!- %)�6#$�)� �+�4��$1!�0� �*� &� ,���2
�. ��+�& %)�&.0�� $#� ��)$1!�4 ,��.&1 !������& � 6 ,�!�2��&#��&�9��4
���! �#&)#+� 	*�* &� :�0�/��9� 	*;*

���
� �������� <�)�( ��!$��- ��"1� !�� 	��) (- < "#�!� ��$&.�2
&��- �"8$�) =�0#�- < "��$ �����- ��4����$1!�( 	��) (*
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����������� 	����	��
� �%�$�/ ��$�� ��� Q �#"�! �+R/�� ����4
.! ��%��!���4- &�!  �#&#)� ������4* ���
�� �����
��	�� �%�$�/ ��%��2
!�� - �#%#)�+�9���� .��S�*

�#4�( �#.!� 6 ,�9�� �#"�9��� u ��5# %)�(��&� ,��9#��. u1- u2- u3-
* * * - um- * * * * ��#�#�� (��� )� $&1 %�.�� ,��9#��. um T

Pm = lim
N→∞

n(m)

N
, UV*VW

�# N Q ,�0�"1�� ! "1! $&1 ��� ) �- n(m) Q ! "1! $&1 ��� ) �- S� ��"� )#2
,�"1&�& um* �#�"1�� '. (��� )� $&1 ,�"#5�&1 � � N * �#��5"��� %)��#2
$&� �#$! �9#��# 9�$"� ��� ) �- �"# %)� N + "13�4 �#.!�0� N∗ )#,�"1&�&
%)�!&�9�� �# ,� ��&1$.- &��� � 6�)��" UV*VW 0)���9��( %#)#4 � )#�"1��
+#)�&1 .! N → N∗*

�����	������ ��	����� Q $�!�%� $&1 �#"�!�7 ! "1!�$& �#�,�/��� 2
89�4 � 5 $�+�8 $�$&#�- !�5�� , .!�4 ,�����"1�./ ����!���� ������
 $������.* �". ��$��+"8 ��5�� ��!���&� ��� ) Pm(t)* ��!&�9�� '# /
�$#)#��#��. %� ��$��+"8- �"# ,� ��# � 9�$ * 	"# � !�5#� ���#�& 9�$�
$%)��#�"��� ����� ��
������� T∑

m

Pm = 1 UV*NW

��,0".�#�� &#)� ��"�0 8 %�� (* �#4�( %�� 7 A &� B ��������
�����*
��� (��� )� $&1 %�.�� ����7 , ��4 ��,��9�/&1$. &�! T

P (A ∪B) = PA + PB UV*XW

;!S� %�� 7 A &� B Q ���������������- &� (��� )� $&1 %�.�� �+�4 %�� (
����9�$�� T

P (AB) = PA · PB UV*YW

����" $#)#��/ ,��9#��. %� ��$��+"8 +��#�� %�,��9�&� 〈u〉- � $#)#��/
,� 9�$�� Q ū* ���#�#�� �#.! �$���� 6�)��"� �". $#)#�� 4 ,��9#�1T

〈u〉 =
∑
m

umPm UV*ZW

〈f(u)〉 =
∑
m

f(um)Pm UV*PW

〈f + φ〉 = 〈f〉 + 〈φ〉 UV*[W

〈f(u)φ(v)〉 = 〈f〉 · 〈φ〉 UV*\W
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� 6 ,�' 9�$&� &)�%".8&1$. �#"�9���- S� ,� �88&1$. �#%#)#)���* ��� 
$" � 0���)�&� �5# �# %)� (��� )� $&1 ��� ).&� .!#$1 %#��# ,��9#��.- �
%)� (��� )� $&1 �&)���&� ,��9#��. � %#�����  �&#)��" * ��, +R/�� �#$1
 �&#)��" ,��9#�1 u �� ��" � �) ,!� )�,� )� Δu* ��� (��� )� $&1 ΔP
&�0�- S� ��� ) %�&)�%�&1 �  �&#)��" � � u �� u+Δu- �9#�����- +��# &��
+ "13�- 9�$ + "13� 3�)��� � �) ,!� Δu* ��"#5� $&1 ΔP � � Δu- �,�0�" 
!�5�9�- ��5# +�&� �#" � (��8- �"# %)� Δu → 0 $%)��#�"��# " � (�#
��+"�5#��.T

ΔP (u,Δu) = p(u)Δu, UV*]W

 - ��!����3� 0)���9��( %#)#4 � Δu→ 0- ��/�� T

dP (u) = p(u)du, UV*VOW

�# p(u) Q ��	���� �����
��	��* ���� ��,��9�/ (��� )� $&1 %�&)�%".��.
��� )� ��  �&#)��"� � � u �� u + du* �#%#) ��5#�� ,�%�$�&� 6�)��"�
�". ,��4��5#��. $#)#��1�0� ,��9#��. �#%#)#)���7 �#"�9��� T

〈f(u)〉 =

∫
p(u)f(u)du UV*VVW

^�!"��3� � UV*VVW f(u) = 1- �&)���/�� ����� ��)������. T∫
p(u)du = 1 UV*VNW

�" � ,�,��9�&�- S� p(u) ≥ 0- �$! "1!� '# / 0�$&��� (�� )��$& * 
. �����
#!� ��"#�&�� �� ����� 0 ≤ Pm ≤ 1 �". ��$!)#&��4 �#"�9��*

� ����
����� � �����
� ����� ����
���

��( 6�!&- S� %)��'�%��� ) ,� )�,%�� "� � ,�0�"1���� ��%��!� ��2
5�&1 ��&� ����!�� ,��9#��. 4�)�!&#)��4 �#"�9�� U��%)�!"��- $#)#��/
,��9#��. )�,%�� "�W- %)�,����&1 �� �#�+4 ���$& ��#�#��. ����&!���4
4�)�!&#)��4 �#"�9��* �#.! , ��4T

��$%#)$ .T 〈(ΔU)2〉 = 〈(U − 〈U〉)2 = U2 − U
2

�#)#��1�!���)�&�9�� ��$%#)$ .T ΔU =
√〈(ΔU)2〉 =

√〈U2〉 − 〈U〉2
� ���$�� ��$%#)$ .T Redi(U) = ΔU

U
= δU

���#�#�� �". %)�!"��� � ���$�� ��$%#)$ 8 �". $�$&#��- S� $!"���2
/&1$. , n % �$�$&#�- !�5�� , .!�4 4�)�!&#)�,�/&1$. �#.!�8 �#"�9���8
μi*
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M =
N∑
i=1

μi 2 �#"�9���- S� 4�)�!&#)�,�/ $�$&#��_ M =
n∑
i=1

μi = n · μ0.

(ΔM)2 = (M −M)2 = (

n∑
i=1

(μi − μ0))2.

^�,��9��� μi − μ0 ≡ Δμi- ,� �,��9#��.� μ0T μi − μ0 = 0* ��� T

(ΔM)2 = (
n∑
i=1

Δμi)2 = 〈
n∑
i=1

n∑
j=1

ΔμiΔμj〉 =
n∑
i=1

n∑
j=1

ΔμiΔμj =

=
∑
i

(Δμi)2

︸ ︷︷ ︸
≥0

+
∑
i�=j

∑
i

ΔμiΔμj =
∑
i

(Δμi)2
≥0 +

∑
i�=j

∑
i

Δμi︸︷︷︸
=0

·Δμj︸︷︷︸
=0

=

=
∑
i

(Δμi)2 = n · (δμ0)
2,

�# (δμ0)
2 ≡ (Δμi)2*

�&)�����- S�
(ΔM)2 = n · (δμ0)

2. UN*VW

�&5#- � ���$�� ��$%#)$ . ,�0�"1��7 $�$&#�� ,�"#5�&1 � � � ���$��4
��$%#)$ ( % �$�$&#� ��$&�%��� 9����T

Redi(M) =

√
(ΔM)2

M
=

√
n · δμ0

n · μ0

=
1√
n
· δμ0

μ0

=
1√
n
·Redi(μ0). UN*NW


#�&)�"1��� ���#�&�� n20� %�).�!� ��,���/&1$.T Dn(U) = 〈(ΔU)n〉*
;!S� $#)#��1�!���)�&�9� ��$%#)$ 7 ���4 )�,%�� " � ,+ 0�8&1$.T

σ(U1) = σ(U2)- &� �� )�,0".�� �����&1$. 〈(ΔU)3〉T

〈(ΔU)3〉 =

∫ +∞

−∞
P (U)(U − U)3dU.

〈(ΔU)3〉 �#���$&)�/ �$��#&) 8 )�,%�� "� 2 %�!�,�/- � .!� , $&�) � � �
/ + "13

”
��5!��“* ��!$���"1��( , ���#�& �- S� )#�"1�� ��!�)�$&���2

8&1$. 2 9#&�#)&�0� %�).�!�- 〈(ΔU)4〉* � (�0� ��!�)�$&���.� �����&1$.
!�#6 ' /�& #!$'#$$�- S� 4�)�!&#)�,�/ %"�$! $&1 �#)3��� )�,%�� "�*

Q =
(ΔU)4(
(ΔU)2

)2 . UN*XW
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;!S� �#"�9��� ,�"#5�&1 � � 9�$�- '# ,��9�&1- S� � �+���/&1$. .!�($1
%)�'#$* ����
��������� ��,���/&1$. %)�'#$ &�� -!�"� / ����,��9�� � �2
%�� �� $&1 � 5 ���#�&�� 9�$� &� )#,�"1&�&�� ��� )8����.* �����
����

2 &�!�(- !�"� �#��/ ��S#�,��9#��7 � �%�� ���$& * �����
��� ��	����� 

��	�� 2 ��� )8����. ,� ($�88&1$. � ���#�&� 9�$� tn, n = 1, 2, 3, 4, 5, 6...*
��� )8���� �#"�9��� %)�(��/ ,��9#��. � �%�� ���T f(tn)* ��#�#�� 6��2
!' 8- .!� �%�$���&��# ��$��+"1- � �# %������!�( ��%���! p(u, t)T∫

p(u, t) du = 1 UX*VW

��� $#)#�� � ��,�#�� �#"�9���

< u(t) >=

∫
p(u, t) du UX*NW

�#4�( ��/�� ��� ���#�&� 9�$� t1, t2* ;!� +��#  ��� )� $&1 &�0�- S� �
���#�& 9�$� t1- ,��9#��. ��� )8��"1��7 6��!' 7 u1- � � ���#�& 9�$� t2 2
u2T p(u1, u2; t1, t2) 2 '# / �# S�  �3# .! %��� (�� 0�$&���  ��� )��$& * �".
�#7 $%)��#�"��� &�!� ) �� $&1T∫

p(u1, u2; t1, t2) du2 = p(u1, t1) UX*XW

���#�& 9�$� t2 2 �# �)�4�����&��#�� � 6��!' 7 p(u1, t1) � $�"� &�0�- S�
 �&#0)�����. �#�#&1$. %� ,� �� ( u2- .!� / ,�"#5��8 � � ��S#,0�����0�
���#�&� 9�$�* 
# �,��9�&��#- S� t2 � ! �'#� ( 6�)��" / !��$&��&�8*

�$! "1!� %)�'#$ �  $��/ +�0�&�- &� ���� ��5�&1 +�&� ,�"#5���� ��� 
� � ����4* ��#�#�� %��.&&. !�)#".' 7*

!�
���"��� ��,���/&1$. �,�/��,�"#5� $&1 � 5 ) ,���� %)�'#$���-
�+� ����� %)�'#$�� � ) ,� ���#�&� 9�$�* ^)�!"�� !�)#".&�)�T < u(t1) ·
u(t2) >* ��"� '# %)#�$&���&� �  �&#0)�"1���� ��0".� - &� ��&��#�� &�2
!�( ��)�,T

< u(t1) · u(t2) >=

∫∫
u1u2p(u1, u2; t1, t2) du1du2 UX*YW

��0�"�� ��5�� ��#$&� 6��!' 8  ��� )��$& � n−��� )���� ��%��!�_U0�$&���
 ��� )��$& %�).�!� nW 2 p(u1, u2, ..., un; t1, t2, ..., tn) + .!� ��/ ��0".�T∫

· · ·
∫

V

d�u = p(u1, ..., um; t1, ..., tm) UX*ZW
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 !������ 2 %)�'#$� +#, %��R.& U� ) ,� ���#�&� 9�$� ��2
� )88&1$. �#"�9��� ui, (u1, u2, ..., un) 2 �#,�"#5�&1 ���� � �  �3�7*

p(u1, u2, ..., un; t1, t2, ..., tn) = p(u1, t1)p(u2, t2)...p(un, tn) UX*PW

^)�'#$- S� �%�$�/&1$. !�)#".&�)�� �)�0�0� %����#� �%�$���&�$. ��)2
! �$1!�� %)�'#$��- &�� 

< u(t1)u(t2)...u(tn) >=< u(t1) >< u(t2) > ... < u(tn) > UX*[W

;!S�

p(u1, u2, ..., un; t1 + τ, t2 + τ, ..., tn + τ) = p(U1, u2, ..., un; t1, t2, ..., tn), UX*\W

&� &�!�( %)�'#$ ��,���/&1$. 	��"����
��� � ��,1!��� )�,�� �� * �%#)2
3� )�,0".�#�� ������� )��( ��%���!T

n = 1 : p(u1, t1 + τ) = p(u1, t1) = p(u1);< u(t1) >= const, UX*]W

0�$&���  ��� )��$& � � 9�$� �#,�"#5�&1 �". ������ )��0� ��%��!� Un =
2W p(u1, u2; t1 + τ, t2 + τ) = p(u1, u2, t1, t2- �# τ 2 ��� "1�#* ��)�$&�89�$1
'��- ,)�+��� %�,��9#��.- �#4�( τ = −t1- &�� 

p(u1, u2; 0, t2 − t1) = p(u1, u2; t1, t2) = p(u1, u2; t2 − t1) UX*VOW

�&5# ��/�� ,�"#5� $&1 & "1!� � � ) ,��' 9�$ �* �� �$�

< u(t1)u(t2) >= f(t2 − t1) UX*VVW

���.9� , UX*VVW 2 $�$&#�� $&�' ���)�� � 3�)�!��� )�,�� �� *< u(0)u(τ) >=
f(τ) 2 !�)#".&�) ��5# ,�"#5�&� � � 9�$� U) ,��' 9�$ � � 5 ����� ��� 2
)���W*

�� %)�!&�' ��!�)�$&���8&1 %)�"���- S� ,��4��.&1 !�)#".&�)� �)�2
0�0� %�).�!�* ��)#".&�) %#)3�0� %�).�!� �#,�"#5�&1 � � 9�$�- !�)#".2
&�) �)�0�0� %�).�!� ,�"#5�&1 � � ) ,��' 9�$ � ��� )8����.- '# ,��9�&1-
S� %)�'#$ $&�' ���)��( � 3�)�!��� )�,�� �� *

*�!� ����������"

• �$#)#��#��. %� 9�$�

x̄ =
1

T0

∫ T0

0

x(t) dt UX*VNW

• �$#)#��#��. %� ��$��+"8 ��$!)#&��7U�#%#)#)���7 2 %#)#4 � ��  �2
&#0)�"�W �#"�9���

< x >=
∑
m

Pmxm, < x >=

∫
xp(x, t) dx UX*VXW
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%�&�����
 ������� 
# $�$&#��- � .!�4 ,���� "1�./&1$. ����� 2 $#)#2
�� %� 9�$� &� %� ��$��+"8 2 ) �� T

x̄t =< x >a UX*VYW

�  �������!��" ��#��
��� $�#��
��� %��	� 
�
&��		���

2����-��� &���� ��,���#&1$. $�$&#��- �,�/��� . � 5 9�$&��!���
.!�7 ��$& "1!� ��"�- S� %)�!&�9�� �# ��/ ��#$!� � ,�0�"1�� #�#)0 8 $�2
$&#��- �"# ��$&�&�. �". % �&)��!� &#)������� 9��7 ) �����0� � $�$&#� *

��!�� 9����- �#4�( /  �#�"1��( 0�,*

N Q ! "1! $&1 9�$&���!  �#�"1��0� 0�,�_

|s| = 1
2

Q $% �_

�B = �ezBz Q ��0� &�# %�"# ��%).�"#�� �,���5 �$ z_

↑ Q $% � ��%).�"#��( �0�)�_ p Q (��� )� $&1 $&���_ n Q ! "1! $&1 9�$&���!
� '1��� $&�� *
↓ Q $% � ��%).�"#��( ���,* q Q (��� )� $&1 $&���_ n′ Q ! "1! $&1 9�$&���!_

p+ q = 1 UY*VW

n+ n′ = N UY*NW

;!� (��� )� $&1 &�0�- S� , N 9�$&���! n ��8&1 $% �- S� ��%).�"#2
��( �0�)�`
↑ ↑ ↓ ↑ * * * ↓ ↑ Q !��6 0�)�' .U)�,%�� " $&��� %� %�,�' .� 9�$&�2
��!W

���� )� $&1 &�0�- 3� n 9�$&���! ��8&1 $% � ��%).�"#��( �0�)�- � n′

Q $% � ��%).�"#��( ���,T

wn(n, n
′) = pnqn

′
UY*XW

� "1! $&1 !��6 0�)�' ( )#�" ,�' 7 &�!�0� $&��� ��,��9�/&1$. , � )!�2
���1 !��+ ��&�)�!� .! Cn

N
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�&5# 3�!��� (��� )� $&1 ��,��9�/&1$. .!T

PN(n) = Cn
Np

nqN−n UY*YW

Cn
N =

N !

n!(N − n)!
UY*ZW

< ��� �"1��( )�,%�� " ��/ &�!� ��,�� 9#)#, $��8 ��&#��&�9��  �#�2
&�9� $&1 !�#6 ' /�&�� + ���� �18&���- � $��#T

(p+ q)N =

N∑
n=0

Cn
Np

nqN−n UY*PW

�&)���/�� ����� ��)������. (��� )��$& - .!S� p+ q = 1

N∑
n=0

PN(n) = 1 UY*[W

^)� ��$&�&�1� �#"�! ( ! "1!�$& ��� ) �- ��5#�� ,�+)�,�&� �&)���� 
)#,�"1&�&�* �" � ,����5�&�- S� %)� )#�"1��4 �+)�4��!�4 (��� )��$&#(
PN(n) �5# %)� N > 200 %�4�+!� �+)�4��! � $.0�8&1 ,��9��4 �#"�9��*
	 � )#�"1� $�$&#��4 N ∼ 1021 − 1023* �". p = 0.4 ���#�#�� 0)�6 !
,�"#5��$& %)� ! "1!�$& 9�$&���! N = 50*

��� �������
 �	��	

�". $%)�S#��. �+)�4��!� 6�!&�) �" � !�)�$&�8&1$. ��+"�5#����
�#&�����* ��!�� �#&���� / ,�$&�$�����. 6�)��"� �& )" �0�T

n! �
√

2πnnne−n UY*\W

����� ����	
�� ���
����
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�!�)�$&��3�$1 6�)��"�8 �& )" �0� �". + ��� �"1��0� )�,%�� "� %)�

n� 1 N � 1 n0 = Np

�&)���/�� ��$&�%��( ��0".� )�,%�� "�T

PN(n) = P (n0)exp

[
−(n− n0)

2

2Npq

]
UY*]W

�&)�����( &�!�� 9���� )�,%�� " / )�,%�� "�� a��$�* �%)��� ��)2
��"1��( )�,%�� "- S� ��#�#�� � &#�) 7 (��� )��$&#( ��/ ��0".�T

f(x) =
1√
2π
exp

[
1

2

(
x− μ

σ

)2
]

�# σ2 Q ��% �3�)���U$#)#��1�!���)�&�9�# � �4�"#��.W
μ Q $#)#��/ ,��9#��.

� ��3��� ��%��!� �&)���/�� ��$&�%��( ��)�, �". ��$%#)$ 7U$#)#�/
,��9#��. n0 = NpWT √

Δn2 =
√
Npq UY*VOW

�� � ���$�� ��$%#)$ .T √
Δn2

n0
∼ 1√

N
UY*VVW

�" � ,����5�&�- S� )�,%�� " a��$� Q �#%#)#)���( )�,%�� "- 4�9 ��
(�0� 6�)��"1�� �&)���"� , + ��� �"1��0�- &�+&� +�$!)#&��0�*

��� �������
 ��	���	

��3# ��+"�5#��.- .!# ��5�� ,�$&�$���&� �� + ��� �"1��0� )�,%�� 2
"�- '# ��+"�5#��.- !�"� )#�" ,�' . .!�0�$1 , $&�� � ��5# ��"�* ��+&�
!�)�$&�89�$1 &�!��� �������

p� 1 N � 1

�&)���/�� ��$&�%��( ��0".� )�,%�� "�T

PN(n) =
(Np)n

n!
e−Np UY*VNW

;!S� )�,0".��&� p- .! (��� )� $&1 ��$&���. %�� 7 ,� 9�$ Δt
t = NΔt � �&5# Np = λt* ��� 

P (t) =
(λt)n

n!
e−λt UY*VXW
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��,%�� " UY*VXW  ��$�&1 ��,�� )�,%�� "� ^��$���*

�#)#��/ ,��9#��.

〈n(t)〉 =
∑

nPn(t) = λt UY*VYW

�#)#��1�!���)�&�9�# � �4�"#��.T〈
Δn2

〉
= n2 − n2 = λt UY*VZW

' (	�����" ��	
���
 	
�
�	
����� )�#����

;! � !)�2 &�!  ��!)�$�$&#�� �%�$�8&1$.

• )
���������- S� ��,��9�/&1$. ,� ��%���0�8 !���&���7 6��!' 7
�+� !���&���4 9�$#"U%����� ��+�)�� !���&���4 9�$#"W
Ψm Q � !)�$&��

• )���������� Q 9#)#, �%�$ ��!)�%�)��#&) �*
��

���
����
 Q 4�)�!&#)�$&�!� $�$&#��- S� ��5# +�&� �&)�����
,� ��%���0�8 ��� ) �- ��$3&�+ .!�4 ,��9�� %#)#��S�/ ,��9#��.
� �%�� ���4 �&����4 %�)��#&) �*

1����. ���
� �����!�������
� Q � � ��"1�� ! "1! $&1 ��!)�%�2
)��#&) �- S� +��12.! ��� )�  �3�4 �#"�9�� ��5�&1 +�&� ,�,��"#0 &1
%#)#�+�9#� U� �#5�4 %�$&��"#��7 ,���9 W*

6���
7�
. !������� Q ��!)�$!�% 9�� 4�)�!&#)�$&�!� �%"��� ,��2
� 3� 4 �+R/!& � �� $&�� 9�$&���! $�$&#��- S� )�,0".��/&1$.*

)�������� Q $&�� $�$&#��- S� ��,��9#��( %����� ��+�)�� ��!)�2
%�)��#&) �*

��5�&1 +�&� ��%��!�- !�"� ������ ��!)�$&��� � �%�� ��/ ! "1!� � 2
!)�$&�� �- ��%)�!"�� ) ,�# )�,&�3�����. &�&�5� 4 9�$&���!*

8����!��. ���� Q � !)�$&�� $�$&#��- � .!��� ���� ��5# %#)#+���2
&� +#, %�)�3#��. ,�����4 ����  $������.U� �#5�4 %#���0� ��!)�$&���W*

�����������. �������- Q $�!�%� $&1 �#"�!�7 ! "1!�$& �#�,�/��2
� 89�4 $�$&#�- !�5�� , .!�4 ,��4���&1$. � ������ , ��$&�%��4 � !)�2
$&�� �*

����� ����	
�� ���
����
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;! %)�!"�� )�,0".�#�� $�$&#�� 9�$&���� , $% ����- S� ,��4���&1$.
� ��0� &���� %�" * �#4�( %�"# ��%).�"#�� �,���5 �$ z* �% � ��5# +�&�
,�) /�&�����( �+� %)�&� %�". �+� ,� %�"#�* ��!�( ��!)�%�)��#&) .!
#�#)0 . �,�/��� 7 ��,��9�/&1$.

W = −( �Mz
�B) , �# �Mz − $���)��( ��0� &��( ���#�& $�$&#�� UZ*VW

�#4�( ��3� $�$&#�� $!"���/&1$. , 42�4 9�$&���!* ��+)�,��� ��5"�2
� � !)� &� ��!)�$&��� � ��0".� &�+"�' UPN(n)Q(��� )� $&1 )#�" ,�' 7
��!)�$&���WT

n ↑ n′ ↓ !��6 0�)�' . �2$&1 � 2
!)�$&�� �

Mz PN(n)

Y O ↑↑↑↑ V 4μB p4

X V ↑↑↑↓ Y 2μB 4p3(1 − p)
↑↑↓↑
↑↓↑↑
↓↑↑↑

N N ↑↑↓↓ P O 6p2(1 − p)2

↑↓↓↑
↓↓↑↑
↓↑↓↑
↑↓↑↓
↓↑↑↓

V X ↓↓↓↑ Y −2μB 4p(1 − p)3

↓↓↑↓
↓↑↓↓
↑↓↓↓

O Y ↓↓↓↓ V −4μB (1 − p)4

* +�������������" ��#��
�� %�,,	�� +�
��!
,���
!�� �
������� �	����
����

�". %)�!"��� )�,0".�#�� $�$&#��- S� $!"���/&1$. , 9�&�)1�4 9�2
$&���!- !�5�� , .!�4 ��/ ��0� &��( ���#�& μ0* �9#�����- S� $���)��(
��0� &��( ���#�& $�$&#�� ��5# %)�(��&� ���# , %R.&� ,��9#�1T
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Mz P (Mz)
4μ0 VbVP
2μ0 YbVP
0 PbVP

−2μ0 YbVP
−4μ0 VbVP

 !�5#� , � !)�$&�� � / � ����!�� ( � )  ��� )���

%)� � �$�&��$& ,��� 3�1�0� ��0� &��0� %�".- S� �,��9�/ ) ,��  ��� )2
� $&1 ��!)�$&�� � U� �%�� ��� ���#�#� ( &�+"�' W*

P (E∗, m) = Cs · Ω∗(E∗, m). UP*VW

��& E∗ 2 %���� #�#)0 ._ m 2 !���&��# 9�$"� U� ,�0�"1���� ��%��!� 2
��+ ) !���&���4 9�$#"W_ Ω∗ 2 $&�% �1 ��)��5#��._ Cs 2 ! "1! $&1 � !)�2
$&�� �- S� 6�)��8&1 %#���( ��!)�$&��*

��)��"� P*V ��)�5�/ � !)�!���� 9��( )�,%�� " a ++$�*
�#)#, 0�$&���  ��� )��$& � !)�!���� 9��( )�,%�� " a ++$� ,�%�$�/2

&1$. � ��0".� T

ρ(E∗, m) = C0 · Ω∗(E∗, m)δ(E∗ −E),

�# δ(E∗ − E) ��)�5�/ ����� !��$#)��&����$& $�$&#��_ C0 �&)���/&1$.
 , ����� ��)������.*

- .��������" ��#��
�� %�,,	�

A

A’

Підсистема

A∗ Q U, )�9!� �!�,�/ �� ,�2
0�"1�� 4�)�!&#)�$&�!� $�2
$&#��W
A′ Q &#)��$&�&

E + E ′ = E∗ U[*VW

��,0".��/�� $�$&#�� , ��$&�%���� 4�)�!&#)�$&�!���T

• !��$#)��&����

• ! "1! $&1 9�$&���! � % �$�$&#��4 A,A′ 2 6 !$�����

• �+� � "�3# #�#)0 /8

• ����� �� &#)��$&�& E ′ > E

����� ����	
�� ���
����
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PA(E)−? U.!� (��� )� $&1 &�0�-S� % �$�$&#�� A ��/ #�#)0 8 E `W

P (E∗, m) = CSΩ
∗(E∗, m) U[*NW

(E∗ − const)
(m 2 4�)�!&#)�$&�!� $�$&#��_ �#4�( m +��# #�#)0 /8 % �$�$&#�� A-

%�,��9��� 77 EW

P (E∗, E) = CSΩ
∗(E∗, E)

Ω(E)A - Ω′(E ′)A Q $&�%#� ��)�2
�5#��. % �$�$&#�� &� &#)��$&�2
&�
Ω(E∗)Ω′(E ′) = Ω∗(E∗, E) Q ! "12
! $&1 ��$&�%��4 $&�� � � % �$�2
$&#� � ' "���
UE ′ = E∗ −EW

P (E) = CSΩ(E) ∗ Ω(E∗ − E)
U[*XW

ρH(n) ∼ (n2) U $&�% �1 ��)��5#2
��. ,� #�#)0 /8 �&��� ����8 W

E ′ >> E U[*YW

∂P (E)

∂E
= 0 → E0 U[*ZW

∂Ω(E)

∂E
Ω′(E ′) + Ω(E)

∂Ω′(E ′)
∂E ′

∂E ′

∂E
= 0 U[*PW

∂E ′

∂E
=
∂(E∗ − E)

∂E
= −1

∂Ω(E)

∂E
Ω′(E ′) =

∂Ω′(E ′)
∂E ′ Ω(E)

1

Ω(E)

∂Ω(E)

∂E
=

1

Ω′(E ′)
∂Ω′(E ′)
∂E ′ U[*[W

U%���"13 ��!"��!� %)������� "�3# �". &�4 $�$&#� &� % �$�$&#�-�".
.!�4 %)� %#)#���5#�� 0)�6 ! � �&)���/�� ��!$����W

��#�#�� �#"�9���- .!� ,0���� ��,�#�� #�&)�% /8T

S = k0lnΩ(E) U[*\W
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S ′ = k0lnΩ′(E ′)

�,.�3� �� ���0�- S� ∂S
∂E

∣∣
E0

= 1
T

U �# T Q &#�%#)�&�)� W- ��/��

∂S

∂E

∣∣∣∣
E0

=
∂S ′

∂E ′

∣∣∣∣
E′

0=E′−E0

U[*]W

(A|E0
= A0|E′

0=E
′−E0

)

∂S

∂E
=

1

T
;
∂S ′

∂E ′ =
1

T ′ U[*VOW

T (E0) = T ′(E∗ −E0) U[*VVW

U�#) �� $&1 & "1!� � &�9' E0 &#)������� 9��7 ) �����0�W

α ≡ (
E − E0

E ′ ) << 1 U[*VNW

�". ,0"��5#��. 0)�6 !� �%)�!$���89�8 6��!' /8 �+#)#�� lnf(x)
��!�� 9���� �� )�,0".��/�� lnΩ′- S� $% �%���/ , #�&)�% /8T

S ′ = k0lnΩ′ U[*VXW

S ′(E∗ −E) = S ′(E∗ − E0) + ∂S′
∂E

∣∣
E0

(E∗ − E0) + 1
2
∂2S′
∂E2

∣∣∣
E0

(E∗ − E0)

U)�,!"�"� S ′ � �!�" &�9!� E0W
��� ���� � )�,!"�� ∂S′

∂E
= − ∂S′

∂E′ = − 1
T ′ = − 1

T
Q � &�9' E0

��� �)�0�( ������! ��&��# ��0".� − 1
T
(E − E0)

∂2S ′

∂E2
∼ 1

N +M
∼ 10−21 − 10−24 → 0

S ′(E∗ − E) = S ′(E∗ −E0) − 1

T
(E − E0) U[*VYW

P (E) = CSΩ(E)exp(
S ′(E∗ −E0)

k0

)exp(−E −E0

k0T
) U[*VZW

P (E) = C0exp(− E

k0T
)Ω(E) U[*VPW

��)��"� U[*VPW  .�"./ $�+�8 
��������� 
������� #���	�∑
E

P (E) = 1 U[*V[W

����� ����	
�� ���
����
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U�"�$&���$& �%"��� &#)��$&�&� �� % �$�$&#�� ��,��9�8&1$. !��$&��&�8
T W

	��"�0 U[*VPW �". !���&���4 $�$&#� T

Pn = C0exp(− En
k0T

)Ωn U[*V\W

Ωn Q $&�% �1 ��)��5#��.
UnQ0�"���# !���&��# 9�$"�- S� � �%�� ��/ ,� #�#)0 8W

/ 0�����" ���������" ��#��
�� %�,,	�

<��#�� )�,0".��&� &�!� $��� $�$&#�� .!  �!���� 9���� )�,%�� " -
& "1!� &#%#) �)�4�/��- S� ! "1! $&1 9�$&���! ��5# ,� �8��&�$1*

<��#�� )�,0".��&� $�$&#��-
.!� ,��4���&1$. � ��6�, (����
!��&�!& *

E∗ = E + E ′

N∗ = N +N ′ U\*VW

N∗, N ′ � N

��,0".�#�� � !)�!���� 9��( )�,%�� " a ++$�T

P (E∗, E,N) = C0Ω
∗(E∗, E,N) U\*NW

�$! "1!� E∗ = const- ��/��T

P (E,N) = C0Ω
∗(E,N) U\*XW

�# Ω∗(E,N) = Ω(E,N)Ω′(E∗ − E,N∗ −N)
��!�)�$&���89� ����� &#%"���7 ) �����0�T

∂P

∂E
= 0,

∂P

∂N
= 0 U\*YW

��#)5���T
∂Ω

∂E
Ω′ +

∂Ω′

∂E
Ω = 0

∂Ω

∂N
Ω′ +

∂Ω′

∂N
Ω = 0
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,� �!�
∂S

∂E
=
∂S ′

∂E ′ U\*ZW

∂S

∂N
=
∂S ′

∂N ′ U\*PW

�# S2#�&)�% . ��"�7 % �$�$&#�� S ′2 #�&)�% . &#)��$&�&�*
� ) ��.��. U\*ZW

T = T ′ U\*[W

��#�#�� ��� ,� �� T

μ = −T ∂S
∂N

, μ′ = −T ∂S
′

∂N ′ U\*\W

μ24 � 9��( %�&#�' �"
��� , ) ��.��. U\*PW

μ = μ′ U\*]W

��,!"��#�� #�&)�% 8 � ).� �#("�)�T

S ′ = k0 ln Ω′ = S ′(E ′−E,N ′−N) = S ′(E∗−E0, N
∗−N0)+

∂S ′

∂E
(E−E0)+

∂S ′

∂N
(N−N0)+...

U\*VOW
��,0".�#�� &#%#) #�&)�% 8 &#)��$&�&�T

S ′(E∗−E,N∗−N) = S ′(E∗−E0, N
∗−N0)− 1

T
(E−E0)+

μ′

T ′ (N−N0) U\*VVW

�� �!� ,��5�89� �� U\*[W &� U\*]W T

S ′(E∗−E,N∗−N) = S ′(E∗−E0, N
∗−N0)− 1

T
(E−E0)+

μ

T
(N−N0) U\*VNW

�� �$� ��/��T

Ω′(E∗ − E,N∗ −N) = exp

(
S∗

k0
+
μN −E

k0T
+
E0 − μN0

k0T

)
U\*VXW

��� )�,%�� "

P (E,N) = C0Ω(E,N)Ω′(E∗ −E,N∗ −N) U\*VYW

%#)#%�3#�� .!

P (E,N) = C0 exp(
μN −E

k0T
)Ω(E,N) U\*VZW

����� ����	
�� ���
����
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#  / �#"�!�( !���� 9��( )�,%�� " a ++$�
���$&��&� Cs ,��4����� , ����� ��)������. 6��!' 7 )�,%�� "�T∑

E

∑
N

P (E,N) = 1 U\*VPW

,� �!�

C0 =
1∑

E

∑
N

exp
[
μN−E
k0T

]
Ω(E,N)

U\*V[W

��� �������
 �	��	

P (E,E∗) = C0 Ω(E)︸ ︷︷ ︸
A

Ω′(E∗ −E)︸ ︷︷ ︸
A′

, �# U\*V\W

A2��"� $�$&#��- %�) ��.�� , &#)��$&�&��
A′2&#)��$&�&

<��#�� )�,0".��&� $�$&#��- �". .!�7  $��/ "�3# ���� ) �����5��( $&��
��,!"��#�� 6��!' 8 S∗

S∗ = k0 ln [Ω(E)Ω′(E∗ − E)] U\*V]W

� �!�" &�9!� E0

S∗|E0
= k0 ln [Ω(E0)Ω

′(E∗ − E0)] +
∂S∗

∂E

∣∣∣∣
E0

(E − E0) +
1

2

∂2S

∂E2

∣∣∣∣
E0

(E − E0)
2

U\*NOW
E∗ = E + E ′ = const⇒ dE = −dE ′ U\*NVW

S∗ = S + S ′ U\*NNW

,� �!�
∂S∗

∂E

∣∣∣∣
E0

=

(
∂S

∂E
+
∂S ′

∂E

)∣∣∣∣
E0

=

(
1

T
− 1

T0

)∣∣∣∣
E0

= 0 U\*NXW
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�$! "1!� E0 2&�9!� ��!$�����- &�

1

2

∂2S

∂E2

∣∣∣∣
E0

< 0 U\*NYW

�#%#) %#)#4����� ��  ��� )��$& - ,��5�89� �� U\*NXW &� U\*NYW

��#)5���

P (E) = C0 exp

[
S∗

k0

]
U\*NZW

�+�
P (E) = Cg exp

[−γ(E − E0)
2
]

U\*NPW

�# γ = − 1
2k0

∂2S
∂E2

∣∣∣
E0

�� ��#)5�"� )�,%�� " a��$�*

1 �������� 
� ,�#���

��$��%#)#� $" � ,0���&� �,��9#��. 6#)� �� � &� +�,�� �*
$�
������� 2 ��,���81&$. 9�$&��!�- .! ��8&1 ��% �' "�( $% �- �%�2

$�8&1$. ��&�$��#&)�9��8 ψ26��!' /8- � &�!�5 % �!�).8&1$. %)��'�%�
^��" * Sz = 1

2
�, 3

2
�, ...; nk̃ = 0, 1

%����� 2 '# 9�$&��!�- .!�� %)�&������( ' "�( $% � &� .! ��8&1
$��#&)�9�� ψ26��!' 8*Sz = 0, �, 2�, ...; , nk̃ = 0, 1, 2...

��#�#�� S# �#.! �#�+4 �� �,��9#��.T &
������U#!� ��"#�& ) 3#�2
�. ����9�$&��!���0�) ��.��. �)#� �0#)�W 2 �%�$���&��#&1$. 4��"1�2
��8 6��!' /8 ψk̃- �# k̃ = (a, b, c 2 %����( ��+ ) !���&���4 9�$#"- S�
4�)�!&#)�,�8&1 )�4 U$&��W 9�$&��!�* Ω(k) 2 $&�% �1 ��)��5#��. $&���
S� �%�$�/&1$. %����� ��+�)�� !���&���4 9�$#"- Ω(k̃) 2 $&�% �1 ��)��5#2
��. $&���*

Ω(k) = 1 U]*VW

<�0�&�9�$&��!���( $&��T k = k̃, nk̃ k 2 4�)�!&#)�,�/ +�0�&�9�$&��!���(
$&��* k̃, nk̃ 2 �)+ &�"1�# 9�$"� &� ! "1! $&1 9�$&���! �� �)+ & � �%�� ���*
�$! "1!� 9�$&��!� �#)�,) ,�#� - &� U���*W U]*VW ;!S� ,0���&� �#"�!�(
!���� 9��( )�,%�� " a +$�  & "1!� S� ��%�$��� 6�)��"� U]*VW- &� �&)�2
��/��

Pk = C0exp

(
μnk −Ek
K0T

)
U]*NW

����� ����	
�� ���
����
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��� �� ������

nk = nk̃ C0 = 1
Z

�, & "1!� S� ��%�$���0� )�,%�� "�- !�)�$&�89�$1 �����8
��)������.- ,��(�#�� �#"�!� $&�&�$&�9�� $���T

Z =
∑
k

exp

[
μnk − Ek
k0T

]
U]*XW

;!S�  ��#!$ % �$���������. �# / %����� ��+�)�� !���&���4 9�$#"- &�
$" � �)�4�����&� $&�% �1 ��)��5#��.* ��+&�- !�"� $!�5 ��- % �$�����2
����. �#�#&1$. %� $&����- &� �#�+4 ��� �)�4���&�- S� $�$&#�� &�!�5
��5# ��&� .!�$1 ! "1! $&1 9�$&���! �  �3�4 $&���4  &)#+� �)�4���&� (
74*

Z =
∑
m

exp

[
(μnm −Em)Ωm

k0T

]
U]*YW

�� ��5#�� ��)�,�&� $#)#��/ ,��9#��.- ��%)�!"��- !2$& 9�$&���!*

< N >=
∑
k

nkPk =
1

Z

∑
k

nkexp

[
μnk − Ek
k0T

]
U]*ZW

�)�+��� �#.! %�,��9#��.- S� $%)�$&.&1 ��� ��$&�%� ��!"��!�T α =
μ

k0T
, β =

1

k0T
2 �#,�"#5� %�)��#&)�* ��� 6�)��"� U]*ZW %#)#%�3#&1$.

� ��$&�%���� ��0".� T

< N >=
1

Z

∑
k

nke
[αnk − βEk] U]*PW

�#%#) %�� &���- S� ��)�, % � $���8 / �# S�  �3# .! %�4 ��� %� α
% �$������7 #!$%��#�&�* ��!�� 9���� ��5#�� ��%�$�&�T

< N >=
1

Z

∂

∂α

∑
k

nke
[αnk − βEk] =

∂lnZ

∂α

∣∣∣∣
β

U]*[W

;!S� ,0���&� ��S#,�%�$���( ��)�, �". α- &� �#��5!� %�� &�&�- S�
6�)��"� U]*[W &)��$6�)��/&1$. &�!�� 9����T

< N >= k0T
∂lnZ

∂μ

∣∣∣∣
T=const

U]*\W

	��"�0 9�� 6�)��"� ��5�� ��%�$�&� �". $#)#��1�7 #�#)0 7T

< E >=
1

Z

∑
k

Eke

μnk − Ek
k0T U]*]W
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�)�+��� �#.! ��&#��&�9� ��!"��!�* 	 $��# 2 � ,1�#�� %�4 ��� %� &#�2
%#)�&�) � � % �$������7 #!$%��#�&�T

∂

∂T

[
exp

(
μnk − Ek
k0T

)]
=
Ek − μnk
k0T 2

exp

(
μnk − Ek
k0T

)
U]*VOW

^�)� �3� $%)�S#��. � & "1!� S� �&)������� ��)�, &� ��)�,��3� % �2
$������( ��)�, �". $#)#��1�7 #�#)0 7- �&)���/��T

Eke

μnk − Ek
k0T = k0T

2 ∂

∂T

[
exp

(
μnk − Ek
k0T

)]
+ μnke

[αnk − βEk] U]*VVW

^ �$&��".89� '#( ��)�, � $���- &� %�� &��3�- S� ��)�, μnke[αnk − βEk]

%)� % �$��������� ��$&1 μ < N >- � ��)�, k0T
2 ∂

∂T

[
exp

(
μnk − Ek
k0T

)]
%)� %#)#$&����' %�4 ���7 &� % �$���������. ��$&1 ��� ��)�,

k0T
2 ∂

∂T

∑
k

[
exp

(
μnk −Ek
k0T

)]
* ��)�, % � %�4 ���8 / �# S�  �3# .! �#"�2

!� $&�&�$&�9�� $���* � )#,�"1&�& &�!�4 ��� %�".' (- ��#)5��� ! �'#��(
��)�, �". $#)#��1�7 #�#)0 7T

< E >= k0T
2 1

Z

∂

∂T
(Z) + μ < N >= k0T

2 ∂

∂T
(lnZ) + μ < N > U]*VNW

�2 $�#��
�� �����34�����

��,0".�#�� $�$&#��- � .! ( ,�!)�&� &)� , 9�&�)1�4 !�� )�!*


 !�� )!� �� ��5#��  �&#)%)#&���&� .! !���&�� $&���  �#�"1��0�
0�,�U,� ,�����7 0�$&���W %)� ��$&�&�1� ��,1! ( &#�%#)#&�) - �". .!�2
0� �# $%)���5�/&1$. $&�&�$&�!� <�"1'����* �".'1�0� 0�,� %������ +�2
&� %�+�������  �3� $&�&�$&�!�- � .! ( $#)#�� 9�$"� ,�%���#��. ) ,��4
!���&���4 $&�� � 9�$&���! �# / ��"���*

����� ����	
�� ���
����
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� ����
<8
����

��,0".�#�� !��!)#&�� $�$&#��- � $��# 2 �&�� ���#�1*

=��� ����>
�� ��"8�!� %�!�,��� ) �� #�#)0 7- � &�!�5 6 "1&)- S� ��� "./ ����

 , $&�� �* ��%�3#�� �#"�!� $&�&�$&�9�� $��� �". ����0� ��%��!�T

Z =
∑
k̃

∑
nk̃

exp

[
μnk̃ − E(k̃, nk̃)

k0T

]
UVO*VW


# +�"� ,�%�$��� 6�)��"� $&�&* $��� �". ��%��!� % �$���������. %�
�$ � $&���� �&���  %� �$ � #�#)0 .� �)+ &�"#(* ��%�3#�� 9�$&����(
��%���! �". ��� /7 �)+ &�" � ��0".� T

Zk̃ =
∑
nk̃

exp

[
μnk̃ − E(k̃, nk̃)

k0T

]
UVO*NW

�)�4���89� &#- S� � ��$ $�$&#�� 6#)� �� �- �". .!�4 ��!���/&1$. %)��2
'�% ^��" - � ψ26��!' . / ��&�$��#&)�9��8- &� ! "1! $&1 9�$&���! nk̃
��5# %)�(��&� ,��9#��. 0 9� 1* � &�!��� ��%��!� ��3� �#"�!� $&�&*
$��� %#)#&��)8/&1$. �$1�0� �� ��� �����!�- , .!�4 ���� 2 ��"1*��/��
nk̃ = 1, ⇒ Ek = nk̃Ek̃ = E(k̃)* �#�� %�&)#+� %�!�,���&�- S� , ���"�0 2
9��4 � )!����1 %)� nk̃ = 0, Ek = 0* ��!�� 9���� �&)���/�� ��)�, �".
$&�&* $��� ��� /7 9�$&��!�T

Zk̃ = 1 + exp

(
μ− E(k̃)

k0T

)
UVO*XW

���(�#��  ��� )� $&1 %�.�� ��� /7 9�$&��!� , k̃ U��/&1$. �� ���, - � &�2
!��� $&�� WT

P (k̃, nk̃) =
1

Zk̃
exp

(
μ− E(k̃)

k0T

)
UVO*YW

��%�3#�� ��)�, �". $#)#��1�0� 9�$"� 9�$&���! � ������ $&�� T

< nk̃ >= 0 · P (k̃, nk̃ = 0) + 1 · P (k̃, nk̃ = 1) = f(k̃), f(k̃) = P (k̃, nk̃ = 1)
UVO*ZW
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���� 9�

�#��5!� %�� &�&�- S� %)�$&�8 % �$&����!�8- �� �&)���/�� )�,%�� "
�#)� 2� )�!�T

f(k̃) =
1

exp
(
E(k̃)−μ
k0T

)
+ 1

UVO*PW

��!�( ��)�, �". )�,%�� "� �#)� 2� )�!� ��5�� ��!�)�$&�����&� �".
����9�$&��!���7 $�$&#��* ��"� $�$&#�� ��/ ��)��5#��.- &� $" � !�)�2
$&���&�$. 6�)��"�8- .!� (�0� �)�4���/T

f(k̃) =
1

exp
(
E(k̃)−μ
k0T

)
+ 1

g(E), UVO*[W

�# g(E) 2 $&�% �1 ��)��5#��.*
��,0".�#�� $&�&�$&�!� �#)� - %)� '1��� $% � �#�)�4�����&��#��T

k = ka, Sa 2 �#%����( ��+ ) !���&���4 9�$#"- +� .! �5# ����"�$1 ��S# 2
$% � �#�)�4���/��*

A nk̃ Φk̃ Ek
O-O O V O
↑, 0
0, ↓ V N E(k̃)

↑, ↓ N V NE(k̃)

� �)�4�����.� ����4 ��%�$���4 � &�+"�' - ��5#�� ,�%�$�&� ��)�,
�". $&�&* $��� ����0� !���&���0� $&���T

Zk̃ = 1 + 2exp

(
μ− E(k̃)

k0T

)
+ exp

(
2μ− 2E(k̃)

k0T

)
=

=

(
1 + exp

(
μ− E(k̃)

k0T

))2

UVO*\W

< N >= k0T

(
∂lnZ

∂μ

)
T

, f(k̃) =
2

exp
(
E(k̃)−μ
k0T

)
+ 1

UVO*]W


# +�"� ���#�#�� 6�)��"� , �)�4�����.� %)��'�%� ^��" *

����� ����	
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9� /��!��
� ,���<%.�7��.��

�� $�#��
��  �#�3�"�5
�"��

��#�"1��( 0�,- 9�$&��!� .!�0� �%�$�8&1$. $��#&)�9���� 4��"1���2
�� 6��!' .�� Q +�,��� Q �%�$�/&1$. ,� ��%���0�8 $&�&�$&�!� <�,#2
�(�3&#(��* � '1��� ��%��!� � ������  &��� $����� $&�� ��5# %#2
)#+���&� +��12.!� ! "1! $&1 9$�$&���!* ��!�� 9���� +��#�� )�,0".��&�
$&���- S� �%�$�8&1$. !���&����� 9�$"���T

k = {k1, k2, . . . , km} = {k̃, n(k̃)} UVV*VW

n(k̃) = 0, 1, 2, . . . , N∗ 2 ! "1! $&1 9�$&���! � ������ $&�� *

�&�&�$&�9�� $���

Zk̃ =
∑
k̃

exp

[
μn(k̃) − ε(k)

kT

]
UVV*NW

��"� 9�$&��!� � 5 $�+�8 �# �,�/��� 8&1

A(k) = n(k̃)A(k̃) UVV*XW

A Q +��12.!� �#"�9���- � &��� 9�$"  #�#)0 .* ��� $&�&�$&�9�� $���

Zk̃ =
∑
k̃

exp

[
μn(k̃) − n(k̃)E(k̃)

kT

]
=

N∗∑
n=0

(
exp

[
μ− E(k̃)

kT

])n

UVV*YW

�". �$ 4 E(k̃) U� &��� 9�$" E(k̃) = 0W �#�+4 ��� ��!�����. �����

exp

[
μ−E(k̃)

kT

]
< 1,

S�+ $&�&�$&�9�� $��� ,+ 0�"�$.- .! $��� �#$! �9#���7 0#��#&)�9��7 %)�2
0)#$ 7* ��+&� μ < 0* �&5# $" � ,�#)��&� ���0�- S� �". 0�,� <�,# 4 � 9��(
%�&#�' �" ,��55�� %)�(��/ � �R/�� ,��9#��.- � �". �#)� 20�,� ��5#
+�&�- .! %�,�&����� &�!  �#0�&�����*

Zk̃ =
1

1 − exp

[
μ− E(k̃)

kT

] UVV*ZW



����������� 	
���� 9#

��$#"#� $&1 ) ��.U�)+ &�" W &�&�5�1� ) ��� $#)#�� ( ! "1!�$& 9�$&�2
��!- S� ,��4��.&1$. �� ) �� * ���89� $&�&�$&�9�� $���- ��5#�� �+)�2
4���&� $#)#��8 ! "1! $&1T

〈
n(k̃)

〉
= kT

∂

∂μ
ln(Zk̃) UVV*PW

〈
n(k̃)

〉
=

1

exp

[
E(k̃) − μ

kT

]
− 1

UVV*[W

�&)����� 6�)��"� UVV*[W  .�"./ $�+�8 )�,%�� " <�,#2�(�3&#(��*

�� $�#��
�� &�����

��,%�� " ^"��!� 4�)�!&#)�,�/ $%#!&)�"1�� 0�$&��� ��%)�� �8����.
�+$�"8&�� 9�)��0� & "�U	��W* ��%)�� �8����. ��5�� )�,0".��&� .!
0�, 6�&�� �-  � $�"� " � (��$& ) ��.�1 #"#!&)������ !� $&�#)�5���2
&�- S� � 5 ���� � �$�&�. �,�/��� .* ��!�� 9���� 6�&����( 0�, ��5��
���5�&�  �#�"1���- � '# �,��9�/- S� � � �%�$�/&1$. ,� ��%���0�8 $&�2
&�$&�!� <�,#2�(�3&#(��*

;!S� ��%)�� �8����. ,��4���&1$. �# � ��!��� - � � ��&#) �"1���!�
$#)#����S - &� �����  �#�"1��$& 6�&����0� 0�,� %�&)#+�/ &�!�5- S�+
�,�/��� . ��%)�� �8����. , )#9�����8 &�! $��� +�"� ��"�8* ��!� ��2
"� �,�/��� . , )#9�����8 4�)�!&#)�,�/ $&�� &#%"���7 ) �����0�- �#4�2
� ,� �$&����"#��. .!�7 %�".0�/ � %�0"����� &� ��%)�� �#�� 6�&�� �
)#9�����8* ��!�� 9���� ��3� $�&��' . +��# 4�)�!&#)�,���&�$. ,� ��8
! "1!�$& 6�&�� � N ,� )�4���! %)�'#$ � %�0"�����. &� ��%)�� �#��.-  
�$&����"#�� ! "1! $&1 +��# ,�"#5�&� �"�$�# � � &#%"���7 ) �����0�*

�#%"��� ) �����0� 4�)�!&#)�,�/&1$. � � ��"1� ��8 � "1��8 #�#)0 /8
0�,�* � &�!�� 9���� �#�+4 ��� ��!�����. ����� ∂F/∂N = 0 = μ* �&5#
��%)�� �8����. 	�� �%�$�/&1$. )�,%�� "�� <�,#2�(�3&#(�� , μ = 0*

<��#�� ,��4���&� 0�$&��� #"#!&)���0� &��7 #�#)0 7 �� 9�$&�& ω ,�
&#�%#)�&�)� T *

ρ(ω, T ) = 〈Eω〉 dN
dω

, UVN*VW

�# 〈Eω〉 Q $#)#��. #�#)0 . � ��� ( ��� -
dN

dω
Q 0�$&��� ���_

��#)0 . 6�&��� E = �ω

����� ����	
�� ���
����



9$ /��!��
� 1�����

�&�&$��� �". <�,#29�$&���!

Zk̃ =
N∗∑
n=0

(
exp

[
−�ω

kT

])n

=
1

1 − exp

[
−�ω

kT

] UVN*NW

��!�� 9���� $#)#��. #�#)0 . ��5# +�&� �+9�$"#�� .!

〈Eω〉 = kT 2 ∂

∂T
lnZk̃ =

�ω

exp

(
�ω

kT

)
− 1

UVN*XW

���� � �%�� ��8&1 $&�.9�� 4��".�  ����� �� ��$!)#&� $&1 4��"1�2
��4 9�$#" ��5# +�&� �&)����� , $% �� ���3#��. kαLα = nαπ- �# α Q  �2
�#!$- S� � �%�� ��/ %#�� ( !��%��#�& +�,�$�* �&5# ��$!)#&� $&1 , .!�8
)�,&�3���� ���� Δk =

π

L
- � �����9��( �+R/� ! �+#)�#���� %)�$&�) 

V1k =
(π
L

)3

UVN*YW

��0�"1��( �+R/�- S� 4�)�!&#)�,�/&1$. 4��"1���� �#!&�)�� k

Vk =
4

3
πk3 1

8
, UVN*ZW

�#
1

8
,R.�"./&1$. 9#)#, &#- S� 6 ,�9�� $�&1 ��/ & "1!� %#)3�( !���)��&

�+#)�#��0� %)�$&�)�* ��!�� 9���� ! "1! $&1 $&�� �- , �)�4�����.� %�2
".)�,�' 7

N = 2
V1k

Vk
=

πk3

3(π
L

)3 =
k3L3

3π2
UVN*PW

 �"�$�# 0�$&��� $&�� �

dN

V dω
=

3ω2

3c3π2
=

ω2

π2c3
UVN*[W

�&5# $%#!&)�"1�� 0�$&��� ��%)�� �8����. 	��

ρ(ω, T ) =
ω2

π2c3
�ω

exp

(
�ω

kT

)
− 1

UVN*\W

�&)����� 6�)��"� �". $%#!&)�"1��7 0�$&��� UVN*\W ��$�&1 ��,��
6�)��"� ^"��!�-  ��)�5�/ )�,%�� " #"#!&)���0� &��7 #�#)0 7*
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���� 9(

�� .��������" ��#��
�� � ���	������ ��,��3
6����

� ,�"#5��$& � � ,��9#��. $% �� #"#!&)��� � !���&����� ��%��!� ��
�%�$�/�� ��$��+"1 9�$&���! ,� ��%���0�8 $&�&�$&�!� �#)� 2� )�!�- �+�
<�,#2�(�3&#(��* ���!' 7 )�,%�� "� 9�$&���! %� #�#)0 7 ��8&1 ��0".�

f±(x) =
1

ex ± 1
, x =

Ek − μ

kT
UVX*VW

f+ � �%�� ��/ )�,%�� "� �#)� 2
� )�!�-
f− Q <�,#2�(�3&#(��

^)� ��$&�&�1� �#"�!�4 x �+�2
��� )�,%�� "� �# ��8&1 ��)�2
�5#��.  � �%�� ��8&1 !"�$�2
9���� ��%��!�*

��!�� 9����

f+ = f− ≈ 1

ex
, x� 1 ⇒ (Ek − μ) � kT UVX*NW

� ��3# ��+"�5#��. 6��!' 7 )�,%�� "� %)� �#"�!�4 x �4���&1 Ek- �
k Q '# !���&��� 4�)�!&#)�$&�!� Q #�#)0#&�9��( ) �#�1* c�+ %#)#(&� ��
!"�$�9��0� ��%��!� ��� �#�+4 ��� %�,+�&�$. !���&�����. #�#)0 7* ��!��
9���� +��#�� )�,0".��&� ��(5# �# ,�%���#� ) �� *

�!�)�$&�/��$1 !��, !"�$�9��� ��+"�5#��.� !���&��7 �#4�� !�-  ,�2
%�3#�� ����� !���&�����. <�)�2���#)6#"1��T

Sn =

∮
pn dqn = h

(
n +

1

2

)
UVX*XW

ΔSn = Sn+1 − Sn = h Q ^"�2
S� ! "1'.- S� %)�%���/ �� ����
$&��U� . $�$&#��W

;! � ���� , &#�)#&�9��7 6 ,�!� $&�� &� #��"8' . $�$&#�� ,���/&1$.
!�)����&��� &�  �%�"1$��� !�5��7 9�$&��!� $�$&#��* ��"� )�,0".��8&1

����� ����	
�� ���
����
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 !��)����&�   �%�"1$� � .!�$& �,�0�"1�#��4 !��)����&- &� 0���).&1 %)�
6�,���( %)�$& )U%)�$& )- �)&��� .!�0� / �$  �%�"1$�  !��)����&�W-  &�2
!�� 9���� %)� 6�,���( �+R/� Q �+R/� � 6�,����� %)�$&�) * �". ��%��!�
��� /7 9�$&��!� � ����� )���� ��%��!� ��� ��$&�&�1� ���4 ,� ���4 x &�
p* � 6�,���( �+R/� ��5# +�&� �+)�4�����( .!

∫
dx dp*

�#4�( ��/�� f 2��� )�� $�$&#��* ��� %"�S� ! "1'. �� 6�,����� %�)&2
)#& � f 2��� )���� ��%��!� +��# ��) ��8��&� Vf = hf

�� �� 6�,���0� �+R�� %)� ,� � !��)����& � f 2��� )���� ��%��!�

dΓf = (dq1, dq2, . . . , dqf)(dp1, dp2, . . . , dpf) UVX*YW

���� ,� �� 6�,���0� �+R/�� �%�$�/ ��!)�$!�% 9��( $&��- &�+&� �".
�$ 4 9�$&���!- S� ��5# �!"89�&� +�0�&� � !)�$!�% 9��4 $&�� �* � "12
! $&1 &�!�4 $&�� � 4�)�!&#)�,�/ %�)��#&) Q $&�% �1 ��)��5#��.T

Ωk =
dΓf
ΔVf

UVX*ZW

���#!$ k 4�)�!&#)�,�/ $&�� $�$&#��- &�+&� ��+ ) ,��9#�1

k → (q1, q2, . . . , qf , p1, p2, . . . , pf) UVX*PW

�#%#) +��#�� % �$&��".&� � !���&���( )�,%�� " �&)���� �#&�����
!��, !"�$�!� ,��9#��.

Pk = C0exp

[
−Ek
kT

]
Ωk = C0exp

[
−E(q1, q2, . . . , qf , p1, p2, . . . , pf)

kT

]
dΓf
ΔVf
UVX*[W

w(�q, �p)dΓf = C0exp

[
−E(q1, q2, . . . , qf , p1, p2, . . . , pf)

kT

]
dΓf
ΔVf

UVX*\W

�&5# 0�$&��� (��� )��$& 

w(�q, �p) =
C0

hf
exp

[
−E(�q, �p)

kT

]
UVX*]W

� ����.9� %#)#%�,��9#��. !��$&��&� �$&�&�9�� �&)���/�� !"�$�9�#
��+"�5#��. )�,%�� " �T

w(�q, �p) = C1exp

[
−E(�q, �p)

kT

]
UVX*VOW

���$&��&� C1 ��5#�� ��,��9�&� , ����� ��)������. �5# � !"�$�2
9���� ��%��!� ∫

w(�q, �p) d�qd�p = 1 UVX*VVW

�����5��� %)��'�%�� � ��� ���$& � � )�,%�� "� a ++$�



����������� 	
���� 94

2 ,�� $&1 !���&���4 9�$#" 6 0�)�8&1 �,�0�"1�#� !��)����&�

2 ,�� $&1 (��� )��$& ��/�� $%)��� , 0�$&���8 (��� )��$& 

2 � �$�&� ( $&�% �1 ��)��5#��.

�� &��5� ������ 
����
�������

��'������ ��
����
� Q &�! - S� ��5�&1 +�&� ��� ).� ��(%)�$& 3�2
�� %)�"����� U" � (!�- �����#&)W*

(����� Q %#)#��9� #�#)0 7- S� %��R.,��� "�3#  , ,� ��8 �#4�� 9��4
%�)��#&) � $�$&#��*

������� Q #�#)0 .- S� %#)#��/&1$. � 5 ��!)�$�$&#���� �� � !)�$!�2
% 9��� ) ��  �# %��R.,���  , ��!�����.� ��

�	
������) 
�����*

�� �� $#)#��1�7 #�#)0 7 %)� �� �+�&�9� ( �,�/��� 7 ��,���/&1$. 
��� 

���*
��

�	
������ 
����� Q %#)#��9� #�#)0 7- S� %��R.,���  , $!�)#"1�2

����� U�%�).�!������W )�4�� ) ,��4 �&�� �*
������� Q %#)#��9� #�#)0 7- S� %��R.,���  , �#$!�)#"1������ )�4��

) ,��4 �&�� �*
��,0".��/�� ���#"1 �#�,�/��� 89�4 9�$&���!T

E({�rn, �vn, t}) =
1

2

ΔN∑
n=1

m2
n (�vn)

2 +

ΔN∑
n=1

u (�rn) UVY*VW

< ��)�� �,�/��� . ��#$"� + �!"��
∑
m

∑
n

u (�rn, �rm)- S�

,��9�� �$!"����"� + )�,0".� ��3�7 ���#" * c�+ )�,� "�&� #�#)0 8 ��
)�+�&� ( &#%"�&� U$!�)#"1�����( &� �#$!�)#"1�����( )�4�W �#�+4 ���
)�,0".��&� $�$&#�� � ) ,� ���#�&� 9�$� Q t &� t + Δt* �� �� #�#)0 7 ,�
9�$ ΔtT

ΔE =
ΔN∑
n=1

mn (�vnΔ�vn) +
3∑
j=1

ΔN∑
n=1

∂u

∂rnj
Δrnj UVY*NW

��, +R/�� )�4 �� $!�)#"1����� U����!��� �". �$ 4 9�$&���!W &� �#$!�)#2
"1����� !��%��#�&�T

�vn = �v 0(t) + �vCn (t) UVY*XW

�rn = �r 0(t) + �rCn (t) UVY*YW

����� ����	
�� ���
����



�5 /����� . ��!����

�$! "1!� $�$&#�� ,��4���&1$. ��(5# � ) �����, - &� ��5�� ���5�&�- S�
�v 0(t) = 0* �#%#) ,� �� #�#)0 7 ��5�� %#)#%�$�&� &�!T

ΔE =

ΔN∑
n=1

mn(�v
C
n Δ�vCn ) +

3∑
j=1

ΔN∑
n=1

∂u

∂rnj
Δr 0

j +

3∑
j=1

ΔN∑
n=1

∂u

∂rnj
ΔrCnj UVY*ZW

^ $". �$#)#��#��. ��/��T

〈ΔE〉 =
ΔN∑
n=1

mn

〈(
�vCn Δ�vCn

)〉
+

3∑
j=1

ΔN∑
n=1

〈
∂u

∂rnj
Δr 0

j

〉
+

〈
3∑
j=1

ΔN∑
n=1

∂u

∂rnj
ΔrCnj

〉
UVY*PW

�". �#$!�)#"1�����7 9�$&���
〈
ΔrCnj

〉
= 0* ;!S� " � (��( )�,� ) Δl �+R2

/�� ΔV ��"�( UΔV = (Δl)3W- &� %�&#�' �" u (�rn) � �#5�4 '1�0� �+R/��
��5�� ���5�&� %�� "1��,� ����T

∂u

∂rnj
= Fj (�r0) = const

�)�4����3� �
〈Δ�rn〉 =

〈
Δ�r 0

n

〉
+

〈
Δ�rCn

〉
&#- S� 〈Δ�r 0

n〉 = 〈Δ�r 0〉 = Δ�r0- �
〈
ΔrCn j

〉
= 0- �&)���/��T

ΔE =
∑
n

mn

(
�vCn Δ�vCn

)− �F (�r0) Δ�r0 UVY*[W

^#)3�( ������! � 6�)��" UVY*[W Q &#%"�&� U�#$!�)#"1����� 9�$&���
)�4�W- � �)�0�( Q )�+�&� U$!�)#"1����� 9�$&���W* �$&�&�9��T

ΔE = ΔQ+ ΔA UVY*\W

��)��"� UVY*\W  ��)�5�/ ��
*� ������ ��
��������
�*

�' $�,�
� " 
����
�

〈E〉 =
∑
q

ωqEq UVZ*VW

�# ωq 2  ��� )� $&1 9�$&��!� ��&� #�#)0 8 Eq

〈ΔE〉 =
∑
q

ωq︸︷︷︸
U(x)

ΔEq +
∑
q

Δωq Eq UVZ*NW
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<��#�� )�,0".��&� $�$&#�� , %�)3�#�U���"�0 !���&���2�#4�� 9��7 ,�2
��9 W

Eq = +,-./
q2

a2
UVZ*XW

q = 1, 2, 3...

<��#�� $&�$!�&� .��- &�� ) �� #�#)0 7 ,� $&.&1$.

ΔEq = +,-./ q2

(
1

a2
− 1

(a− Δa)2

)
= +,-./ q2 Δa

a3
UVZ*YW

ωq =
1

Z
e
− Eq

k0T UVZ*ZW

��+�&�T
ΔA =

∑
q

ωqΔEq UVZ*PW

� "1! $&1 &#%"�&�T
Q =

∑
q

Δωq Eq UVZ*[W

dE = dQ+ dA UVZ*\W

&�& dA &� dQ 2 �#%��� ��6#)#�' �"�*
;! � ���� , �#4�� !�T

ΔA =
→
F

→
Δl �# $�"�

→
F= p

→
S

��� )�+�&�
ΔA = −pΔV UVZ*]W

��,0".�#�� �� �+�&�9�� $�$&#��- &�+&� $�$&#��- S� �# �+� �8/&1$. &#2
%"��  , ,��� 3���� & "��� &�+&� dQ = 0 &�� dE = dA
= 0�,- S� ,�$#)#�5#��( � �+/� V *
�#4�( 0�, )�,3�)8/&1$.- &�� ΔV > 0 - � �&5# ΔA < 0 ,� �!� ΔE < 0

����� ����	
�� ���
����



�9 %����!
"

&�+&� 0�, ��!���� )�+�&�  �&)�&�� #�#)0 8*
� ) ��.��. UVZ*]W ��/��

p = −ΔA

ΔV
= −

∑
q

ωq
ΔEq
ΔV

UVZ*VOW

��$&�$���/�� !���� 9��( )�,%�� " a ++$� U!�)�$&�/��$1 ) ��.��.� UVZ*ZWW
 %#)#4����� �� 0)���' T

P = − 1

Z

∑
q

e
− Eq

k0T
dEq
dV

UVZ*VVW

,� �$� ⎛
⎜⎜⎜⎜⎝

∂

∂V

∑
q

e
− Eq

k0T

︸ ︷︷ ︸
Z

⎞
⎟⎟⎟⎟⎠

1

Z
k0T = P UVZ*VNW

�$&�&�9�� ��#)5���T

P = k0T
∂

∂V
lnZ UVZ*VXW

�* ��
�����

��,0".�#�� � ��9�"� &#)������� !� � ��%��!�- !�"� )�+�&� �# ��!�2
��/&1$.* ��!�� 9����

ΔE = ΔQ UVP*VW

T2 = T1 + ΔT
|ΔT | � T2

T ′
2 → T ′

1 Q &#�%#)�&�)�
,) ��88&1$.

d�9� )�+�&� �# ��!���/&1$.- �"# � $�$&#� ,� ($�8/&1$. �+� � #�#)2
0 /8-  &�!�� 9���� ,� �8/&1$. >&�% �1 ��)��5#��.*

%����!
"
S(E) = k lnΩ(E) UVP*NW

^ $". �+� �� #�#)0 /8 E → E + ΔQ- � #�&)�% .

S(E + ΔQ) = k lnΩ(E + ΔQ) UVP*XW
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��,!"��#�� 77 � ).� �#("�)� � &�9' E

S(E + ΔQ) = S(E) +

(
∂S

∂E

)∣∣∣∣
E

ΔQ+
1

2

(
∂2S

∂E2

)∣∣∣∣
E

ΔQ2 + . . . UVP*YW

�#4�( T Q$#)#��/ ,��9#��. &#�%#)�&�)� � 5 T1 &� T2* ��� � �%�� ���

�� !���� 9��0� )�,%�� "� a ++$�
∂S

∂E
=

1

T
-  �+�#5��3�$1 %#)3�� 9"#���

� )�,!"�� #�&)�% 7 �&)���/��

ΔS = S(E + ΔQ) − S(E) =
ΔQ

T
UVP*ZW

��!�� 9���� ,��89� 4�)�!&#)�$&�!� Q  T ��5#�� �&)���&� #�&)�2
% 8

δQ = T dS UVP*PW

0
�
���1 ��������� 
�������

ΔQ = Q2 − Q1- �+� $!�)�$&��2
3�$1 UVP*PW

ΔQ = TnΔS = kTn ln
Ω2

Ω1
UVP*[W

�� �!� ��5#�� ,��(&�

Ω2

Ω1
= exp

[
ΔQ

kTn

]
UVP*\W

���$" ��! &�0�- S� %)� %"��"#�� )�,)���8&1$. ,�R.,!�- � ) �!���
$&�� ,+ "13�/&1$. ! "1! $&1 ��$&�%��4 $&�� �-  &�%��# ,��9#��. � ���2

3#��. $&�%#� � ��)��5#��.
Ω2

Ω1
≈ 2

^)�'#$ %"��"#��. / 9�$&� 6"�!&��&�����* ��� 3!� %)�,���.&1 ��
"�!�"1��0� ,+ "13#��. &#�%#)�&�)�  �&��)88&1$. &�! ,��� '#�&)�
%"��"#��.* �)�%" S� �&��)88&1$. �# / $&�"���- ���� ,R.�".8&1$.  
,��!�8&1* ;!S� )�� �$ !)�%" Rc �#�3# ,� � �$&��1 � 5 '#�&)��� %"��2
"#��. lc- &� %)�'#$ �# � �+��#&1$.* ^)� &#%"�& Q2 : Rc = lc* �&5# $" �
,����5�&�- S� !�"� � �+���/&1$. %)�'#$ %"���"#��. &� � � � �+���/&1$.
� �$1��� �+R/� Rc → V *

����� ����	
�� ���
����
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�)�4���89� ) �� $&1 )�+�&� ��"8- ��5#�� ,�%�$�&� $#)#��8 ,� ��
&#%"�&�- .! $#)#��8 ,� �� ���&) 3�1�7 #�#)0 7

dQ =
∑
n

En dwn, UVP*]W

�# wn =
1

Z
exp

[
−En
kT

]
Q )�,%�� " a ++$�

�  �3�0� +�!�- ,0 ��� 6�)��"� UVP*PW δQ = T dS* ��� - ��!"89�89�
&#%"�&�- ��&��#�� ��$&�%�� 6�)��"�

T dS =
∑
n

En dwn, UVP*VOW

^)�"�0�)�6�����3� ��)�, UVP*]W �&)���/�� ,��9#��. #�#)0 7- ��)�2
5#�# 9#)#, 6��!' 8 )�,%�� "�

En = −kT (lnwn + ln Z) UVP*VVW

^ �$&����3� � UVP*VOW �&)����# ,��9#��.

T dS = −kT
(
ln Z

∑
n

dwn +
∑
n

lnwn dwn

)
UVP*VNW

�,.�3� �� ���0� ����� ��)������.∑
n

wn = 1 ⇒
∑
n

dwn = 0 UVP*VXW

&� )�,0".���3� ��)�,

d

(∑
n

wn lnwn

)
=

∑
n

lnwn dwn +
∑
n

dwn =
∑
n

lnwn dwn UVP*VYW

�&)���/��

dS = −k d
(∑

n

wn lnwn

)
, UVP*VZW

�+� %)� �&#0)����3�

S = −k
∑
n

wn lnwn + S0 UVP*VPW
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�#%#) ��,��9��� ��)������. #�&)�% 7

S(T = 0) = 0 UVP*V[W

#�������1 %)� &#�%#)�&�) �+$�"8&��0� ��". �$ ) �� ,��4��.&1$. �
�#��)��5#���� $&�� 

Ω(T = 0) = 1 S|T=0 = k lnΩ(T = 0) = 0 UVP*V\W

��!�� 9���� w0 = 1- wn = 0 ⇒ S0 = 0 Q &)#&/ ��9�"� &#)������2
� !�*
�&5# �$&�&�9�� �&)���#�� �,��9#��. �����!
� �� ,��-������

S = −k
∑
n

wn lnwn UVP*V]W

��)�,��� ,��9#��. #�&)�% 7 9#)#, $&�&$���

S = −k
∑
n

wn ln

⎛
⎝ 1

Z
e
−
En
kT

⎞
⎠ = −k

∑
n

wn

(
−ln Z − En

kT

)
=

=
1

T

∑
n

Enwn + k lnZ
∑
n

wn =
〈En〉
T

+ k lnZ UVP*NOW

^ �$&��".89� ��)�, �". $#)#��1�7 #�#)0 7

〈En〉 = kT 2 ∂

∂T
lnZ UVP*NVW

�$&�&�9�� ��/��

S = k
∂

∂T
(k lnZ) UVP*NNW

�- ��
����� 
� ��)�������

<��#�� � .!�$& 6 ,�9��7 $�$&#�� )�,0".��&� $�$&#�� "���!- � ��� (
, .!�4 ,��4���&1$. 9�$&��!�*
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��$ +��# ' !���&� $! "1!� #!$%#)��#�& � �#�+4 ��� %)��#$&�- S�+ ��2
$" ��&� $�$&#��- &�+&� ��,��9�&� %�"�5#��. ��3�7 9�$&��!�* 
. ! "1�2
! $&1 �#��� ��� %������ ,�"#5�&� � � ,�!���U�"0�)�&��W %� .!��� ��
+��#�� 3�!�&� 9�$&��!�*

��%)�%���/�� ��$&�%��( �"0�)�&�T � "��� $�$&#�� ���% "  �!�,�2
/�� 9� / ,%)��� � � �#5 %�� "� 9�$&��!�* � ,�"#5��$& � � ��) ��&�
� �%�� � - �+�)�/�� &� %�"�����- � .! ( / 9�$&��!�  � "��� 77 ���% "*
^��&�)8/�� ����( !)�! �� &�4 % ) %�!� �# "�!�" ,�/�� 9�$&��!�*

� "1! $&1  �6�)���' 7- S� �#�+4 ��� �". ,��4��5#��. 9�&��!�- 4�2
)�!&#)�,�/&1$. ! "1! $&8 � �%�� �#( ��!b� - .! �#�+4 ��� ��&�* ����
� �%�� �1 ,���/ 1 + &  �6�)��' 7*

�#4�( $�$&#�� $!"���/&1$. , 8 !�� )�!- &�� ��� &)#+� ��&� X � �%�2
� � - S�+ ����,��9�� "�!�" ,���&� 9�$&��!�T

〈I(8)〉 = 3

�%#)3# ��&#��&�9��( �%�$ ! "1!�$&  �6�)��' 7 �� � �#���* �� (�0�
%)�%�S#��.�

IS(N) = log2N IS(8) = 3 UV[*VW

�#%#) ,� ���� �"0�)�&�* �#4�( / M "8�#(- !�5#� , .!�4 +��# �0�2

����&� �# ,��4���&1$. 9�$&��!�*
M

N
"8�#(- ��4��.9� , � )!����1 &#�) 7

(��� )��$&#(- �0���/ ��)�,� �# / 9�$&��!�-
M

N
, �)�0�7 $%)�+�- * * * - 2

M

N
% $". N − 1 $%)�+� +���&1 ,��&� �# ,��4���&1$. 9�$&��!�*

��!�� 9���� $#)#��8 ! '"1! $&1  �6�)��' 7- S� �#�+4 ��� ��� ,�
&�!�� �"0�)�&��� ��5�� ��,��9�&� .!

〈I(N)〉 =
� "1! $&1 %�&��1

M
=

1

N
(1 + 2 + 3 + . . .+ (N − 2)) + 2

N − 1

N

〈I(N)〉 =
(N − 1)(N + 2)

2N
UV[*NW

�". ��3�0� ��%��#!� 8 "���! ,� ��%���0�8 '1�0� �"0�)�&�� �&)�2
��5��T

〈I(8)〉 =
7 · 10

2 · 8 = 4, 375 UV[*XW

�&5#- .! �� %�+�9�"�- %)� ,� � �"0�)�&�� ,)�$"� 〈I〉- � �&5# ��5��
!�,�&� %)� %�0 )3#��. �%&���"1��$& �"0�)�&��*

^��#)�#��$. �� %#)3�0� �"0�)�&�� e %�"������0� � "#��.f* ^)� %�)2
� ( ! "1!�& "���! ! "1! $&1  �6�)��' 7 ��/&1$. 6�)��"�8 UV[*VW* �#%#)
)�,0".�#�� ��%���! �#%�)��7 ! "1!�$& "���!U��%)�!"�� � ,1�#�� ,��2
9#��. N = 5W* � )!�����.- S� %)����.&1 �� �+9�$"#��. 〈I〉 ��$&�%� T ��
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,)�+��� 2 !)�!� , (��� )� $&8
2

5
- �+� 3 !)�!� , (��� )� $&8

3

5
* ��!��

9����

〈I〉 = 2 · 2

5
+ 3 · 3

5
= 2, 6 UV[*YW

;!S� 5 $!�)�$&�&�$. 6�)��"�8 �#����- &� �&)����# ,��9#��. 〈I〉 =
log2 (5) = 2, 32- &�+&� � ��%��!� �#%�)��4 N 6�)��"� �#���� ��/ ���
%�4�+!�*

a)�6 ! ,�"#5��$& )#�"1��4 �#"�2
9�� �". ! "1!�$&  �6�)��' 7 ,� �#2
%�)��4 N - �# $�"1�� � �) ,�./&1$.
� � 6�)��"� �#����- &��� ��!�2
)�$&���. 77 / ' "!�� %)�%�$&����
� �#5�4 �#�#"�!�7 %�4�+!�*

�,�0�"1���� ��3� ,���9�- ,� ���3� %�,��9#��.* �#4�( (��� )� $&1
%�&)�%".��. !�"1!� � "��!� , ���#)�� n ,���/&1$. �#"�9���8 wn* ;!S�
� ������ ��%��!� !�)�$&�&�$. �%&���"1��� �"0�)�&���U�%&���"1��(
�"0�)�&� %#)#�+�9�/ %#)#0".� $%�9�&!� &�4 !�� )�!- ,��4��5#��. � .!�4
��(+ "13  ��� )�#W- &� ��5#�� ,�%�$�&� ��)�, �".  )6�)��' 7 � ��0".� 

IS = −
M∑
m=1

wmlog2wm UV[*ZW

����( ��)�, �". ! "1!�$&  �6�)��' 7 ���"�0 9��( ��)�,� �". #�&)�2
% 7 ,� <�"1'�����- ���� ���
���� �������� ��2�
��"�� �
� ��
����
�

	�	����*

;!S� )�,� S#��. 9�$&���! %� "��!�� ) ���(��� )�# wn =
1

N
- &�

�&)���/�� 6�)��"� UV[*VW* ��6�)��' . ,� �#����� ≡ ��&)�% . ,� <�"12
'�����*

�/ ����
����� � ����
���� 	�	
����

�". %��� ��	����
 �� ��5#�� !�)�$&���&�$. $&�&�$&�!�8 <�,#2
�(�3&#(��* ��%�3#�� � &�!��� ��%��!� $&�&* $��� U�". m20� $&���WT

Zm =
1

1 − e

Em − μ

kT

UV\*VW

����� ����	
�� ���
����
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�#%#) %��R.&�89� ��)�, �". $#)#��1�7 ! "1!�$& 9�$&���! 9#)#, $&$&*
$���- ,�%�3#��T

< Nm >= kT
∂lnZ

∂μ
UV\*NW

�". $#)#��1�0� !���)�&� !2$& 9�$&���!

< N2
m >= 2 [< Nm >]2 + < Nm > UV\*XW

�". ��$%#)$ 7 �� ��/�� 6�)��"�

< (ΔNm)2 >=< Nm
2 > −(< Nm >)2 UV\*YW

^ �$&��".89� $8�� 6�)��"� UV\*XW- �&)���/��

< (ΔNm)2 >=< Nm > [1+ < Nm >] UV\*ZW

� ���$��8 6"�!&��' /8 ��,���/&1$. ��)�,T

δm =

√
< (ΔNm)2 >

< Nm >
=

√
1 +

1

< Nm >
UV\*PW

^�!�5#�� ,�"#5� $&1 δm � � < Nm > 2
$)#��1�7 !2$& 9�$&���! � $&�� * ��,0".2
�#�� ��%)�� �8����. �+$�"8&�� 9�)2
��0� & "�* ;!S� %�����&�$1 �� 0)�6 !
$%#!&)�"1��7 0�$&���- &� ��+)�&� �".
)�,0".�� �#.!� �!)#�� 9�$&�&� ω0- &�
%�+�9���- S� � �!�" ' /7 9�$&�&� ��2
/�� ��$!)#&��( $%#!&) , N2�8 ! "1! 2
$&8 $%#!&)�"1��4 $!"�����4*

��/�� ,�"#5� $&1

< (ΔI)2 >∼ 1√
N

UV\*[W

�#��5!� %�� &�&� U���* ��"8��!W- S� Δω1 ��/ + "13� ��$%#)$ 8  �&#�2
$����$& � 5 Δω2*
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�� ��"8�!� &�!�5 %�!�,��� ,�"#5� $&1  �&#�2
$����$& � � 9�$� , �)�4�����.� 6"�!&��' (* ��
'1��� ��"8�!� ��5#�� $%�$&#) 0�&� &# 5- S�
( �� ��S#%)��#�#���� ��"8�!�- �"#- &�! +� ��2
��&�- )�,0�)��&�*

��+&� ,� � �$�&��$& 6"�!&��' (  �&#�$��� $&1 ��"� + ��0".� %).��7 " 2
� 7*

$�
�� ��	���
�U���#"1 2 #"#!&)�� � �#&�" WT

;! � ���� $&�&* $��� �". +�,#29�$&���! %)�(��/
��0".�T

Zm = 1 + e

μ−Em
kT UV\*\W

	��"�0 9��� 9����- S� ( � 6�)��" V\*N ��)�2
,��� < Nm >T

< Nm >=
1

1 + e

Em − μ

kT

UV\*]W

<��#�� �$# )�+�&� %� ���"�0 7 .! �". 6#)� 29�$&���!*

< (ΔNm)2 >= UV\*VOW

=< Nm > [1− < Nm >] UV\*VVW

;! +�"� %�� 9#��

< Nm
d >= f(< Nm >) UV\*VNW

&�!� ) �� $&1 ��"� � $'# �". d = 2* ��2
5#�� �,�0�"1��&� �� ∀ d 2 &�! .! ,��2
5�� ��5�� &�! ��)�,�&�* ;! ��5�� +�2
9�&� �� 0)�6 !� '#�&)�"1��( ���#�&
&)#&1�0� %�).�!� 4�)�!&#)�,�/ �$��#2
&) 8*

����� ����	
�� ���
����



�5 2����-�
 �������
 &���

�1 7
���!�� ���	���� ��#�

a�, 2 ���������- .!S� $#)#��. #�#)0 . �,�2
/��� 7 ��+�0�&� �#�3� � 5 $#)#��. #�#)0 .
��� /7 9�$&��!� U��"#!�"�W 0�,�*

ΔWint � Ē1 UV]*VW

EN = N · E1 UV]*NW

!��	�����U�#��)��5#��(W 0�,- !�"�

λB � a0 UV]*XW


# ,��9�&1- S� �� ��5#�� )�,) ,��&� 9�$&��!�  )�,0".��&� ���� 9�2
$&��!�- � %�& � �,�0�"1��&� �� �$  �3 *

^�)�4�/�� $&�&* $��� �". ��� /7 9�$&��!�T

Z1 =
∑
m

e
−
Em
k0T UV]*YW

��& m = m1, ..., mn ��,0".�#�� $�$&#�� 2 %�&#�' �"1��( .S�!  %)�!���2
&�/�� 9�$&��!� %� ) ��.� #�#)0 7* 
# ,��9�(�� ,���9� !���&���7 �#4�� 2
!�* �&)���/�� ) �� #�#)0 7T

Enx, ny, nz =
π2

�
2

2m

[
n2

x

L2
x

+
n2

y

L2
y

+
n2

z

L2
z

]
UV]*ZW

;!S� % �$&���&� UV]*ZW � UV]*YW- &� �&)���/��T

Z1 =

∞∑
nx

∞∑
ny

∞∑
nz

exp

[
− π2

�
2

2mk0T

(
n2

x

L2
x

+
n2

y

L2
y

+
n2

z

L2
z

)]
UV]*PW

Z1 = Z1xZ1yZ1z UV]*[W
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��)�$&���&��#��$1 !"�$�9� $&8 %)�
)�,0".� �!)#��7 9�$&��!�* ��� "�2
�� 6 ,�9�� �#$! �9#��� ��"�( �+R2
/�U����W 2 .! %�!�,��� �� ��"8�!�*

�0���/�� 6�)��"� UV]*PW  �� �3� �#.! �#�+4 �� %�,��9#��. &� $!�)�2
$&��3�$1 �#,�"#5� $&8 ��%).�! � U!��)����&W 2 )�,0".�#�� "�3# x2���
!��%��#�&�- &�! .!  �3 ��&���&1 %�� +��( ��0".�* ^�,��9#��. Ax =

π2
�

2

2mk0TL2
x
* ��� ��%�3#�� ��"� $&�&* $��� &� ,)�+��� &�!T

Z1 =

∞∑
nx=−∞

exp
[−Axn2

x

]
UV]*\W

Z(x)
1 =

1

Δnx

∞∑
nx=−∞

exp
[−Axn2

x

]
Δnx UV]*]W

ux =
√
Axnx, Δux =

√
AxΔnx UV]*VOW

��� ��)�, �". $&�&* $��� ��&��# ��0".�T

Z(x)1 =
1√

AxΔnx

∞∑
nx=−∞

exp
[−u2

x

]
Δux UV]*VVW
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�9 2����-�
 �������
 &���

��" )�,0".��� $��� &� ��+�&�!
1√

AxΔnx
�!)#��* ���� +��# 0#��#2

&)�9��8 %"�S#8 6 0�)� %�!�,���7 �� ��"8�!�- S� ��) ��8/  �&#0)�"�T

Z(x)
1 =

1√
Ax

∫ ∞

−∞
exp(−u2

x)dux =

√
π

Ax
UV]*VNW

^� ���"�0 7T

Z(y)
1 =

√
π

Ay

Z(z)
1 =

√
π

Az
UV]*VXW

^ �$&��".89� �&)���� ��)�,� � 6�)��"� UV]*[W- �&)���/��T

Z1 =
π3/2√
AxAyAz

=
π3/2√

π6
�

6

2mk0T
3

1

L2
xL2

yL2
z

= V

(
2mk0T

π�2

)3/2

UV]*VYW

E = k0T
2 ∂

∂T
(lnZ) UV]*VZW

^ �$&��".89� $8�� 6�)��"� UV]*VYW �". Z1 &�! .! ��$ ' !���&1 "�3#
���� 9�$&��!�- &� �$ �#"�9���- S� �#,#"#5�&1 � � &#�%#)�&�)� %�,��2
9�&� const  %)�� �3� $%)�S#��.- �&)���/��T

E1 = k0T
2 ∂

∂T

(
const +

3

2
lnT

)
=

3

2
k0T UV]*VPW

�#��5!� %�� &�&�- S� %���� #�#)0 . ) ���T

E = NE1 =
3

2
Nk0T UV]*V[W
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��#�"1��( !"�$�9��( 0�, / ��(+ "13 ,)�9��8 ��&#) /8- ,� ��%���0�8
.!�7 ��5�� ��,��9�&� #�#)0 8* ^� ,�!��� �5��". #�#)0 . �#,�"#5�&1
� � �+R/��*

p = k0T
∂lnZ

∂V
UV]*V\W

��,%�3#��

lnZ1 = lnV + const

p1 =
k0T

V

p = Np1 = N
k0T

V
UV]*V]W

��!�� 9���� �&)���/�� ) ��.��. �#��#"#/��2�"�%#()���T

pV = Nk0T UV]*NOW

�2 .���
���" �,89�� &���
��	 %�,,	��

D!�)�$&�/��$1 � ������ )�,%�� "���T

〈nk̃〉 =
1

exp
[
Ek̃−μ
k0T

]
± 1

UNO*VW

^)� ���� -S� ��!����� �#) �� $&1T

Ek̃ − μ� k0T UNO*NW

��#)5���

〈nk̃〉 =
1

exp
[
Ek̃−μ
k0T

] UNO*XW

��0�"1�� ! "1! $&1 9�$&���! +��#

N =
∑
k̃

nk̃ UNO*YW

�$#)#��#�� ! "1! $&1 9�$&���! ��� � ����

N =
∑
k̃

〈nk̃〉 UNO*ZW
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����'

〈nk̃〉 ≈ exp

[
Ek̃ − μ

k0T

]
UNO*PW

�� �!�

N = exp

[
μ

k0T

]∑
k̃

exp

[−Ek̃
k0T

]
︸ ︷︷ ︸

=Z1

UNO*[W

�# Z1 2 $&�&$���

μ = k0T ln

(
N

Z1

)
UNO*\W

Z1 ∼ V - V1 = V
N

�# V 2,�0�"1��( �+R/�-
V1 2$#)#�� ( �+R/�- S� %)�%���/ �� ���� 9�$&��!�
$!�)�$&�/��$1 6�)��"�8 �". !"�$�9��0�U �#�"1��0� 0�,�W, %�%#)#��1�2
0� %�)�0)�6�- �� �3� �#.! %�,��9#��.

μ = k0T ln
V ′
Q

V1
, UNO*]W

�#

V ′
Q =

(
π�

2

2mk0T

)3/2

UNO*VOW

�#)#��. ���5��� 4��" �#2<)�(".

〈λB〉 =
h

mV0
=

(
h2

3mk0T

)1/2

UNO*VVW

�&5#
V ′
Q = const [〈λB〉]3 UNO*VNW

V ′
Q 2 !���&���( �+R/�

�#4�( a02 4�)�!&#)��( )�,� ) U���5��� %)�+ 0�W 9�$&��!� ;!S� a0 ∼ λB
&� �#�+4 ��� �)�4�����&� 4��"1�� �"�$&���$& * ��$%)��� 5 � ��$

a0 � λB, V1 � V ′
Q UNO*VXW

μ ∼ 3k0T ln

(〈λB〉
a0

)
< 0 UNO*VYW

���(�#�� #�&)�% 8 $�$&#��T

μ = −T
(
∂S

∂N

)
V,E

UNO*VZW
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μ

T
= f(E, V,N) UNO*VPW

S(E, V,N) − S(E, V, 0)︸ ︷︷ ︸
=0

= −
N∫

0

μ

T
dN ′ UNO*V[W

S(E, V,N) = −
N∫

0

k0 ln

(
N ′

V

(
π�

2

2mk0T

) 3
2

)
dN ′ UNO*V\W

E =
3

2
Nk0T ⇒ k0T =

2

3

E

N
UNO*V]W

% �$&����� '8 ) �� $&1 � UNO*V\W ��#)5���

S(E, V,N) = −k0

N∫
0

ln

[
N ′ 5

2

V E
3
2

(
π�

2

4m

) 3
2

]
UNO*NOW

^)�� �3�  �&#0)�����. ��#)5���T

S(E, V,N) = −k0N

{
5

2
(lnN − 1) + ln

(
1

V

(
3π�

2

4mE

) 3
2

)}
UNO*NVW

�+�

S(E, V,N) = k0N

{
5

2
+ ln

(
V1

V ′
Q

e
5
2

)}
UNO*NNW

��#)5�"� 6�)��"� ��!�)�2�#&)��#

S(E, V,N) = k0N ln

(
V1

VQ

)
UNO*NXW

�# VQ =
V ′

Q

e
5
2

�$! "1!�
S = k0 ln Ω UNO*NYW

&�

Ω =

(
V1

VQ

)N

UNO*NZW

Ω2! "1! $&1 ��$&�%��4 $&�� �

V1 � VQ UNO*NPW
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^�,��9���

Ω1 = V1

VQ
2! "1! $&1 ��$&�%��4 $&�� �- S� ,�(��/ 9�$&��!� � �+R/� V1

Ω = ΩN
1 UNO*N[W

�#%"�/�� $&1 %)� $&�"��� �+R/� 

CV = T

(
∂S

∂T

)
V

UNO*N\W

^ �$&����� UNO*NXW  ,��5��3�- S�

VQ ∼
(

1

T

) 3
2

UNO*N]W

��#)5���

CV =
3

2
k0N UNO*XOW

�"�� �	�	��#� ��$$�	�

S0 − S1 − S2 �= 0 = k0 ln 2 UNO*XVW

S02#�&)�% . �$1�0� �+R/��
S1, S22#�&)�% . (�0� 9�$&��

S0 = k0N ln

(
V

NVQ

)
UNO*XNW

S1 = k0
N

2
ln

(
V/2

N/2VQ

)
=
k0N

2
ln

(
V

NVQ

)
UNO*XXW

S2 = S1 ⇒ S0 = S1 + S2 UNO*XYW

��#)5�"� %)���!$�"1��( �� %#)3��( %�0".� )#,�"1&�&

N0
a =

Va
V
N,N0

b =
Vb
V
N UNO*XZW

Na = N0
a + ΔN

Nb = N0
b − ΔN UNO*XPW
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Sa = k0

(
N0
a + ΔN

)
ln

(
Va

(N0
a + ΔN) VQ

)
UNO*X[W

Sb = k0

(
N0
b − ΔN

)
ln

(
Vb

(N0
b − ΔN) VQ

)
UNO*X\W

Na +Nb = N0
a +N0

b = 0

Va + Vb = V UNO*X]W

ΔS = S0 − Sa − Sb UNO*YOW

^ �$&����� $8�� UNO*X[W UNO*X\W  ,��5���- S�

|ΔN | � Na, Nb UNO*YVW

��#)5���

ΔS =

(
3

2
Nk0

)(
V 2

VaVb

)(
ΔN

N

)2

UNO*YNW

�&5# !�"� ΔN �= 0 &� ΔS > 0

ΔS = S0 − Sa − Sb > 0 ⇒ S0 > Sa + Sb UNO*YXW

��+&� #�&)�% . ,�#�3�"�$1*

�� 7
���!��" �����3��#� ����
���� � ��
����

��,0".�#�� ,)�,�! �#&�"� , !��'#�&)�' /8 �&�� � N0- ��"#�&� $&8 Z0

� �+R/� V * ���'#�&)�' . � "1��4 #"#!&)�� � � &�!��� ,)�,!� 2 N0 · Z0*
���9�(�� + "13 $&1 #"#!&)�� � � �&�� / $�"1�� ,�R.,�����- 6�)��2

89� 
�
� �&���- .!�( / #"#!&)����8 4��)�8- S� #!)���/ .�)� U��%)�2
!"��- g@ ��/ VV #"#!&)�� �- $#)#� .!�4 "�3# ���� / $"�+!�,�R.,����-
,�#!)������# &�!�� 9���� .�)� ��/ ,�).� hVW* ^)� '1��� � �$&��1 � 5
!#)���� � �#&�" ��/ )�,� )� %�).�!� )�,� )�- �"�$�#- !#)��*

�!"��� $&1 )�,�R.,���. ,���9 )�4� #"#!&)��� � �#&�" %��R.,���  ,
&��- S� $"�+!�"�!�" ,�����( #"#!&)�� �� $��/�� 3".4� %#)#&���/ �#"�2
!� ! "1! $&1 �+"�$&#( �%"��� !#)� �- .! .�".8&1 $�+�8 $!"����( %�&#�2
' �"1��( %)�6 "1* �". )�,0".�� ' /7 ,���9 ��!�)�$&�/�� ).� $%)�S#�1T
)�,0".��&��#�� ,���9� .! ����9�$&��!���- ��!�)�$&�/�� %��.&&. #6#2
!&����7 ��$� &� #6#!&����0� %�&#�' �"�- .!�( �!"89�&��# � $#+# .! �,�2
/��� 8 ,  �3��� #"#!&)�����- &�!  , !#)���� �&�� � 0)�&!�* � ��.��.
�)#� �0#)� �". &�!�0� ��%��!� ��+���/ ��0".��T

����� ����	
�� ���
����



�+ 2����-��. ����
<&��' %�������� � �����
'

− �
2

2m∗Δψ + Uef(�r)ψ = E · ψ. UNV*VW

���5�/�� &�!�5- S� %�&#�' �"1�� #�#)0 . %�,� �#&�"�� U)�+�&� ��2
4��� , �1�0�W / ��5# �#"�!�8- '# ��,��"./ ��!"�$&� &�!� �#5��� �����
�� ψ26��!' 8T

ψ|Γ = 0, UNV*NW

�# Γ 2 !)�( )�,0".������0� ,)�,!�*
V = LxLyLz &� ,)�+��3� �$#)#��#��. %� 3".4� #"#!&)���  ,� $&��2

3� %�9�&�! � �" !� #�#)0 7- ���5�&��#�� Uef = 0*
��!�� 9����- �&)���/��T

ψ(�r) = Asin(kxx)sin(kyy)sin(kzz). UNV*XW

��#�#��. 0)���9��7 ����� NV*N ��,��"./ ,�#$&� ,���9� �� ��%��!�
�#$! �9#���0� %)�$&�)�- ,�'�!"��3� )�,0".������( �+R/� %� !�5����
, ��%).�! �* ��&#��&�9�� &�!� ����� ��,���/&1$. 0)���9��8 �����8
<�)��2��)����  ��/ ��0".�T

ψ(x, y, z) = ψ(x+ Lx, y, z) = ψ(x, y + Ly, z) = ψ(x, y, z + Lz). UNV*YW

^�9#)0��� %�!"���89� �� , &)1�4 !��%��#�& 4��"1���0� �#!&�)� ) �2
���� ��"8- �&)���/�� ����� �� 4��"1�� �#!&�)�- ��%)�!"��Tky = kz = 0
⇒ eikxx = eikx(x+Lx)* 	��"�0 9�� ��#)5�/��T⎧⎨

⎩
kxLx = 2πmx mx ∈ �
kyLy = 2πmy my ∈ �
kzLz = 2πmz mz ∈ �

��!�� 9����- � � ��"1�� ��5"��� ,� �� Δki = 2π
Li

*
���9�(�� ��$%#)$ (�� ,�"#5� $&1 , �)�4�����.� #6#!&����7 ��$� ��/

��0".�T

E(�k) =
�

2k2

2m∗ UNV*ZW

�&5#- ,��89� )�,�R.,!� �". 4��"1���0� �#!&�)�- ��#)5�/�� #�#)0#2
&�9��( $%#!&) #"#!&)�� � � �#&�" * ��,��"#� ,��9#��. #�#)0 7 ��.�".2
8&1$. ��$!)#&���� 9#)#, ��$!)#&� $&1 )�,�R.,! � 4��"1���0� �#!&�)�*

a)���'.- .!� � #�#)0#&�9���� $%#!&) � ��!)#�"8/ ,�%���#� ) �� 
� � �#,�%���#��4 ��,���/&1$. ) ��#� �#)�  %�,��9�/&1$. Ef * ^)� '1�2
�� $6#)� , '#�&)�� � %�9�&!� !��)����& $�$&#�� 4��"1���4 �#!&�) �
 )�� �$�� &�!�7 ���5��� kf - .! ( � �%�� ��/ Ef - ��,���/&1$. $6#)�8
�#)� *



����������� 	
���� �4

�� 7
���!��"  �#�3��#� :������ ��������;3
�����

^)�!"����  �#�"1��0� <�,#20�,� / 0�, 6�&�� �*
� $�$&#� - S� ,�+)�5#�� �� ��"8�!� +��#2

�� %)�����&� �$#)#��#��. %� ��$��+"8 � !�2
5#� ���#�& 9�$� $�0��"� , �$ 4 �#&#!&�) � U%�2
,��9#�� detW* ��!�( % �4 � �# / $�&� &#�)#&�2
9���* ��%)�!"��- &�( $���( #6#!& ��/ $�$&#2
�� )#/$&)�' 7- S� $!"���/&1$.  , ��,1!�$��0�2
��� 6 "1&)� U�� 9�$&�& ω0W- ,+�)�"1��7 " �,�
&� ����0� �#&#!&�)�- S� ,��4���&1$. � 6�!�$ 
" �,�*

�#4�( �#&#!&�)� )#/$&)�8&1 �#"�9��� #"#!&)�9��0� %�".* ��� 

E(t) =
∑
�rn

An (�rn, t) cos (ω0t+ ϕn) UNN*VW

E(t) = A(t) cos (ω0t+ ϕ(t)) UNN*NW

� 6�)��" UNN*NW �#"�9��� A(t)  ϕ(t) ��8&1 ��%��!���( 4�)�!&#)* ;!S�
�$#)#���&� %� ��$��+"8- � �# %� 9�$�- &�

〈E(t)〉 = 0, UNN*XW

,� !� ��%"���/- S� .!S� 〈A(t)〉 �= 0- &�

〈ϕ(t)〉 = 0 UNN*YW

〈cos(ϕ(t))〉 = 0 UNN*ZW

�)�4����3� '# ��5#�� ,�%�$�&� U$����"��ˆ%�,��9#�� �#"�9��- S� 6"�2
!&�88&1WT

Ê(t) = â(t) cosω0t− b̂(t) sinω0t, UNN*PW

�# ��#�#�� %�,��9#��. 
���
���
��' 
��������

a(t) = A(t) cosϕ(t) b(t) = A(t) sinϕ(t) UNN*[W

�, &�!�4 %�,��9#�1 ��%"���/- S�

〈a(t)〉 = 〈b(t)〉 = 0 UNN*\W

��,0".�#�� !�)#".&�) �)�0�0� %�).�!�

B(τ) = 〈E(t)E(t+ τ)〉 = 〈EEτ 〉 UNN*]W

����� ����	
�� ���
����



#5 2����-��. ,���<&��' *�!���� ��!���
�>����"

�$! "1!� ��%��!���( %)�'#$ / $&�' ���)���- &� ,��9#��. !�)#".&�)�
UNN*]W ,�"#5�&1 "�3# � � ) ,��' � 9�$ * ��,%�3#�� '#( !�)#".&�)T

B(τ) =
1

2
[〈aaτ 〉 + 〈bbτ 〉] cosω0t+

1

2
[〈baτ 〉 − 〈abτ 〉] sinω0t+

1

2
[〈aaτ 〉 − 〈bbτ 〉] cos(2ω0t− ω0τ) +

1

2
[〈baτ 〉 + 〈abτ 〉] sin(2ω0t+ ω0τ) UNN*VOW

�$! "1!� B ,�"#5�&1 "�3# � � τ - &� ��� �$&��� �����!� U& - S� � $&.&1
tW %����� ��) ��8��&� ��"8 ����9�$��* 
# +��# ,� ����T

〈aaτ 〉 = 〈bbτ 〉 UNN*VVW

〈baτ 〉 = −〈abτ 〉 UNN*VNW

^�!"��3� � UNN*VNW τ = 0- �&)���/��T

〈a(t)b(t)〉 = 0 UNN*VXW

	  , UNN*VVW %)� τ = 0 ��/��〈
a2(t)

〉
=

〈
b2(t)

〉
= σ2 UNN*VYW

a(t)  b(t) Q �#,�"#5� * ;!S� �)�4���&�- S� 〈a(t)〉〈b(t)〉 = 0- �&)���/��

〈a(t)b(t)〉 = 〈A(t) cosϕ(t)A(t) sinϕ(t)〉 =〈
A2(t)

sin 2ϕ(t)

2

〉
=

〈
A2(t)

〉〈sin 2ϕ(t)

2

〉
= 0

�$! "1!� a  b Q �#,�"#5� �#"�9���- �". (��� )��$& $%)��#�"���
6�)��"�T

w(a, b) = w(a)w(b) UNN*VZW

^)�'#$- S� )�,0".��/&1$.- / )#,�"1&�& $��� +�0�&1�4  , )�0%�� "�� a��$�T

w(a) = Ca exp
[
− a2

2a2p

]
w(b) = Cb exp

[
− b2

2b2p

] UNN*VPW

�, UNN*VYW- �)�4����3� UNN*VPW- ��5#�� �&)���&�

〈
a2
〉

=

+∞∫
−∞

a2w(a)da = a2
p = σ2 UNN*V[W

〈
b2
〉

=

+∞∫
−∞

b2w(b)db = b2p = σ2 UNN*V\W



����������� 	
���� #3

�&5#- a2
p = b2p = σ2* � ����� ��)������. ,��4�����- S� Ca = Cb = 1√

2πσ2
*

� )#,�"1&�& ��/�� ��)��"1� )�,%�� "�T

w(a) = 1√
2πσ2

exp
[
− a2

2σ2

]
w(b) = 1√

2πσ2
exp

[
− b2

2σ2

] UNN*V]W

^ �$&����3� UNN*V]W �� UNN*VZW- �$&�&�9�� ��/�� $���)��( )�,%�� "T

w(a, b) =
1

2πσ2
exp

[
−a

2 + b2

2σ2

]
UNN*NOW

	"# ��$ ' !���&1 (�� �)� $&1 &�0�- S� �#&#!&�) %�!�5# %#�� ,��9#�2
�. %�)��#&) � A &� ϕ U6�)��"� UNN*NWW- &���- !�)�$&�89�$1 )�,%�� "��
w(a, b)- ,��(�#�� )�,%�� " w(A,ϕ)*

a2 + b2 = A2(t)
(
cos2 ϕ(t) + sin2 ϕ(t)

)
= A2(t)

w(a, b) =
1

2πσ2
exp

[
− A2

2σ2

]
^)�)���1� %)�%�$&�&�- S� w(A,ϕ) ∼ w(a, b)* ��#�#�� !�#6 ' /�& %)�2
%�)' (��$& KT

w(A,ϕ) = K · w(a, b) UNN*NVW

��3�8 ! �'#��8 �#&�8 / ,��4��5#��. �!)#��4 ,�"#5��$&#( w(A)  w(ϕ)*
	"# $%�9�&!� ,��(�#�� !�#6 ' /�& ,�R.,!� K* �". '1�0� ,0���/��- S�
��� ,� �� ��)�5�8&1$. 9#)#, $&�) T a(A,ϕ)- b(A,ϕ)* ��%�3#�� �����
��)������. &� %)��#�#�� ,�� �� % �  �&#0)�"��T

+∞∫∫
−∞

w(a, b)dadb = 1 UNN*NNW

+∞∫∫
−∞

w(A,ϕ)dAdϕ = 1 UNN*NXW

+∞∫∫
−∞

w(a, b)dadb =

∫∫
w (a(A,ϕ), b(A,ϕ))

∣∣∣∣∂(a, b)∂A∂ϕ

∣∣∣∣ dAdϕ UNN*NYW

^#)#&��)��� �!)#�� �
����� ��
�'��� T

J =

∣∣∣∣∂(a, b)∂A∂ϕ

∣∣∣∣ =

∥∥∥∥ ∂a
∂A

∂a
∂ϕ

∂b
∂A

∂b
∂ϕ

∥∥∥∥ =

∥∥∥∥ cosϕ(t) −A(t) sinϕ(t)
sinϕ(t) A(t) cosϕ(t)

∥∥∥∥ =

A(t) cos2 ϕ(t) + A(t) sin2 ϕ(t) = A(t) UNN*NZW

����� ����	
�� ���
����



#9 2����-��. ,���<&��' *�!���� ��!���
�>����"

�&5#- ∫∫
w(a, b)dadb =

∫∫
w(A,ϕ)AdAdϕ,

,� �!� )�+��� ��$����!- S� K = A �+� w(A,ϕ) = A · w(a, b)* �$&�&�9��T

w(A,ϕ) =
A

2πσ2
exp

[
− A2

2σ2

]
UNN*NPW

�$! "1!� A &� ϕ Q �#,�"#5� - &�

w(A,ϕ) = w(A)w(ϕ), UNN*N[W

S� ��)�,� ��/ &�!# )�,S#%"#��.T

w(ϕ) =
1

2π

2π∫
0

w(ϕ)dϕ = 1 UNN*N\W

w(A) =
A

σ2
exp

[
− A2

2σ2

]
UNN*N]W

�&5#- ϕ )�,%�� "#�� ) ���� )��- � A ��/ 
������� (���� UNN*N]W* � � ��/
��$&�%��( ��0".�T

< "13� ,��9�S�� ��� )�� / ��%" &���- � �# 6�,�* ��,� !�5��7 , ��%)�2
� �8����4 4��"1 +��# ) ,��&�$.* ��&��#&#!&�)- ��%�!"��- � / .! �$#)#2
��8��9 %� 6�, * ���� ��#�#�� �� )�,0".�  �&#�$��� $&1T

I = C1

〈
E2

〉
A,ϕ

= C1〈A2(t)〉〈cos2(ω0t+ ϕ(t))〉 =
1

2
C1〈A2(t)〉



����������� 	
���� #�

��,0".�#�� ������� �����	����	��T

I =
1

2
C1A

2(t) UNN*XOW

�#%#) ,��(�#�� (��� )� $&1 %�.�� �#.!�7  �&#�$����$& w(I)* ��%�3#��
����� ��)������.T

∞∫
0

w(I)dI =

∞∫
0

w(I)d

(
1

2
C1A

2(t)

)
= C1

∞∫
0

w(I)AdA = 1 =

∞∫
0

w(A)dA

�� �!� �����- S� C1Aw(I) = w(A)* ��� �$&�&�9��

w(I) = w(A)
1

C1A
= C2 exp

[
− A2

2σ2

]
UNN*XVW

^�!�5#��- S� σ2 = 〈I〉* ^#)#�,��9���  �&#�$��� $&1 .!

I = 〈Î〉ϕ =
C1

2
A2 UNN*XNW

��!�&��#�� ,�"#5� $&1 � ��0".� T

w(I) = f(I) exp

[
− I

C1σ2

]
UNN*XXW

��%�3#�� S# )�, ����� ��)������.- �)�4����3� Ui*]WT

∞∫
0

w(A)dA = 1
∞∫
0

A
σ2 exp

[
− A2

2σ2

]
dA = 1

∞∫
0

w(I)dI = 1
∞∫
0

f
(
A

2σ2

)
exp

[
− A2

2σ2

]
C1

2
2AdA = 1

UNN*XYW

^�) ��889� ��)�,� � UNN*XYW- )�+��� ��$����!- S� f = const U�# ,�"#2
5�&1 � �  �&#�$����$& W* ���  , ����� ��)������. ,��,�����

f =
1

C1σ2
UNN*XZW

^ �$&����� UNN*XZW � Ui*]W &� ,��(�#�� $#)#��8  �&#�$��� $&1T

w(I) =
1

C1σ2
exp

[
− I

C1σ2

]
UNN*XPW

〈I〉 =

∞∫
0

Iw(I)dI = C1σ
2 UNN*X[W

����� ����	
�� ���
����
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^ �$&����3� UNN*X[W � UNN*XPW- �&)���/�� �$&�&�9�� )�,%�� "  �&#�$��2
��$& &#%"���0� ��%)�� �8����.T

w(I) =
1

〈I〉 exp

[
− I

〈I〉
]

UNN*X\W

��,��9��� ��$%#)$ 8 )�,%�� "� UNN*X\W*〈
(ΔI)2〉 =

〈
(I − 〈I〉)2〉 =

〈
I2
〉− (〈I〉)2 UNN*X]W

〈
I2
〉

=

∞∫
0

I2w(I)dI = 2 (〈I〉)2 UNN*YOW

��� �����	�� ��	��
	�� &#%"���0� ��%)���8����. +��#

δI =

√〈
(ΔI)2〉
〈I〉 = 1 UNN*YVW


#( )#,�"1&�& $%)��#�"���( �". +��12.!�0� <�,#20�,�*

�� :����
�������� ��
�������

�0���/�� �$���� 6�)��"� &#)������� !�T

dA = pdV, dQ = TdS UNX*VW

• 1���� �����
7�" ����&
"B����������
���. !�����
��C

dE = TdS − pdV UNX*NW

;! +�9��� '# / %����( ��6#)#�' �"- &�+&� (�0� �� ��5#�� %)#�$&���&�
&�!T

E = E(S, V ) ⇒ dE =

(
∂E

∂S

)
V

dS +

(
∂E

∂V

)
S

dV UNX*XW

;!S� ,) ��.&� � 5 $�+�8 6�)��"� UNX*NW &� UNX*XW- &� �#��5!� �%#���2
&�$1 � &���- S� ��)�,� �". &�$!�  &#�%#)�&�)� ��&���&1 ��0".�T

T =

(
∂E

∂S

)
V

, p =

(
∂E

∂V

)
S

UNX*YW
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• ;
�-�� ����&
"

F = E − TS UNX*ZW

� �%�� ���( ��6#)#�' �"- , �)�4�����.� UNX*NWT

dF = dE−TdS−SdT = TdS−pdV −TdS−SdT = −pdV −SdT = f(T, V )
UNX*PW

^� ���"�0 7  , 6�)��"�8 UNX*XW- ��/��T

F = F (T, V ) ⇒ dF =

(
∂F

∂V

)
T

dV +

(
∂F

∂T

)
V

dT UNX*[W

�, %�) ��.��. UNX*[W  UNX*PW

S = −
(
∂F

∂T

)
V

, p = −
(
∂F

∂V

)
T

UNX*\W

• 1�����
�� 0
����

Φ = F + pV = G UNX*]W

� �)�4�����.� UNX*[W

dΦ = −SdT − pdV + pdV + V dp = V dp− SdT = f(T, p) UNX*VOW

^� ���"�0 7  , 6�)��"�8 UNX*XW- ��/��T

dG =

(
∂G

∂T

)
p

dT +

(
∂G

∂p

)
T

dp UNX*VVW

�, %�) ��.��. UNX*VOW  UNX*VVW

V =

(
∂G

∂p

)
T

, S = −
(
∂G

∂T

)
p

UNX*VNW

• %����-!
"

H = E + pV UNX*VXW

� �)�4�����.� UNX*NW

dH = TdS − pdV + pdV + V dp = TdS + V dp = f(S, p) UNX*VYW

����� ����	
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^� ���"�0 7  , 6�)��"�8 UNX*XW- ��/��T

dH =

(
∂H

∂S

)
p

dS +

(
∂H

∂p

)
S

dp UNX*VZW

�, %�) ��.��. UNX*VYW  UNX*VZW

V =

(
∂H

∂S

)
p

, T =

(
∂H

∂p

)
S

UNX*VPW

• �$ %�&#�'�"� 2 #!� ��"#�&� * ��%)�!"�� 4 � !� !�)�$&�8&1$. &#)2
������� 9��� %�&#�' �"�� a ++$� U� .!�$&  �&#0)�"� )�4�W 2 4�)�2
!&#)�$&�!� )#�!' 7*

• ;!S� � ��$ /  ,�+�)��( %)�'#$- &� #�&�"1% . 4�)�!&#)�,���&��#
!2$&1 #�#)0 7- S� ��� "./&1$.*

• ^�&#�' �"� ��,��9�8&1$. , &�9� $&8 �� !��$&��&� ��)������.*

j- k 2 �#4�� 9� ,� �� j A
A- I 2 &#)������� 9� ,� �� k I

���������*���� 3���
�

df(x, y) = Axdx+ Aydy UNX*V[W

Ax =
∂f(x, y)

∂x
, Ay =

∂f(x, y)

∂y
UNX*V\W

∂Ax
∂y

=
∂Ay
∂x

UNX*V]W

��+&�- %�&#�' �" / %�����- !�"� ��!���8&1$. ��S#���#�#� �����* ��2
)�$&�89�$1 '��� �������- ��5#�� �&)���&� &�! $% �� ���3#��. %�

%)��#�#��� ��S# %�&#�' �"��T

∂T

∂V
= − ∂p

∂S

∂S

∂V
=
∂p

∂T

∂S

∂p
= −∂V

∂T

∂T

∂P
=
∂V

∂S

� "1�� #�#)0 . � � 0)�/ ��5"��� )�"1 � $&�&�$&�9� ( 6 ,�' *

F = E − TS
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S = −k0

∑
n

wnlnwn, wn =
1

Z
exp(− En

k0T
) UNX*NOW

^ �$&��".89� ���# �  �3#- ��/�� S = −k0
1

Z

∑
n

e
−
En
k0T

[
−lnZ +

En
k0T

]
�� �$� �� ��5#�� �$&�&�9�� �&)���&� 6�)��"� �". #�&)�% 7T

S =
E

T
+ k0lnZ UNX*NVW

^ �$&��".89� � 6�)��"� �". � "1��7 #�#)0 7 UNX*NVW- �&)���/�� �$&�&�2
9��T

F = −k0T lnZ UNX*NNW

� ���$&���! 2 !�"� , 6�)��"� UNX*NNW ��)�,�&� $&�&* $���- &� ,�0�"1��(
��0".� �". wn +��# &�!�(T

wn = exp

(
F − En
k0T

)
UNX*NXW

�� :����
�������� )���
�����

�� ��"8�!� %�!�,��� ,�2
�!�#��- �#6"�!&�89� $�$&#2
�� A∗- �". .!�7 4�)�!&#)� 
&�! ,�"#5��$& T

E∗ = E + É = const1

V ∗ = V + V́ = const2

N∗ = N + Ń = const3UNY*VW

��& %�2

)��#&)� É, V́ , Ń 2 �%�$�8&1 &#)��$&�&- � %�)��#&)� E, V, N 2 �%�$�8&1
6"�!&�89� $�$&#��U��"�( �+R/�W* ���5�&��#�� 6"�!&��' 7 ��"��� ��2
$& "1!�- S� %)� ,� � �+R/�� &�$! � �./&1$. �� �#�#"�!� �#"�9���  ,��2
9#��. &�$!� ��5#�� �$#)#��8��&�* �" � � �� &�&�- S� 6"�!&��' 7 %�
��"��� �+R��UE, V, NW + "13 � 5 %� �#"�!���U� � ���$��4 �����'.4 2
�+$�"8&�� �#"�9��� 5 �#� �./&1$.W* ��$#)��&���� $�$&#�� �%�$�/&1$.
� !)�!���� 9��� )�,%�� "�� a ++$�* �&5#-

W (E∗, x) = C∗Ω∗(E∗, x) UNY*NW

����� ����	
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�# Ω∗(E∗, x) 2 $&�% �1 ��)��5#��.- � x 2 %�)��#&)- S� 4�)�!&#)�,�/
$�$&#��* �0���/�� 6�)��"1�# �,��9#��. #�&)�% 7T

S∗ = klnΩ∗ UNY*XW

��)�,��� ,� �$� $&�% �1 ��)��5#��.  % �$&����� � 6�)��"� UNY*NW*
�&)���/��T

W (x) = C∗e

S∗(x)
k UNY*YW

���� 6�)��"� 4�)�!&#)�,�/  ��� )� $&1 %�.�� %�)��#&)� x � $�$&#� *
��)�$&�89�$1 �"�$&�� $&8 ���&����$& #�&)�% ( &#)��$&�&� &� 6"�!&�2
89�7 % �$�$&#��- ,��(�#�� #�&)�% 8 $�$&#��T

S∗ = S + Ś UNY*ZW

��,0".�#�� %�)��#&) x .! �#.!# $#)#��/ ,��9#��. &� ���&���� 6"�!&�2
�' 8U��5# �� )�,0".��/�� ��.�� $&1 6"�!&�89�7 % �$�$&#��WT

x = x̄+ Δx UNY*PW

^ �$&��".89� 6�)��"� UNY*ZW � ��)�, �". � !)�!���� 9��0� )�,%�� "�
a ++$�- ��&��#��T

W (x) = C∗e

S(x) + Ś(x)

k UNY*[W

^� ���"�0 7  , UNY*PW  &�!�� 5# %�.$�#��.� ��5#�� %)#�$&���&� ��)�,�
�". #�&)�% ( � ��0".� T

S = S + ΔS

Ś = Ś + ΔŚ UNY*\W

^ �$&��".89� ��S# ,�%�$�� 6�)��"� �� UNY*[W- %#)#%�3#�� W (x) =
W0 + ΔW - �#

W0 = C∗e

S(x) + Ś(x)

k , ΔW = e

ΔS + ΔŚ

k UNY*]W

W0 2  ��� )� $&1 )#�" ,�' 7 $#)#��1�0� ,��9#��.* ΔW 2 �#"�9���- S� %�2
�R.,��� ,  ��� )� $&8 6"�!&��' 7* ^)�(�#�� x = E, V &� ,0���/�� 6�)2
��"� UNY*VW* ��� %� ���"�0 7 , 6�)��"��� UNY*\WU��"#! 9�$&��!� $"�+!�
�%"���8&1 ���� �� ����W- ��/��T

E = E + ΔE

É = É + ΔÉ UNY*VOW
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�$! "1!� E, V 2 ,� �� - &� S = S(E, V ) = S(E, V, N = const)* ;! �5#
+�"� ��S# $!�,��� 2 6"�!&��' 7 ��" - � &��� %�&) +�� +�"� + )�,!"���&�
� ).� %� E &� V - �"# �� ,)�+��� �#S� %�2 �3���  )�,!"��#�� E =
E(S, V )T

E = E(S + ΔS, V + ΔV ) = E0 +

(
∂E

∂S

)
S

ΔS +

(
∂E

∂V

)
V

ΔV +

+
1

2

(
∂2E

∂S2

)
S

ΔS2 +
1

2

(
∂2E

∂V 2

)
V

ΔV 2 +

(
∂2E

∂S∂V

)
SV

ΔSΔV + ... UNY*VVW

��"� �� %)��#�#�� �$#)#��#��. &� ,�#4&�/�� �$ �� 9"#����- %�).��!
.!�4 ��S�( � 5 �)�0�( U� $�"� &�0�- S�- .! �5# +�"� $!�,��� 2 6"�!&�2
�' 7 ��" W- �)�4�/�� &�!�5 ) �� $&1 ��"8 $#)#�� 4 %)�)�$& � �+R/�� &�
#�&)�% 7- &� ��#)5���T

E = E0 +
1

2

(
∂2E

∂S2

)
S

ΔS2 +
1

2

(
∂2E

∂V 2

)
V

ΔV 2 UNY*VNW

�0���/�� ��)�,� �". &�$!� &� &#�%#)�&�)�T

T0 = T (S, V ) =

(
∂E

∂S

)
S

, p0 = p(S, V ) =

(
∂E

∂V

)
V

UNY*VXW

;! ��5#�� %�� &�&� E0 = E(S, V ) �= E* ^ �$&��".89� 6�)��"�
UNY*VXW � UNY*VVW  &#%#) )�,0".�#�� ΔE = E − E- �� �3� %�,��9#��.
δE = E0 − ET

ΔE = δE + T0ΔS − p0ΔV +
1

2

[(
∂2E

∂S2

)
S

ΔS +

(
∂2E

∂S∂V

)
SV

ΔV

]
ΔS+

+
1

2

[(
∂2E

∂V 2

)
V

ΔV +

(
∂2E

∂S∂V

)
SV

ΔS

]
ΔV UNY*VYW

�!�)�$&��3�$1 6�)��"��� UNY*VXW %#)#%�3#�� ��)�,�T

1

2

[(
∂2E

∂S2

)
S

ΔS +

(
∂2E

∂S∂V

)
SV

ΔV

]
ΔS =

(
∂T

∂S

)
S

ΔS+

+

(
∂T

∂V

)
V

ΔV == ΔT (S, V ) UNY*VZW

	��"�0 9�� �". ��)�,�T

1

2

[(
∂2E

∂S2

)
S

ΔS +

(
∂2E

∂S∂V

)
SV

ΔV

]
ΔS =

(
∂p

∂V

)
V

ΔV −

−
(
∂p

∂S

)
S

ΔS == −Δp(S, V ) UNY*VPW

����� ����	
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ΔE = δE + T0ΔS − p0ΔV +
1

2
(ΔTΔS − ΔpΔV ) UNY*V[W

	��"�0 9�� �". &#)��$&�&�T

ΔÉ = δÉ + T0ΔŚ − p0ΔV́ +
1

2

(
ΔT́ΔŚ − ΔṕΔV́

)
UNY*V\W

��%�3#�� ,�!���� )�� �"�$&�� $&1 �,�/��� 7 % �$�$&#�� , &#)��$&�&��

ΔÉ = −ΔE, ΔV́ = −ΔV UNY*V]W

��)�,��� 9�$&!��� ΔS, ΔŚ , ) ���$&#( UNY*V[W- UNY*V\WT

ΔS =
1

T0

[
ΔE − δE + p0ΔV − 1

2
(ΔTΔS − ΔpΔV )

]
UNY*NOW

^� ���"�0 7

ΔŚ =
1

T0

[
ΔÉ − δÉ + p0ΔV́ − 1

2
(ΔT́ΔŚ − ΔṕΔV́ )

]
UNY*NVW

�#%#) ������ UNY*NOW- UNY*NVW- �&)���/��T

ΔS + ΔŚ = − 1

T0

[
(δE + δÉ) +

1

2
(ΔTΔS − ΔpΔV ) +

+
1

2
(ΔT́ΔŚ − ΔṕΔV́ )

]
UNY*NNW

�!�)�$&�/��$1 ,�!���� <�(".2��) �&&�  �". 6"�!&�89�7 $�$&#��-  �".
&#)��$&�&�T

Δp

p0
=

ΔV

V

Δṕ

ṕ0

=
ΔV́

V́
UNY*NXW

^�� "��� %�9"#��� ���� �� �)�0�( ��)�,� U6"�!&�89� $�$&#�� &� &#)2

��$&�&W- % $". $%)�S#�1- &� �,.�3� �� ���0� &#- S�
ΔV

V
� ΔV́

V́
- %�+�9�2

��- S�

Δṕ =

ΔV

V
ΔV́

V́

Δp UNY*NYW
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� Δṕ� Δp* ��!�� 9���� �� ��5#�� ,�#4&���&� Δṕ � 6�)��"�4 UNY*NOW-
UNY*NVWT

ΔS =
1

T0

[
ΔE − δE + p0ΔV − 1

2
(ΔTΔS − ΔpΔV )

]

ΔŚ =
1

T0

[
ΔÉ − δÉ + p0ΔV́ − 1

2
ΔT́ΔŚ

]
UNY*NZW

� $�"� ,�!���� )��7 �"�$&���$& �,�/��� 7 % �$�$&#�� , &#)��$&�&�� UNY*V]W
&� ��"�,�� 6"�!&��' ( - ��5#�� � %#)3��� ��+"�5#�� ���5�&� ΔS ≈
ΔŚ*

�)�+��� �' �!� �#"�9��� 6"�!&��' ( %� � ���3#��8 �� 6"�!&�89�7
% �$�$&#�� &� &#)��$&�&�T

ΔT

T0

∼ ΔE

E0

ΔT́

T0

∼ ΔÉ

E0

UNY*NPW

^)�)�+��3� &�! 5 �%#)�' 7- S� ( � 6�)��"�4 UNY*NXW- %�+�9���- S� �
$�"� ,�!��� ��)". %)� ,+ "13#�� �+R/�� )�$&# &#�%#)�&�)�  ���%�!�*
� )!�����. ���"�0 9� - S� ( � ��%��!� UNY*NXW ���� É � E

ΔT́

ΔT
=

ΔÉ

ΔE

E

É
UNY*N[W

�)�4���89� �$# ��S#$!�,��# �� ��5#�� �$&�&�9��,�%�$�&� 6�)��"�T

ΔWn = C∗exp
[
−ΔTΔS + ΔpΔV

2kT

]
UNY*N\W

�&)�0� !�5�9�- �#��5�� ���5�&�
E, V, N .! �#,�"#5� ,� �� - .!S�
N = const- &� 6"�!&�/ �+R/�- .!S�
V = const- &� 6"�!&�/ !2$&1 9�$&���!*
�$ ��S#%�!�,�� ��!"��!� �#"�$1
%)� N = const* ;!S� + ,�6 !$���&�
V = const- &� �&)���"� +

ΔWn = C∗exp
[
−ΔTΔS + ΔμΔN

2kT

]
UNY*N]W
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�)�+��� �#.! %)�%�S#��. S��� 6 ,�9��7 $�$&#��- .!� )�,0".��/2
&1$.T

V* � "1! $&1 % �$�$&#� ��$&�&�1� �#"�!�- N∗ � 1

N* ^ �$�$&#�� / �#,�"#5����*

��� / ,�$&�$����� )�,%�� " a��$�T

Δw(x) ∼ exp

[
−(Δx)2

2a2
x

]
, UNZ*VW

�# Δx = x−x̄* d�)�!&#)�$&�!� $�$&#�� ��5�� %�� "�&� �� �� �#,�"#5� 
0)�%� �#"�9��T

• P - V Q �#4�� 9� 

• T - S Q &#)������� 9� 

�#4�( x &� y Q �#,�"#5� �#"�9���- &�+&� ����  , 0)�%� �#4�� 9��4- �
�)�0� Q  , &#)������� 9��4* ��� ��5#�� ,�%�$�&�T

Δw(x, y) = Δw(x)Δw(y) ∼ exp

[
−(Δx)2

2a2
x

− (Δy)2

2a2
y

]
, UNZ*NW

�# a2
x &� a2

y Q ��$%#)$ 7 �#"�9�� x &� y* ���(�#�� ' %�!�,��!� ��$%#)$ 7-
$!�)�$&��3�$1 6�)��"��� UNZ*VW &� UNZ*NW* �+#)#�� T  V � .!�$& �#,�2
"#5��4 ,� ���4* ��� - ���5�89� ! "1! $&1 9�$&���! N $&�"�8- ��5#��
,�%�$�&� �	����� 2�
���� ��
�����������' 2��
���"��T

ΔwN ∼= C0 exp

[
ΔPΔV − ΔTΔS

2k0T

]
UNZ*XW

��& ΔwN = ΔwN (ΔV,ΔT ) Q 6��!' . � � ���4 �#,�"#5��4 ,� ���4*
��  �3 �#"�9��� Q &�$! &� #�&�)% . Q / 6��!' .�� � � �+)���4 ��2
�� �#,�"#5��4 �#"�9�� Q �+R/�� &� &#�%#&�&�)�* ��+&� P = P (V, T ) &�
S = S(V, T )* �)�4����3� '#- ��5#�� ,�%�$�&� &�!T

ΔP =
(
∂P
∂T

)
V

ΔT +
(
∂P
∂V

)
T

ΔV

ΔS =
(
∂S
∂T

)
V

ΔT +
(
∂S
∂V

)
T

ΔV

}
UNZ*YW
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�#%#) % �$&����� e)�,!"���f UNZ*YW � �$����� 6�)��"� UNZ*XWT

ΔwN = C0 exp

[
1

2k0T

((
∂P

∂T

)
V

ΔTΔV

(
∂P

∂V

)
T

(ΔV )2 −(
∂S

∂T

)
V

(ΔT )2 −
(
∂S

∂V

)
T

ΔTΔV

)]
UNZ*ZW

^ �$&��".89� $% �� ���3#��. ��!$�#""�(
∂P

∂T

)
V

=

(
∂S

∂V

)
T

UNZ*PW

� 6�)��"� UNZ*ZW- �&)���/��T

ΔwN = C0 exp

[
1

2k0T

((
∂P

∂V

)
T

(ΔV )2 −
(
∂S

∂T

)
V

(ΔT )2

)]
UNZ*[W

^�) ��889� ��0".� 6�)��"� UNZ*[W  , UNZ*NW- ��5#�� ,)�+�&� ��$����!-
S�T

a2
T = − k0T(

∂P
∂V

)
T

a2
V =

k0T(
∂S
∂T

)
V

UNZ*\W

�0���/��- S� a2
T  a2

V Q %�!�,��!� ��$%#)$ 7 )�,%�� "� a��$�- � �&5#- ,�
�,��9#��.� ��$%#)$ 7T

〈
(ΔV )2〉 ≡ a2

V = −k0T

(
∂V

∂P

)
T

UNZ*]W

〈
(ΔT )2〉 ≡ a2

T = k0T

(
∂T

∂S

)
V

=
k0T

2

T
(
∂T
∂S

)
V

=
k0T

2

CV
UNZ*VOW

^)� )�,0".� !�)#".&�) � $" � ,�,��9�&�- S� !�)#".&�) ���4 �#,�"#5��4
,� ���4 ��) ��8/ ��"8T

〈ΔTΔV 〉 = 0 UNZ*VVW

�". %)�!"��� )�,0".�#��  �#�"1��( 0�,* �". �1�0� $%)��#�"�� &�! 
$% �� ���3#��.T

PV = Nk0T UNZ*VNW

CV =
3

2
Nk0 UNZ*VXW

��� - % �$&��".89� UNZ*VNW  UNZ*VXW � UNZ*VOW- ��/��T〈
(ΔT )2

〉
T 2

=
k0T

2

T 2CV
=

k0

3
2
Nk0

=
2

3

1

N
UNZ*VYW
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$� ��&�������������

�&5#- � ���$�� 6"�!&��' . &#�%#)�&�)� δT =
√

2
3

1√
N

∼ 1√
N

* �#%#) )�,2

0".�#�� 6"�!)��' 8 �+R/��* ��)�5�89� �+R/� 9#)#, &�$! � UNZ*VNW &�
% �$&��".89� �� UNZ*]W- ��/��T

〈
(ΔV )2〉 = −k0T

(
∂

∂P

(
Nk0T

P

))
T

= −k
2
0T

2N

P 2
= −V

2

N〈
(ΔV )2〉
V 2

=
1

N
UNZ*VZW

� ���$�� 6"�!&��' . �+R/�� δV = 1√
N

*

�* =����
�����
����>:����
�������� 
�����?
)�#��� ������
�@

���� %�������	��&�	 ������

�,��9��� T 2 &#�%#)�&�)�- p 2
&�$! � $�$&#� * <��#�� ,�$&�$�����2
&� &#)������� 9��( %�&#�' �" a ++2
$� G(T, p, ξ)* <��#�� ��$" �5���&�
$#0�&�#"#!&)�!� �� %)�!"�� %R/,�2
#"#!&)�! �* ��! .! �". +��12.!�0�
%)�'#$� %)�&�����# %#��# �%&���"12
�# ,��9#��.- &� � ������ ��%��!�
�� 3�!�&��#�� �%&���"1�# ,��9#�2
�. ,� S#��. ξ*

�". '1�0� %�&) +�� )�,�R.,�&� ,��9�(�� ,���9� �� #!$&)#���

∂G(T, p, ξ)

∂ξ
= 0 UNP*VW

�� �$� ξ0 = ξ0(T, p)* ;! �� ,��/�� ξ → Pz 2 %�".)�,�' . �,���5 �$ z
.! �#"�9��� �,�0�"1�889�- &�! .! � !�5� ( !�� )' $#0�&�#"#!&)�!� 2
$��. %�".)�,�' .  � �%�� ��# ,� S#��.* ��!�� 9���� %�&#�' �" a ++$�
%#)#&��)8/&1$.T

G→ G(T, p, Pz) = G0(T, p) + A(T )P 2
z +BP 4

z + ... UNP*NW



9$'3 *���������
��� ����
" $#

�� ,� ($��"� )�,!"�� � ).� ,� $&#%#�.�� Pz* �$! "1!� $#0�#&�#"#!&)�2
!�� %)�&������  ,�&)�% . � ���$�� ��%).�!� %)�!"��#��. ,� S�89�7
$�"�- &� 6��!' . G(T, p, Pz) = −G(T, p, −Pz) ��#6 ' /�&� )�,!"���  /
6��!' .�� &�$!� &� &#�%)�&�)�* ���5�&��#��- S� ,�"#5� $&1 � � &#�2
%#)�&�)� !�#6 ' /�&� B $"�+!�  �� �#8 �#4&�/��* � %�!�,���4 0)�6 ! �
2 �)�0�( &� 9#&�#)&�( �#,���� "1�.8&1 6 ,�9��$& ���#" - � %#)3�( &�
&)#& ( '# 2 %�)�6�,� &� $#0�#&�6�,� � �%�� ���*

� &�! ,��� ( &�9' �8) - %)� A = 0  $��/
%#)#4 � � � $#0�#&�6�,� �� %�)�6�,�*
�� ��"8�!� %�!�,��� ,�"#5� $&1 $%��2
&����7 %�".)�,�' 7 � � &#�%#)�&�)�*

A = a0(T − Tc), a0 > 0 UNP*XW

��� "��� �!)#�� �+"�$& $#0�#&�6�,� &� %�)�6�,�T

Ts/p − Tc < 0, A < 0

Tp/p − Tc > 0, A > 0

��%�3#�� ,���9� �� #!$&)#��� �". G

2APz + 4BP 3
z = 0 UNP*YW

�� �$�

Pz = ±
√

− A

2B
UNP*ZW


# +��# ��)�, �". $%��&����7 %�".)�,�' 7- ��5# &�!�� 9���� ��$.0�/2
&1$. �%&���"1��0� ,��9#��. ,� S#��.* ��$ ' !���&1 �+$�"8&�# ,��9#��.
$%���&���7 %�".)�,�' 7* ^ �$&��".89� 6�)��"� UNP*XW � & "1!� S� �&)�2
���� 6�)��"� UNP*ZW &� �,.�3� ����"1- ��&��#��T

|Ps| =

√
a0(Tc − T )

2B
UNP*PW
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$$ ��&�������������

;!S� ,�� $&1 )�,0".��&� Pz- )�,0".��&� ��0� &��( ���#�& � &#�) 7
6#)���0�#&�,��- &� ��5�� +�"� +- 6�)��"1�� , &�4 5# %�"�5#�1 �%�2
$���&� 6#)���0�#&�!*

��#�#�� %��.&&. % )�#"#!&)�9��0�
!�#6 ' /�&� 2 .! � ���� %)� % ���2
S#�� &#�%#)�&�)� �� %��#)4� % )�2
#"!&)�!� ����!�/ %��#)4�#��( ,�).�
 %�".)�,�' . �� %��#)4� ) ��� 0�2
$&�� '1�0� ,�).��U|Ps|Γ = σ0W*

��+&� %)� ��0) ���� �� �#"�9��� ΔT �#"�9�� ,�).�� %).��%)�%�)' (��
,+ "13�/&1$. �� Δσ* ��)��"1�� '# ,�%�$�/&1$. &�!T

Δσ = d0ΔT UNP*[W

�� ($���3� 0)���9��( %#)#4 � � 6�)��" UNP*[W- � &�!�5 $!�)�$&��3�$1
��S#%)��#�#��� &�#)�5#��.� %)� %��#)4�#�� %�".)�,�' 8T

d0 = lim
ΔT→0

Δσ

ΔT
⇒ d0 =

∣∣∣∣dPsdT

∣∣∣∣ UNP*\W

^ �$&��".89� � 6�)��"� UNP*\W ,��9#��. %�".)�,�' 7 UNP*PW- �&)���/��

d0(T ) = −1

2

√
a0

2B(Tc − T )
UNP*]W

�#��5!� %�� &�&�- S� + ". &�9!� �8) % )�#"#!&)�9��( #6#!& %)�2
(��/ $��/ ��!$���"1�# ,��9#��.*

���89� ��)�, �". PsUNP*ZW- % �$&����� (�0� � UNP*NW- �&)���/��

G(T ) =

⎧⎨
⎩G0(T ) − a2

0

4B
(T − Tc)

2, T < Tc $#0�#&�6�,�

G0(T ), T > Tc %�)�6�,�
UNP*VOW

����(&# %)����" ,�/�� �&)���� ,�"#5��$& * �� ��/�� � %�)�6�, ,�"#2
5� $&1 � � &#�%#)�&�)� "�3# � G0(T ) 2 �"# '. ,�"#5� $&1 / $"�+!�8* ^)�
��+"�5#�� �� &�9!� �8) � ��)�, G �". $#0�#&�6�,� ��/�� S# ���� �#2
"�9���- .!� ,�"#5�&1 � � &#�%#)�&�)�  � �%�� ��� .! ��5�� �%#���&�$1
,��9#��. G � %�)�6�, + "13# � 5 � $#0�#&�6�, *



9$'9 �����
 !��� ��� $(

���� '	���� ����(���

�%#)3� �#.! �4 �� ,����5#��.* ^#)3# 2 2���� 2 ��,���/&1$. !��2
!)#&��(- ����) ���( $&�� $�$&#��* �)�0# 2 ��
���
 2������� ��
�'��� 2
��,��9�/&1$. %�).�!�� %�4 ���4 � � %�&#�' �"� a ++$�- .! � &�9' %#)#2
4��� ��8&1 )�,)��* �". %)�!"���

V =

(
∂G

∂p

)
T

S = −
(
∂G

∂T

)
p

⎫⎪⎪⎪⎬
⎪⎪⎪⎭ UNP*VVW

��& %�!�,��� ��) ��&� %#)#4�� �T

V* �23� %�4 ��� �#��/ )�,)���_

N* ��5# ��&�

X* ��/ )�,)�� ***

���#�#�� �#.! %)�!"��� 6�,���4 %#)#4�� �T

• ^"��"#��.

&#%"�/�� $&1 − cp = −T
(
∂2G

∂T 2

)
p

$&�$!���� $&1 − β =
1

V

(
∂2G

∂p2

)
T

!�#6 ' /�& &#%"���0� )�,3�)#��. − α =
1

V

(
∂2G

∂p∂T

)

⎫⎪⎪⎪⎪⎪⎪⎪⎬
⎪⎪⎪⎪⎪⎪⎪⎭

UNP*VNW

;!S� ,0���&� %)� �,��9#��. 6�,���2
0� %)#4��� �)�0�0� %�).�!�- ,)�,�� 2
"�- S� .!�$1  , ��S#,�%�$���4 �#"�2
9�� %������ ��&� $&)�+�!* ;! ��.��2
"�$1 $&)�+�! ��/ &#%"�/�� $&1*
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����



$+ ��&�������������

• �"#!&)�9� �"�$&���$& $#0�#&�#"#!&)�! � , 6�,����� %)#4�����
�)�0�0� )���

;! � ���� #�#)0 . �,�/��� 7 ��%�". , %�"#� ��)�5�/&1$. 6�)��"�8T

W = −(�p �E), UNP*VXW

�"# �$! "1!� � ��$ %�"# $%).�����# �,���5 �$ z- &� ��&��#��T

W = −pzEz UNP*VYW

^)� ��!"��#�� %�".- ,� �8/&1$. #�#)0 . $�$&#��- � �&5#- %�&) +�� �)�2
4���&� ,� �� %�&#�' �"� a ++$�* � � ��)�,�&1$. 6�)��"�8T

G(Pz) = G0(T, p) + A(T )P 2
z +BP 4

z − pzEz UNP*VZW

��%�3#�� ����� ) �����0�T

(
∂G

∂Pz

)
= 0 UNP*VPW

^ �$&��".89� $8�� UNP*VZW- �&)���/�� ,�"#5� $&1

Ez(Pz) = 2APz + 4BP 3
z UNP*V[W



9$'9 �����
 !��� ��� $4

��& 0)�6 9�� %�!�,��� 6�)��"�
UNP*V[W* 
# / ��%�� 5��( 0)�6 !  ��
%)�!"�� �1�0� %�!�,��� �$ ��$&�%� 
%#)#4��� �� !��)����& (Pz;Ez)* a)�2
6 ! ���#�#��( �". $&��� %�)�6�,�
%)� A > 0, B > 0*

;! � ���� %�".)�,�' . ,�"#5�&1 � �
%�".- S� 77 $&��)8/

Pz = χEloc
z UNP*V\W

Eloc
z 2 "�!�"1�# %�"# � � #"#!&)�!�* ��2

)�,��� ,� �� %�".)�,�' 7 � ,�"#5��2
$& � � ,��� 3�1�0� %�". &�!�� 9����T

ΔPz = ζEz, UNP*V]W

ζ − �#.!� !��$&��&�

��%���! $#0�#&�6�,� %)� A < 0*
�#%#) ��5#�� %#)#%�$�&� %�".2
)�,�' 8 &�!�� 9���� 2 $%��&��2
�� %�".)�,�' . &� %�".)�,�' .- S�
$&��)8/&1$. ,��� 3� � %�"#�T

Pz(Ez) = P 0
s + ΔPz UNP*NOW

^ �$&����� '#( ��)�, � 6�)��"�
UNP*V[WT

2a0(Tc − T )(P 0
s + ΔPz) +

+4B(P 0
s + ΔPz)

3 = EzUNP*NVW

��,0".�#�� &�! ��%��!�

V* T > Tc

����� ����	
�� ���
����
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# ,��9�&1- S� �# +��# $%��&����7 %�".)�,�' 7- +� &�� %� 6�)2
��"�� UNP*XW  UNP*PW 2 %�&) +�� +��# ������&� #�#)0 8 � $�$&#��
' "#��%)�"#��  '# �5# �# +��# $%��&���� %�".)�,�' .* ��� 5# '#
%�!�,�/&1$. �� 0)�6 !�*

^)� ��"�4 %�".4 !�+ 9� 9"#�� ��5�&1 ���5�&�$. ��"���- � &���
�� ���� �#4&�/��* ��!�� 9���� �&)���/�� , UNP*NVW ��)�,T

2a0(Tc − T )ΔPz = Ez UNP*NNW

�, %�) ��.��. UNP*NVW &� UNP*V]W- +�9���- S�

ζ =
1

2a0(Tc − T )
UNP*NXW

N* T < Tc

^)�)�+"8/�� ���"�0 9� �%#)�' 7- S� � %�%#)#��1��� ��%��!�- & "1!�
&#%#) ,)�+��� ��$&�%�# $%)S#��.T |ΔPz| � |P 0

s | ��/��

ζ =
1

2a0(Tc − T ) + 12B(P 0
s )2

UNP*NYW

�$&�&�9�� %)� % �$&����' $8��
��)�,� UNP*PW- �&)���/��

ζ =
1

8a0(Tc − T )
UNP*NZW

• �#0�#&�#"#!&)�9� 6�,�� %#)#4��� %#)3�0� )���

��%�3#�� %�&#�' �" a ++$�- �)�4���89� 3�$&�( %�).��!T

G(Pz) = G0(T, p) + A(T )P 2
z +BP 4

z + AP 6
z UNP*NPW

A(T ) = a0(T0 − T ), UNP*N[W



9$'9 �����
 !��� ��� (3

T0 2 �#.!� &#�%#)�&�)�*

^�!�,��� ,�"#5� $&1 %�&#�' �"�
a ++$� U, &�9� $&8 �� �#.!�7 !��2
$&��&�W � � &#�%#)�&�)�

C > 0,

A < 0,

B > 0.

�# 5 $��#- �"# �". %�)��#&) �

C > 0,

A > 0,

B > 0.

����9� %�".0�/ � &���- S�+ ,��(&� ����� $& (!�$& $�$&#��* �& (!�8
$�$&#�� +��# &�� - !�"� %)� ,� � %�".)�,�' 7 �#,� �8/&1$. %�&#�' �"
a ++$�* (

∂2G

∂P 2
z

)
> 0 UNP*N\W


# / ����� � � ���� #�#)0 7 $�$&#��* ��"� ��&)���&� ����� ) ���2
��0� UNP*NYW %� � ���3#��8 �� UNP*NPW- &� �&)���/�� ��$&�%�#T

Ps(T ) = ±P0

√√√√1 ±
√

1 −
(
T − T0

Tc − T0

)
UNP*N]W

��& P0 2 �#.!� !��$&��&�- .!� ) ���

P0 =

√
b0

3C0
UNP*XOW

�" � � �� &�&�- S� � 6�)��" UNP*NPW !�#6  /�& B = const = b0* c# �#.! 
%�,��9#��.

Tc = T0 + ΔT0;

ΔT0 =
b20

3a0C0

����� ����	
�� ���
����



(9 ,����
��-��. �� 

�� ,���"1���� ( � ".�' %�!�,��� ���
!�)#�. U6�)��"� UNP*N]WW* ��"� ,��2
9#��. $%��&����7 %�".)�,�' 7 %)� ,)�2
$&��� &#�%#)�&�)� �� ,��9#��. P0*
��"� 5 %)�4���&� &�( $���( 3".4 �
,��)�&�1��� ��%).�!� ��&��#�� ��2
5�8 0 "!�* � %�".)�,�' . ,��$ � $%�2
��/ �� ��". %)� ��$.0�#�� &#�%#)�&�2
)� T0* ��" � �+���/&1$. 3���!�( %#2
)#4 � �� �#)4�8 0 "!�* ��!�� 9����
��/�� S�$1 %�� +�# �� �#,��#)3#��0�
0 $&#)#,�$�*

;! $" ��/  , 6�)��"� UNP*VVW 2 ��/��T

S(T ) = S0(T ) − a0P
2
s UNP*XVW

ΔQ = TΔS UNP*XNW

^)� ,+ "13#�� &#�%#)�&�)� T > Tc, Ps = 0 Q #�&)�% . ��/ %#��# ,��2
9#��.* ^)� T < Tc #�&)�% . %)�(��/  �3# ,��9#��.* ��+&� %)� %#)#4�� 
&�9!� �8) � �+���/&1$. $&)�+�! #�&)�% 7* 	 �&5#- � �+���/&1. $&)�+�!
&#%"�&� Q '#  +��# 6�,���( %#)#4 � �20� )���*

�-  ������	!��" ���

<)��� V\N[ )�!� � �!)�� 4��&�9��( )�4 $%�)� %"�2
��� � ��� * ��4 ,���$"�4 9�$&���! � �+����$. ���$" 2
��! )�4� ��"#!�"* ��!�0� 5 )�4� ,�,��8&1 9�$&��!�
6�)+� � ��� - %�"��!� � %)��#� $� &"� &�S�* ��"#2

!�"� %#)#��8&1 9�$&��!��  �%�"1$- � �&5#- 9��.&1 �� 9�$&��!� &�$!*
;!S� 9�$&��!� ��/ ��$�&1 ��" )�,� )�- &� �� ���� , 77 $&�) � � +��12
.!�( ���#�& 9�$� $#)#��/ ,��9#��. &�$!� ��5# +�&� + "13��- � 5 ��
 �3�- &��� 9�$&��!� ,� ($�8/ +#,"����( )�4 � �+R/� ) ����* ^)�9���8
�
�����	�
��� 
�'� / 6"�!&��' .  �%�"1$�- S� %#)#��/&1$. � � ��"#!�"
9�$&��' *

��%�3#�� ) ��.��. )�4� 9�$&��!� ��$&�%��� 9���� Uγ Q !�#6 ' /�&
�R.,!�$& WT

m

(
d2 �r

d t2
+ γ

d�r

d t

)
= �F (�r, t) UN[*VW

�, �1�0� ��5�� ,��(&� ,�!�� )�4� 9�$&��!� �r(t)* ^�,��9��� %�9�&!��#
%�"�5#��. 9#)#, �r0 = �r(t = 0)  ��#�#�� � )�,0".� � �4�"#��. � � �1�0�
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���� (�

Δ�r = �r − �r0* �$! "1!� )�4 9�$&��!� �+����"#��( ��%��!����� , &!�#�2
�.��  , $�$ �� �� ��"#!�"���- &� %)�)���1� ���5�&�- S�

〈Δ�r(t)〉 = 0. UN[*NW

���� �". 4�)�!&#)�$&�!� &�!�0� )�4� ��' "1� 3# )�,0".��&� $#)#��/
!���)�&�9�# � �4�"#��.- �+� ��	��
	��T

D(t) =
〈
(Δ�r(t))2〉 UN[*XW

	 S�+ �&)���&� %�)��#&) )�,� )��$& ���5���- ����.&1 6"�!&��' 8T

ΔR(t) =
√
D(t) UN[*YW

�����5��� ) ��.��. )�4� UN[*VW �� �r &� �$#)#�����T

m

(〈
�r
d2 �r

d t2

〉
+ γ

〈
�r
d�r

d t

〉)
=

〈
�r �F

〉
UN[*ZW

��$&�$�/�� �� 6�)��"� UN[*ZW %)���"� ��6#)#�' 8����.

1

2

d (�r)2

d t
= �r

d�r

d t
UN[*PW

d2 (�r)2

d t2
= 2

(
d�r

d t

)2

+ 2�r
d2 �r

d t2
UN[*[W

^�!"��#�� �". ,)�9��$& �r0 = 0* 
# �# �+�#5�&1 ,�0�"1��$& )�,0".��*
��� ��$%#)$ . ��,��9�/&1$. %)�$&� .! D = 〈�r 2〉* �, �)�4�����.� '1�0�
&� 6�)��" UN[*PW  UN[*[W ) ��.��. UN[*ZW ,�%�3#&1$. &�!T

1

2

d2D

d t2
−

〈(
d�r

d t

)2
〉

+
γ

2

dD

d t
=

1

m

〈
�r �F

〉
UN[*\W

�$! "1!� $�"�- S� � / �� 9�$&��!� / ��%��!���8- &� %)��� 9�$&��� 6�)2
��"� UN[*\W ,���"�&1$.* 	 �)�0�( ������! ," �� Q '# � S�  �3# .! $#2
)#��. !���)�&�9�� 3���! $&1 9�$&��!�

〈
(�v)2〉- .!� ��5�� ��)�,�&�  ,

$% �� ���3#��. �". $#)#��1�7 ! �#&�9��7 #�#)0 7T

m
〈
(�v)2〉
2

=
3

2
k0T UN[*]W

�, �)�4�����.� UN[*]W �&)���/�� ! �'#�� 6�)��"� � ��0".� T

d2 D

d t2
+ γ

dD

d t
=

3k0T

m
UN[*VOW

����� ����	
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����



(� /���-�
 &���' 1����� 8?���"<*��!����'

�/ $���!�� ��#�� &����	 46����3:���	����

^)�'#$ �5��".2���%$���2'# ,� �� &#�%#)�&�)� 0�,� %)� �� �+�&�2
9���� �)�$#"8���� U%�� "1�# %)�& !���. 0�,� % � � /8 ) ,��' &�$! �
9#)#, �)�$#"1W

ΔE = ΔQ︸︷︷︸
=0

−PΔV UN\*VW

�&5#
d(E + PV ) = 0 UN\*NW

&�+&� %)�'#$ � �+���/&1$. %)� $&�" ( #�&�"1% 7

H = const UN\*XW

%#)#(�#�� �� ����4 ,� ���4

H(S, P ) ⇒ H(T, P ) UN\*YW

��� 

dH =

(
∂H

∂T

)
P

dT +

(
∂H

∂P

)
T

dP = 0 UN\*ZW

,� �!� (
∂H

∂T

)
P

dT = −
(
∂H

∂P

)
T

dP UN\*PW

dT

dP
= −

(
∂H
∂P

)
T(

∂H
∂T

)
P

UN\*[W

�$! "1!�T (
∂H

∂T

)
P

= T

(
∂S

∂T

)
P

= Cp UN\*\W

&� ��/��
dT

dP
= −

(
∂H
∂P

)
T

Cp
UN\*]W
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��,0".�#�� 9�$#"1��!(
∂H

∂P

)
T

= T

(
∂S

∂P

)
T

+
V dP

dP
= T

(
∂S

∂P

)
T

+ V UN\*VOW

�$! "1!� (
∂S

∂P

)
T

= −
(
∂V

∂T

)
P

UN\*VVW

&� ) ��.��. UN\*VOW ��&��# ��0".�(
∂H

∂P

)
T

= −T
(
∂V

∂T

)
P

+ V UN\*VNW

�� �$� ) ��.��. UN\*]W �$&�&�9�� ,�%�3#��T(
dT

dP

)
H

=
T
(
∂V
∂T

)
P
− V

Cp
UN\*VXW

�".  �#�"1��0� !"�$�9��0� 0�,�

PV = RT ⇒ dT

dP
= 0 UN\*VYW

�&5#  �#�"1��( 0�, �# ,� �8/ &#�%#)�&�)�*

�". )�,0".�� )#�"1��4 0�, � ��!�)�$&�/�� ) ��.��. ���2�#)2���"1$�(
P +

a

V 2

)
(V − b) = RT UN\*VZW

a = a0N, b = b0N,R = Nk0 UN\*VPW

^)���6#)#�' 8/�� �+��� 9�$&��� ) ��.��. %� V %)� $&�"��� P
��#)5���T [

− 2a

V 3
(V − b) +

(
P +

a

V 2

)](
∂V

∂T

)
P

= R UN\*V[W

,� �!� (
∂V

∂T

)
P

=
R(

P + a
V 2

)− 2a
V 3 (V − b)

UN\*V\W

<��#�� ���5�&� a  b ��"��� %�)��#&)���- &�+&�

a� PV 2, b� V UN\*V]W

��� )�,!"���89� ) ��.��. UN\*VXW ,� ��"��� %�)��#&)��� ��#)5���(
∂V

∂T

)
P

≈ V

T

(
1 − b

V
+

2a

RV T

)
UN\*NOW

����� ����	
�� ���
����
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^ �$&��".89� ) ��.��. UN\*NOW � UN\*VXW ��/��T(
dT

dP

)
H

≈ b

CpT
(Ti − T ) UN\*NVW

�# Ti = 2a
Rb

2&#�%#)�&�)�  ��#)$ 7*

/���-�
 &���
� ��.��. $&���  �#�"1��0� 0�,� 9�$&� ,�$&�$���/&1$. , ��$�&1 ��$�2

!�8 &�9� $&8 �� )#�"1��4 0�, �* 	"#  �!�"� '# ��+"�5#��. / �#��$&�&� �
 &)#+� �)�4�����&� �,�/��� 8 ��"#!�" 0�,� � 5 $�+�8*

�". '1�0� ��!�)�$&���8&1 ) ��.��. &��� �". �# �#�"1��0� 0�,�*
�#.! , ��4T

� ��.��. � &#) 9 T

P (V − b) = RT exp
[
− a

RTV

]
UN\*NNW

� ��.��. <#)&"�T (
P +

a

TV 2

)
(V − b) = RT UN\*NXW

� ��.��. < && 2<) �5"#��T

PV 2 = (1 − γ)RT (V + β) − α UN\*NYW

� ��.��. �#�" 4�2����0�T[
P +

a√
TV (V + b)

]
(V − b) = RT UN\*NZW

	"# ��(9�$& 3# !�)�$&�8&1$. ) ��.��.� ���2�#)2���"1$� UN\*VZW ���2
(�#�� &#�%#)�&�)�  ��#)$ 7 �". 0�,�- S� �%�$�/&1$. '�� ) ��.��.�(

dT

dP

)
H

=
1

Cp

[
RT

(P + a
V 2 ) − 2a

V 3 (V − b)
− V

]
UN\*NPW

^)� &#�%#)�&�) T = Ti (
dT

dP

)
H

= 0 UN\*N[W

�&5#

Ti =
2a

Rb

(
V − b

V

)2

UN\*N\W
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^)� ���� V � b ��#)5��� ��+"�5#��( )�,�R.,�!- S� ���#�#��( ��S#

^ �$&����� ) �� $&1 UN\*N\W � UN\*VZW(
P +

a

V 2

)
(V − b) = RTi =

2a

b

(
V − b

V

)2

UN\*N]W

��#�#�� %�,��9#��.T

x =
V − b

V
⇒ V =

b

1 − x
UN\*XOW

�� �!�

Ti =
2a

Rb
x2 UN\*XVW

&�� ) ��.��. UN\*N]W %#)%�3#&1$. .!T

3x2 − 4x+ (1 − P
b2

a
) = 0 UN\*XNW

��,�R.,!� '1�0� ) ��.��.T

x1,2 =
1

3

(
2 ±

√
1 − 3P

b2

a

)
UN\*XXW

�� �!�

Ti(P ) =
8a

9Rb

(
1 ± 1

2

√
1 − 3P

b2

a

)2

UN\*XYW

^�+���/�� 0)�6 ! ,�"#5��$& Ti(P )

�1 &����	� 
�)�#���

^)� �%�$ %)�'#$ � ��6�, 7 !�)�$&�8&1$. ,�!���� � !�
→
j= −DF∇C UN]*VW

����� ����	
�� ���
����
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�'

���5�89� DF �= f(C) = const
	"# � )#�"1��$& 

�$��/ ,�!�� ���!#". U,� �� !�#6 ' #�&� ��6�, 7W

D(C1, C2) = D0(AC1 +BC2) UN]*NW

� ,�0�"1���� ��%��!� ) ��.��. ��6�, 7 ��/ ��0".�

→
j= −D [∇C + aT∇T + ap∇p] UN]*XW

��,0".�#�� %)�'#$ ��6�, 7 ��"#!�" ���4 &�% �*
��#�#�� %��.&&. � ���$��0� �+R/�� ��"#!�" !�5��0� &�%�

M1,2 =
V1,2

V1 + V2
UN]*YW

��� "��� ��� �+R/�� a  b
� $&�� ) �����0� � ���$� !��'#�)�' 7

)#9���� ����!�� *��+&�

M1(
→
ra)

M2(
→
ra)

=
M1(

→
rb)

M2(
→
rb)

UN]*ZW


#  +��# �����8 ) �����0�
^�& ! )#9�����1

j1(M1,M2) = D1(M1,M2)∇M1 +D2(M1,M2)∇M2 UN]*PW
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�". $&�' ���)��0� $&���- !�)�$&�89�$1 ) ��.��.� UN]*ZW ,�%�3#��T

M0
1 (

→
r )

M0
2 (

→
r )

= const UN]*[W

��%�3#�� 0)�� #�&

∇
(
M0

1

M0
2

)
=
M0

2∇M0
1 −M0

1∇M0
2

M0
1M

0
2

= 0 UN]*\W

,� �!�
M0

2∇M0
1 −M0

1∇M0
2 = 0 UN]*]W

�&5# ��5#�� ,�%�$�&�T

D1 = −D0M2

D2 = D0M1 UN]*VOW

��� ) ��.��. UN]*PW %#)#%�3#&1$.

j1(M1,M2) = D0 [M1∇M2 −M2∇M1] UN]*VVW

M1 +M2 = 1 ⇒ ∇M1 = −∇M2 UN]*VNW

��� ��#)5���T
j1 = −D0∇M1 [M1 +M2] UN]*VXW

��#)5�"� ,�!�� � !�T
j1 = −D0∇M1 UN]*VYW

	��" ,�89� ��!"��!�- �� ��5#�� %#)#!���&�$1- S� ,�!�� � !� ��!���2
/&1$. & "1!� �". + ��)��4 $�� 3#(*;!S� ��%)�!"�� ,R.�"./&1$. &)#&.
)#9�����- &�

M1 +M2 +M3 = 1 UN]*VZW

 �$ %�%#)#�� ��!"��!� �". '1�0� ��%��!� ��.�".8&1$. �#� )����*

����� ����	
�� ���
����
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A 0���
6���" ����
�����" ��#

��)��5#��� #"#!&)����� 0�,�� ��,���/&1$. 0�,- S� 4�)�!&#)�,�/2
&1$. &#�%#)�&�)��� +"�,1!��� +� �+$�"8&��0� ��".* �#� 0�, %)� �+$�2
"8&���� ��" Q %��� $&8 ��)��5#��(* ��! .! ��5"�� N �) /�&�' 7 $% ��
#"#!&)���- &� !)�&� $&1 ��)��5#��. g = 2* ��$"� !���&���4 $&�� � #"#2
!&)���- S� )�4�/&1$. � �+R/� V  ��/  �%�"1$ � � �&#)��" [p, p+ dp]T

2
4πp2dpV

(2π�)3
= V

p2dp

π2�3
Ul*VW

�"#!&)��� ,�%���88&1 �$ $&��� ,  �%�"1$��� � � 0 �� �#.!�0� ,��2
9#��. pF * ��!�( 0)���9��(  �%�"1$ Q )�� �$ �#)� 2$6#)� � �+#)�#����
%)�$&�) * ^���� ! "1! $&1 #"#!&)�� � � ,�����4 $&���4T

N =
V

π2�3

pF∫
0

p2dp =
V p3

F

3π2�3
Ul*NW

�� �!� 0)���9��(  �%�"1$

pF = (3π2)1/3

(
N

V

)1/3

� Ul*XW

&� 0)���9�� #�#)0 .

εF =
p2
F

2m
= (3π2)2/3 �

2

2m

(
N

V

)2/3

Ul*YW

^���� #�#)0 . 0�,� ��5# +�&� �&)����� 3".4�� ��+�&!� ! "1!�$& 

$&�� � ��
p2

2m
&�  �&#0)�����. %�  �%�"1$��

E =
V

2mπ2�3

pF∫
0

p4dp =
V p5

F

10mπ2�3
Ul*ZW

�+� % �$&��".89� ,��9#��. pF

E =
3

10
(3π2)2/3 �

2

m

(
N

V

)2/3

N Ul*PW

��!�)�$&���89� &#- S� PV =
2

3
E ��5#�� �&)���&� ) ��.��. $&���

� �$��%&�&�9���� ��+"�5#�� %)� T → 0

P =
1

5
(3π2)2/3 �

2

m

(
N

V

)5/3

Ul*[W
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B ������� .����"���� C .���#��	�

�"� ���#�#��. 6�)��"� �"�%#()���2�"��, �$� $!�)�$&�/��$. ) ��.2
��.� ) �����0� T

μ1(P, T ) = μ2(P, T )

^)���6#)#�' 8/�� %� &#%#)�&�) T

∂μ1

∂T
+
∂μ1

∂P

dP

dT
=
∂μ2

∂T
+
∂μ2

∂P

dP

dT
Um*VW

�$! "1!� (∂μ/∂T )P = −s  (∂μ/∂P )T = v- &�

dP

dT
=
s1 − s2

v1 − v2
Um*NW

U�# s1, s2, v1, v2 Q ��"#!�".)� #�&)�% 7  �+R/�� �+�4 6�,W
��)�,��3� s1 − s2 9#)#, &#%"�&� %#)#4��� , ��� /7 6�,� �  �3�- �&)�2

��/�� 6�)��"� !�����
��� !������	� 1

dP

dT
=

q

T (v1 − v2)
Um*XW

���� ��,��9�/ ,� �� &�$!� ) �����5��4 6�, %)� ,� � &#�%#)�&�)�*
^#)#%�$��� � ��0".� 

dT

dP
=
T (v1 − v2)

q

6�)��"� ��,��9�/ ,� �� #&�%#)�&�)� %#)#4��� � 5 ����� 6�,��� %)�
,� � &�$!�*

��,0".�#�� 9�$&����( ��%���! 6�)��"� Um*XW ) �����0� & "� , (�0�
%�)��* Um*XW ��,��9�/ &�� ,� �� &�$!� ��$�9#��7 %�)� , &#�%#)�&�)�8*
�#4&�89� �+R/��� ) ���� %�) ��.�� , %�)��- %)�(��/�� dP/dT = q/Tv2*
���5�89� %�)  �#�"1��� 0�,��- ��)�5�/�� v2 = T/P

��� dP/dT = qP/T 2- �+�

dlnP

dT
=

q

T 2
Um*YW

��5�� � �� &�&�- S� �  �&#)��"�4 &#�%#)�&�)�- � .!�4 &#%"�&� %#2
)#4��� ��5�� ���5�&� $&�"�8- &�$! ��$�9#��7 %�)� ,� �8/&1$. , &#�%#2
)�&�)�8 #!$%�&#�' (�� T ∼ exp(−q/T )

����� ����	
�� ���
����
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D =�	
��� # ��#���� ��	
������

�8�� � ���$.&1 ) ,��0� )��� $�� 3 * ;!S� ��� /7 )#9����� � $�� 3 
,�0�9�� + "13#- � 5  �3�4- &� $�� 3 ��,���8&1 
�������  �3�4 9�$&�2
��! � ������ )�,9����!�*

��$"� )#9����- ! "1! $&1 .!�4 � $&�� ) �����0� ��5# +�&� ,�����
��� "1��- ��,���/&1$. 9�$"�� ���������' 
��������* ���� ��5# �#
$% �%���&� , 9�$"�� ) ,��4 )#9���� � $�$&#� - .!S� � 5 ���� ��5#
%)�4���&� 4 � 9�� )#�!' .*

��,0".�#�� &#)������� 9� �#"�9��� �". & "- S� $!"���8&1$. , ) 2
,��4 )#9����* ���� ��8&1 +�&� ����) ����� 6��!' .�� %#)3�0� %�).�2
!� � ���$�� �$ 4 ���&����4 ,� ���4 Q 9�$#" ) ,��4 9�$&���!  �+R/��*

�R.�".8&1$. 4 � 9� %�&#�' �"� μi !�5��7 , !��%��#�& $�� 3 Q %�2
4 �� � � &b� %�&#�' �"� %� 9�$"�� 9�$&���! Ni '�4 !��%��#�&* ���� �
6�)��"�4 &b� %�&#�' �" � ,�� $&1 μdN $" � %�$�&�

∑
μidNi

dΦ = −SdT + V dP +
∑
i

μidNi,

� 4 � 9��( %�&#�' �"

μi =

(
∂Φ

∂Ni

)
P,T

UD*VW

�$! "1!� Φ Q ����) ��� 6��!' . %#)3�0� %�).�!� S��� Ni- &�

Φ =
∑
i

Ni
∂Φ

∂Ni
=

∑
i

μiNi, UD*NW

S� / �,�0�"1�#��.� 6�)��"� Φ = Nμ
�". %�&#�' �"� Ω ��/��

Ω = F −
∑
i

μidNi UD*XW

	 ,� �$� Ω = −PV * �$&���. 6�)��"� �&)�9�/ 9��� $&1 "�3# �". & " �
,��� 3�1��� %�" - !�"� &�$!� � ) ,��4 9�$&���4 & "� ) ,� *

����� ) �����0� $�$&#�� � ,��� 3�1��� %�" %�&)#+�8&1 $&�"�$& 
�,���5 $�$&#�� %�)�9 , &#�%#)�&�)�8 &�!�5  4 � 9��4 %�&#�' �" � !�2
5��7 , !��%��#�& T

μi = const UD*YW

��,%�� " a ++$� �". $�$&#� , ) ,��4 9�$&���! %)�(��/ ��0".�

ωnN1N2... = exp

{
Ω +

∑
μiNi −EnN1N2...

T

}
, UD*ZW

S� / �,�0�"1�#��.� ωnN = exp
(

Ω+μN−EnN

T

)
Q 6�)��"� )�,%�� "� a ++$�

, ,� ���� 9�$"�� 9�$&���!*
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E =��,�� ��#����

����
� 
������Q&�! )�,9���- � .!�4 ! "1! $&1 ��"#!�" )�,9��#��4
)#9���� ,��9�� �#�3� ! "1!�$& ��"#!�" )�,9����!�*
U�%�9�&!� )�,0".�#�� ��%���! , ��� /8 )�,9��#��8 )#9�����8W*

�#4�( NQ9�$"� ��"#!�" )�,9����!� � )�,9�� - @ nQ9�$"� ��"#!�"
)�,9��#��7 )#9�����* ^�,��9��� !��'#�&)�' 8 )�,9��� .!

n/N = c << 1

�#4�( Φ0(T, P,N) Q &#)������� 9��( %�&#�' �" 9�$&�0� )�,9����!�*
�$! "1!� Φ = Nμ- &�

Φ0 = Nμ0(P, T ) Un*VW

U�# μ0(P, T )Q 4 � 9��( %�&#�' �" 9�$&�0� )�,9����!�W
^�,��9��� 9#)#, α = α(P, T,N) ��"� ,� ��- .!� � �9�� +� &b� %�&#�2

' �" %)� ��#�#�� � )�,9����! ��� /7 ��"#!�"� )�,9��8����7 )#9�����*
�#4&�89� �,�/��� /8 � 5 ��"#!�"��� )�,9��#��7 )#9�����- ���5�/��
,�0�"1�� ,� �� &b� %�&#�' �"� %)� ��#�#�� n ��"#!�" nα* 	"# ��)�,
Φ+nα �# �)�4���/  �#�&�9� $&1 ��"#!�" )�,9��#��7 )#9�����* 
# ��)�,-
S� +�� +� �&)�����( , 6�)��"� F = −T ln ∫ ′

exp(−E(p,q)
T

)dΓ ,� �����-S�
�$ 9�$&��!� )�,9��#��7 )#9����� ���5�"�$1 ) ,����* �+)�4�����( &�2
!�� 9���� $&�&�$&�9��(  �&#0)�" ��/ +�&� %�� "#��( �� n! U ! "1! $&1
��5"���4 %#)#$&�����! W


# %)�,�#�# �� %�.�� � "1��7 #�#)0 7- � �&5# ����&!���0� 9"#�� T

Φ = Nμ0(P, T ) + nα(P, T,N) + T lnn! Un*NW

�$! "1!� n Q��$�&1 �#"�!# U�"# n << NW- &� ,�� �8/�� lnn! = nln(n/e)

Φ = Nμ0 + n(α + T ln
n

e
) = Nμ0 + nT ln(

n

e
exp

α

T
)

�)�4���89�- S� Φ ��/ +�&� ����) ���8 6��!' /8 %#)3�0� %�).�!�
S��� n  N - #!$%��#�&� %������ ��&� ��0".� f(P, T )/N T

Φ = Nμ0 + nT ln[
n

eN
f(P, T )] Un*XW

��#�#�� ���� 6��!' 8 ψ(P, T ) = T lnf(P, T )- &�� 

Φ = Nμ0(P, T ) + nT ln
n

eN
+ nψ(P, T ) Un*YW

�)�+"#�# %)�%�S#��. S��� ��������. nα �� %�&#�' �"� 9�$&�0� )�,2
9����!� / )�,!"���� � ).� %� $&#%#�.� n , �)�4�����.� "�3# %#)3�4

����� ����	
�� ���
����



+� ���������. ����

9"#� �* �"#� �)�0�0� %�).�!�- , �)�4�����.� ����) ���$& %� n  N - ��/
��0".��&� .! n2β(P, T )/2N U �# βQ6��!' . "�3# � � P  T W* ��!�� 9����

Φ = Nμ0(P, T ) + nT ln
n

eN
+ nψ(P, T ) +

n2

2N
β(P, T ) Un*ZW

�,�0�"1�#��. �� ��%���! )�,9��� ! "1!�4 )#9���� T

Φ = Nμ0 +
∑
i

niT ln
ni
eN

+
∑
i

niψi +
∑
i,k

nink
2N

βik Un*PW

U�# niQ 9�$"� ��"#!�" ) ,��4 )�,9��#��4 )#9����W
� 6�)��"� Un*YW ,��4����� 4 � 9� %�&#�' �"� �". )�,9����!� (μ)  

)�,9��#��7 )#9����� (μ′) T

μ =
∂Φ

∂N
= μ0 − Tc Un*[W

μ′ =
∂Φ

∂n
= T lnc+ ψ Un*\W

F (	��
����" 
�	�

�#4�( ��� $"�+!�4 )�,9��� ��� /7 )#9����� , !��'#�&)�' .�� c1  
c2 )�,� "#� ��% �%)���!��8 %#)#0�)��!�8-!) ,1 .!� ��5�&1 %)���!�&�
��"#!�"� )�,9����!�- �"# �# )�,9��#��7 )#9�����* ��$!� , ) ,��4 +�! �
%#)#0�)��!� +���&1 ) ,����* � ,��'. '�4 &�$! � ��/ ��,�� �	���������

��	
�*
�����8 ) �����0� � 5 )�,9����� +��# U!) � ) ���$& &#�%#)�&�)W

) �� $&1 4 � 9��4 %�&#�' �" � )�,9����!� � ��4* ^)� '1��� 4 � 9� %�2
&#�' �"� )�,9��#��7 )#9����� �# %����� +�&� ����!�� *

^�,��9��� &�$!� � )�,9���4 P1  P2  $!�)�$&��3�$1 ��)�,�� Un*[W-
�&)���/�� ����� ) �����0� � ��0".� T

μ0(P1, T ) − c1T = μ0(P2, T ) − c2T Uo*VW

�$��&�9��( &�$! ΔP = P2−P1 �". $"�+!�4 )�,9�� � � ���$�� ��"�(*
���� ��5�� )�,!"�$&� μ0(P2, T ) � ).� %� $&#%#�.� ΔP  �+�#5�&�$1
%#)3��� ����� 9"#����*

μ0(P2, T ) = μ0(P1, T ) + ΔP
∂μ0

∂P

^ �$&��".89� � Uo*VW- ,��4����� T

ΔP
∂μ0

∂P
= (c2 − c1)T



����������� 	
���� +#

	"# %�4 ��� ∂μ0

∂P
.�"./ $�+�8 ��"#!�".)��( �+R/� v 9�$&�0� )�,9����!�*

��!�� 9����

ΔP = (c2 − c1)
T

v
Uo*NW

��� - .!S� , ��� /7 $&�)��� %)#0�)��!� ,��4���&1$. 9�$&�( )�,9��2
��! (c1 = 0, c2 = c)- &�

ΔP = n
T

V
Uo*XW

U�# nQ 9�$"� ��"#!�" )�,9��#��7 )#9����� � �+R/� V )�,9����!�W*
��)��"� Uo*XW ��,���8&1 2�
����� ���� #
�22�* ���� ,�$&�$����

�� $"�+!�4 )�,9�� �- �#,�"#5�� � � !��!)#&��0� )��� )#9���� U.! )�,2
9��#��7- &�!  )�,9����!�W*

�" � ,�#)��&� ���0� �� %�� +� $&1 ' /7 6�)��"� , ) ��.��.� $&���
 �#�"1��0� 0�,�* ��� $&1 &�$!� &�& $&�7&1 �$��&�9��( &�$!- ,�� $&1 �+R2
/�� 0�,� 2 �+R/� )�,9���-  ,�� $&1 ! "1!�$& 9�$&���! � 0�, 2 ! "1! $&1
��"#!�" )�,9��#��7 )#9�����*

G =���5 �
���!��� ��#��

	��&��� $&1 &#)������� 9��4 �#"�9�� U#�#0) .- #�&)�% .- ***W ��/ � 2
$'#- �$! "1!� ��5�� ,�#4&���&� �,�/��� /8 �!)#��4 9�$&�� & "�* ����
�". $�� 3 ! "1!�4 )#9���� Q ��%)�!"�� $�� 3 ! "1!�4 ) ��� Q &#)2
������� 9� �#"�9��� �# +���&1 ��) ��8��&� $���� &#)������� 9��4
�#"�9�� �!)#��4 !��%��#�& $�� 3 *

��!"89#��. $!"���/ 	���* ��������' �����- �$! "1!� �,�/��� /8  4
��"#!�" ��5�� ,�#4&���&� ,� �,��9#��.�* ^�)' �"1��( &�$! i20� 0�,� Pi
��)�5�/&1$. 9#)#, &�$! �$ /7 $�� 3 ��$&�%��� 9����T

Pi =
NiT

V
=
Ni

N
V, Ui*VW

�# N Q ,�0�"1�� ! "1! $&1 ��"#!�" $�� 3 - � Ni Q ! "1! $&1 ��"#!�" i20�
0�,�* ��)�,��� #�&)�% 8 9#)#, � ��� 6�)��"�T

F = −NT ln
eV

N
+Nf(T ) Ui*NW

S(V, T ) = −∂F
∂T

= N ln
eV

N
−Nf ′(T ) Ui*XW

Φ = NT lnP +Nχ(T ) Ui*YW

S(P, T ) = −∂Φ
∂T

= − lnP −Nχ′(T ) Ui*ZW

����� ����	
�� ���
����



+$ ���
7 
����-�� &��
�

UF Q � "1�� #�#)0 .- Φ Q %�&#�' �" a ++$�- f(T ) Q �#.!� 6��!' . &#�%#2
)�&�)�- χ(T ) = f(T ) − T lnT W* ��� � ��3��� ��%��!�T

S = N1 ln
eV

N1
+N2 ln

eV

N2
−N1f

′
1(T ) −N2f

′
2(T ) Ui*PW

S = −N1 lnP1 −N2 lnP2 −N1χ
′
1(T ) −N2χ

′
2(T ) Ui*[W

�, �)�4�����.� Ui*VW � Ui*[W ��/��T

S = − (N1 +N2) lnP −N1 ln
N1

N
−N2 ln

N2

N
−N1χ

′
1(T ) −N2χ

′
2(T ) Ui*\W

� "1�� #�#)0 . $�� 3 ��) ��8/

F = −N1T ln
eV

N1
−N2T ln

eV

N2
+N1f1(T ) +N2f2(T ) Ui*]W

^�&#�' �" ΦT

Φ = N1T lnP1 +N2T lnP2 +N1χ1(T ) +N2χ2(T ) =

N1 (T lnP + χ1) +N2 (T lnP + χ2) +N1T ln
N1

N
+N2T ln

N2

N
Ui*VOW

d � 9� %�&#�' �"� �+�4 0�, � � $�� 3 ��) ��88&1

μ1 = T lnP1 + χ1 = T lnP + χ1 + T ln N1

N

μ2 = T lnP2 + χ1 = T lnP + χ2 + T ln N2

N

Ui*VVW

��5#� , ��4 ��/ &�!�( $���( ��0".� .! �". 9�$&�0� 0�,�  , &�$!�� P1

�+� P2* � "1�� #�#)0 . $�� 3 0�, � Ui*]W ��/ ��0".�

F = F1(N1, V, T ) + F2(N2, V, T ),

�# F1  F2 Q � "1� #�#)0 7 �!)#��4 0�, �* �". &#)������� 9��0� %�&#�' 2
�"� Φ ���"�0 9�� ) �� $&1 �# $%)��#�"���- �". $�� 3 � � ��/ ��0".�

Φ = Φ1(N1, P, T ) + Φ2(N2, P, T ) +N1T ln
N1

N
+N2T ln

N2

N

�#4�( / ��� ) ,��4 0�,�  , ! "1!�$&.�� ��"#!�" N1 &� N2- S� ,��4�2
�.&1$. � %�$�����4 �+R/�� V1 &� V2 � �%�� ��� &� ����!����� &�$!���*
^�& � �+��� %�$����� ,R/���8&1 � 5 $�+�8  0�,� %#)#� 3�8&1$. Q �+R/�
$�� 3 $&�����&1 V1 + V2- � &�$! &� &#�%#)�&�)� ,�"�3�8&1$. $&�"���*
	"# %)� '1��� ,� �8/&1$. #�&)�% .* � ($��- �� ,� 3�����. ���� ��) �2
�8��"�

S0 = N1 ln
eV1

N1

+N2 ln
eV2

N2

−N1f
′
1(T ) −N2f

′
2(T ).
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^ $". ,� 3�����.- ,0 ���  , Ui*PW- #�&)�% . ��) ��8/

S = N1 ln
e

N1
(V1 + V2) +N2 ln

e

N2
(V1 + V2) −N1f

′
1 −N2f

′
2

��� ,� �� #�&)�% 7

ΔS = S − S0 = N1 ln
V1 + V2

V1
+N2 ln

V1 + V2

V2
,

�+�- �$! "1!� %)� ����!���4 &�$!�4 &� &#�%#)�&�)�4 �+R/� 0�,� %)�%�)2
' (��( ! "1!�$& ��"#!�"-

ΔS = S − S0 = N1 ln
N

N1
+N2 ln

N

N2
. Ui*VNW


. �#"�9��� / ����&��8- &�+&� #�&)�% . %)� ,� 3����� ,)�$&�/- .!  
%������ +�&� 9#)#, �#�+�)�&� $&1 %)�'#$�* �#"�9��� ΔS ��,���/&1$.
���
���� ���*������* ;!+� ��� 0�,� +��� ����!�� - &� #�&)�% . % $".
%#)#� 3�����. +�"� +

S = (N1 +N2) ln
V1 + V2

N1 +N2
− (N1 +N2)f

′,

 �$! "1!� V1+V2

N1+N2
= V1

N1
+ V2

N2
- &� ,� �� #�&)�% 7 ��) ��8��"� + ��"8* �&5#-

,� �� #�&)�% 7 %)� %#)#� 3����� %��R.,��� , � �� �� $&8 ��"#!�" 0�, �*

# � �%�� ��/ &���- S� %�&) +�� ��!���&� %#��� )�+�&�- S�+ � �� "�&�
��,�� ��"#!�"� ����0� 0�,� � � ��"#!�" �)�0�0�*

H I���� �������� ���������

d � 9�� )#�!' .- S� %)�4���&1 � $�� 3 )#9����- S� )#�0�8&1 � 5 $�2
+�8- �)#3& )#3& %)�,����&1 �� �$&����"#��. ) �����0�- � .! ( ! "1! $&1
!�5��7  , )#9���� + "13# �# ,� �8/&1$.* 
#( ��%���! &#)������� 9��7
) �����0� ��,���8&1 '������� 
���������* <��12.!� 4 � 9�� )#�!' . %)�2
4�5�&1 � �+�4 ��%).�!�4* �� ��$.0�#��. ) �����0� ����  , ��%).�! � %#2
)#��5�/ ���  �3��- � � ) �����, �+��� %)�&�"#5� )#�!' 7 %)�& !�8&1
 , &�!��� 3���!�$&.��- S� ,�0�"1� ! "1!�$& !�5��7 , )#9���� ,�"�2
3�8&1$. $&�"���* ��&&/��- S� $&�� 4 � 9��7 ) �����0� �# ,�"#5�&1 � �
&�0�- .!�� 9���� U%)� .!�4 �����4W %)�4���"� )#!�' .* � � ,�"#5�&1
"�3# � � ����- � .!�4 ,��4���1$. $�� 3 )#9���� � $����� $&�� ) �����2
0�* ���� �� ��5#�� )�+�&� +��12.! %)�%�S#��. S��� &�0�- .!�� 9����
%)�& !�"� )#�!' .*

����� ����	
�� ���
����



++ 6���� �
>�� ���

d � 9� )#�!' 7 ,�%�$�8&1$. � ��0".� $����" 9��4 ) ���$&#(- .! -
.!S� %#)#�#$&� �$ 9"#�� � ���� + !- ��8&1 ��0".�T∑

i

νiAi = 0, Up*VW

�# Ai Q 4 � 9� $����"� )#�0�89�4 )#9����- � !�#6 ' /�&� νi Q ' " ��2
��&� �+� � �R/�� 9�$"�* ^)�%�$&���- S� )#!�' . � �+���"�$1 %)� $&�2
"�4 &#�%#)�&�) &� &�$!�* ^)� &�!�4 %)�'#$�4 � � ��"1��� / &#)�����2
� 9��( %�&#�' �" $�$&#�� Φ* � $&�� ) �����0� '#( %�&#�' �" +#�� ��2
&� ��(�#�13# ��5"��# ,��9#��. %)� ,�����4 P  T * ^�,��9��� 9#)#,
N1, N2, . . . ! "1!�$& 9�$&���! ) ,��4 )#9����- S� %)�(��8&1 �9�$&1 �
)#�!' 7* ��� ����� � � ��"1��$& Φ ��5�� ,�%�$�&� � ��0".� %����7
%�4 ���7 � � Φ U%)� %�$& (��4 P  T W %� ������  , Ni- ��%)�!"�� N1T

∂Φ

∂N1
+

∂Φ

∂N2

∂N2

∂N1
+

∂Φ

∂N3

∂N3

∂N1
+ . . . = 0.

�� �� 9�$#" Ni %)� )#�!' 7 %��R.,�� ���# , ����� ) ��.��.� )#�!' 7 Q
.!S� N1 ,� ��&1$. �� ν1- &� !�5�#  ,  �3�4 9�$#" Ni ,� ��&1$. �� νi*
��)��"1�� '# ,�%�$�/&1$. &�!T dNi = νi

dN1

ν1
- �+� dNi

dN1
= νi

ν1
* ��� %�%#)#��8

����� ��5�� %#)#%�$�&� � ��0".� ∑
i

∂Φ

∂Ni

νi
ν1

= 0.

�&5#- % �$&��".89� ∂Φ
∂Ni

= μi  $!�)�9�89� �� ν1 �&)���/��∑
i

νiμi = 0 Up*NW


#  / ����� 4 � 9��7 ) �����0�* c�+ �&)���&� (�0�- %�&) +�� "�3# ,�� 2
��&� � ) ��.�� 4 � 9��7 )#�!' 7 $����"� )#9���� Ai �� � �%�� �� 4 � 9� 
%�&#�' �"� μi*

J <���� 
�;��� ��	

��$&�$�/�� �&)����� � %�%#)#��1��� %�)�0)�6 ,�0�"1�� ����� 4 � 2
9��7 ) �����0� �� )#�!' (- S� � �+���8&1$. � 0�,�� ( $�� 3 - ���5�89�
0�,  �#�"1��� �#��)��5#���* ∑

i

νiμi Uq*VW



����������� 	
���� +4

��& νi 2 �) �����5�89 ���5��!� � 4 � 9� ( )#�!' 7- � μi 2 &�!# � ���2
3#��.

μi =
Φ

Ni
,

S� %�!�,�/ � � � ,�' 8 &#)������� 9��0� %�&#�' �"� Φ = Nμ $�$&#��-
.!�( %�!�,�/ %����( 4 � 9��( %�&#�' �" $�$&#��- N 2 ! "1! $&1 9�$&�2
��! � $�$&#� U� ��3��� ��%��!� 2 ! "1! $&1 ��"#!�" � 0�, W- � μi 2 4 �*
%�&#�' �" ��� /7 ��"#!�"�*

^�$�"�89�$1 �� %�)�0)�6- � .!��� (�# ���� %)� $�� 3  �#�"1��4
0�, �- 4 � 9��( %�&#�' �" !�5��0� 0�,� � $�� 3 +��# ) ���(T

μi = T lnpi + χi(T ), Uq*NW

�# pi 2 %�)'�"1��( &�$! i20� 0�,� � $�� 3 _ pi = cip* ��& p 2 ,�0�"1��(

&�$! $�� 3 - � ci =
Ni

N
2 !��'#�&)�' . ����0� 0�,�- .!� �� ��,��9�/��

.! � ���3#��. 9�$"� ��"#!�" Ni �� %����0� 9�$"� N =
∑
Ni ��"#!�" �

$�� 3 - χi(T ) 2 �#.!� 6��!' . &#�%#)�&�)�* ^ �$&��".89� Uq*NW � Uq*VW-
�&)���/�� ∑

i

νiμi = T
∑

νilnp0i +
∑

νiχi(T ) = 0,

�# p0i 2 %�)' �"1� &�$!� 0�, � � $&�� 4 � 9��7 ) �����0�* ����.9� %�,��2
9#��.

Kp(T ) = e
−
∑
νiχi(T )

T , Uq*XW

�&)���/�� ,� �$� ∏
i

pνi
0i = Kp(T ) Uq*YW

;!S� ,�� $&1 p0i % �$&���&� pc0i- �# c0i 2 !��'#�&)�' . 0�, � %)� 4 � 9� (
) �����, _ &�� �&)���/��∏

i

cνi
0i = p−

�
νiKp(T ) = Kc(p, T )) Uq*ZW

�#"�9���- S� $&�7&1 $%)���- .!� / 6��!' /8 "�3# &�$!�  &#�%#)�&�)�-
 �#,�"#5�&1 � � ! "1!�$& )#�0#�& � 2 ��,���/&1$. 
��	������ '�����)


��������- $��� 6�)��"� Uq*ZW 2 ����� �
>�� ���* ;! +�9��� , ,�!���
�� ,��/�� ,#"#5� $&1 � � &�$!� !��$&��&� Kc(p, T )- ,�"�3�"�$1 ,��(&�
,�"#5� $&1 � � &#�%#)�&�)�* �". '1�0� �#�+4 ��� ,��&� �"�$&���$& 0�2
, �* ��%�3#�� .���( ��0".� ��S#,0�����0� %�&#�' �"� ΦT

Φ = Nε0 +NTlnp−NcpT lnT −NζT, Uq*PW
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�# ε0 2 !��$&��&�- � ζ 2 4 � 9�� !��$&��&� 0�,�* ��!- .!S� 0�,� ��8&1 $&�"�
&#%"�/�� $&1- &� �����5��3� 6�)��"� Uq*NW �� %���� ! "! $&1 9�$&���!-
&� ,0����3� %)� $% �� ���3#��.� � 5 ,�0�"1��� 4 � 9��� %�&#�' �"��
&� 4 � 9��� %�&#�' �"�� ��� /7 ��"#!�"�- %)�) ��./�� Uq*NW �� Uq*PW ⇓

χi(T ) = ε0i − cpi T lnT − Tζi Uq*[W

��& cpi 2 &#%"�/�� $&1 0�,�* ^ �$&��".89� '8 6�)��"� � Uq*XW- �&)���2
/�� ��$&�%�� 6�)��"� �". !��$&��&� ) �����0�T

Kp(T ) = e

∑
νiζi

T

∑
cpi
νi
e
−
∑
νiε0i
T Uq*\W

��!�� � 89�4 ��$ $%)��#�"���(  �". $"�+!�4 )�,9�� �U�". )#�!' (
� 5 )�,9��#���� )#9�������W* �". )�,9��#��4 )#9���� 4 � 9��( %�&#�2
' �" ��/ ��0".�T

μ = T lnci + ψ(p, T ) Uq*]W

��& ci 2 ��,��9�/&1$. .! � ���3#��. 9�$"� 9�$&���! ����7 )�,9��#��7
)#9����� �� 9�$"� 9�$&���! )�,9����!� (ci =

ni
N

)* ^ �$&��".89� UqW �

����� ) �����0� Uq*VW- &�� 5# $%�$�+)� ,��(�#��∏
i

cνi
0i = K(p, T ), Uq*VOW

�# !��$&��&� ) �����0�

K(p, T ) = exp

(
−
∑
νiψi
T

)
Uq*VVW

�" � � �� &�&�- S� ,�!�� � 89�4 ��$ $%)��#�"���(  �". �,�/��� 7 &�%�
&�#)�# & "�20�,  �". )#�!' ( � .!�4 +#)# �9�$&1  )�,9����!* 
# ��5��
%�!�,�&� &�!�� 9����- S�+ �#�����&�$. � ���0 )�,� )!�������.T !�"�
�� ��/�� &�#)�# & "�- �� �#��/�� %#)#� 3�����. (�0� ��"#!�" , ��"#2
!�"��� 0�,� - � &�!�5 &�$! $&��)8����( +��# "�3# &�$!�� 0�,�- � &���
� !��$&��& 4 � 9��7 ) �����0� +��# ,����5 &�!� ,�"#5� $&1 � � &�$!�
 &#�%#)�&�)�- � �# � � !2$& 9�$&���! )#�0�89�4 )#9����* 	��"�0 9� 
!��#�&�) ��5�� ���#$&� %� %����� �,�/��� 7 S# ( )�,9����!�* ��& "�2
3# +��# $%)��� , �#"�!�8 (�0� !��'#�&)�' /8- �"# !�"� % �$&��".&� �$ 
�#"�9��� �� ,�0�"1��0� 4 � 9��0� %�&#�' �"�- �� ,��5#�� ,�#4&���&�
��"��� �����!���  �$# ,�#�#&1$. �� !��'#�&)�' ( )�,9��#��4 )#9����*



����������� 	
���� 43

7 :����
� �������

d � 9�� )#�!' .- S� $�%)����5�/&1$. %�0"�����.� &#%"�- ��,���/2
&1$. ������
������- ��� "#��.� Q �
����
������*

��,��9��� ��!$���"1�� )�+�&�- S� ��5# +�&� �&)����� ,� ��%�2
��0�8 4 � 9��7 )#�!' 7* ��,�#�� r#"#�#�&�)��8r)#�!' 8 � 5 ����� ��2
+�)�� ��"#!�"- S� ��,��9�/&1$. ) ��.��.� )#�!' 7-  ��,��9��� ,� ��
&#)������� 9��0� %�&#�' �"� $�� 3 )#�0�89�4 )#9���� %)� %)�& !��� 
��"�0� 9�$"� δΦ #"#�#�&�)��4 )#�!' ( UP, T − constW*

δΦ =
∑
i

∂Φ

∂Ni

δNi =
∑
i

μiδNi

�$! "1!� ,� �� 9�$"� ��"#!�"  27 )#9����� %)� δn #"#�#�&�)��4 )#�!' .4
δNi = −viδn -&�

δΦ = −δn
∑
i

viμi U�*VW

�)�,�� "�- S� � ) �����, δΦ/δn �+#)&�/&1$. � 0*
�#"�9��� U�W ��)�5�/ � � ��"1�� )�+�&�- �#�+4 ��� �". %)��#�#��.

δn #"#�#�&�)��4 )#�!' (  ����9�$�� / ��!$���"1��8 )�+�&�8- .!� ��2
5�� �&)���&� ,� )�4���! &�0� 5 9�$"� �+#)�#��4 )#�!' (* � ��)�,� �".
4 � 9��0� %�&#�' �"� μi = T lnPi + χi(T ) ,��4�����

δΦ = −δn(T
∑
i

vilnPi +
∑
i

viχi) U�*NW

	+�- ����.9� !��$&��&� ) �����0� T

δΦ = Tδn[−
∑
i

vilnPi + lnKp(T )] = Tδn[−
∑
i

vilnci + lnKc(P, T )] U�*XW

�". )#�!' ( � )�,9���4 ,��4����� ���"�0 9�� , ��%���0�8 6�)��" μ =
T lnci + ψi(P, T )  K(P, T ) = exp(−

�
viψi

T
)

δΦ = Tδn[−
∑
i

vilnci + lnK(P, T )] U�*YW

���! δΦ ��,��9�/ ��%).� %)�& !���. )#�!' 7T Φ %).��/ �� � � ����-
�&5# %)� δΦ < 0 )#�!' . %)�& !�/ � %).���� ��%).�  ���%�!�*

� "1! $&1 &#%"�&�- S� %�0"���/&1$. U��� "./&1$.W %)� $&�"��� &�$!�
 &#�%#)�&�) T

δQp = −T 2(
∂

∂T

δΦ

T
)p
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�". )#�!' ( � 5 0�,��� T

δQp = −T 2δn
∂lnKp(T )

∂T
U�*ZW

	��"�0 9�� �". )�,9�� � T

δQp = −T 2δn
∂lnK(P, T )

∂T
U�*PW


 6�)��"� %)�(�.&� �". +��12.!�0� �# ��"�0� δn
��5�� $6�)��"8��&� %)���"� T

���
������ 	���
�� �	�� 
�������� � ��
 ������
�������4 � �'���������

 � ��
 �
����
������� �
�"�	�*
� "1! $&1 &#%"� δQv- S� %�0"���/&1$. %)� $&�"��� �+R/�  &#�%#)�2

&�) - ��) ��8/ ,� � #�#)0 7 $�$&#��- � &�( 9�$- .! δQP 2 ,� � &#%"���7
6��!' 7* E = W − PV - &���

δQv = δQP − δ(PV ) U�*[W

PV = T
∑

iNi - δNi = −viδn - &���

δQv = δQP + Tδn
∑
i

vi U�*\W

�� �� �+R/�� $�� 3 )#�0�89�4 )#9���� � )#,�"1&�& )#�!' 7 UP, T −
constW �". 0�, � T

δV =
T

P
δN = −T

P
δn

∑
i

vi U�*]W

^)�
∑

i vi = 0 ,� �� �+R/�� �#��/ U$&�"� ! "1! $&1 9�$&���!W*
^ �$&��".89� V = ∂

∂P
δΦ � U�*YW �". $"�+!�4 )�,9�� � �&)���/�� T

δV = Tδn
∂lnK(P, T )

∂P
U�*VOW

��!�� 9����- ,� �� �+R/�� %)� )#�!' 7 %��R.,��� , ,�"#5� $&8 !��2
$&��&� ) �����0� � � &�$!�* �+ "13#��. &�$!� $%)�./ )#�!' .�- S� $�2
%)����5�8&1$. ,�#�3#��.� �+R/��  ���%�!�*

K &���������" ��
��

�#4�( ��/�� ��� & "�- %"�S� %��#)4� )�,� "� � 5 .!��� %�4,��9���
ξ* ��+�&� %)� ,� � 77 �� �#$! �9#��� ��"� dξ T

dR = αdξ Us*VW
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α Q 4�)�!&#)�$&�!� %��#)4� )�,� "�- ��,���/&1$. 
��2�"������ ����
' 

������ ������*
��#&)%)#&�' .T �� �����'8 ���5��� !��&�)�- S� �+�#5�/ +��12.!�(

%)�� 5�! %��#)4� )�,� "�- � / $�"�- %� �#"�9�� ) ��� α  ��%).�"#��
%� ��&�9� ( �� %��#)4� %� ���&) 3� ( ��)��" �� !��&�)� Uα > 0W*

��,0".�#�� ��%���! %��#)4�#��0� ��&.0� �� �#5 )�,� "� ���4  ,�2
&)�%��4 6�, 2 ) ����  %�)� ��� /7 )#9�����*

<#, �)�4�����. %��#)4�#��4 #6#!& � %)� ,������� V ��/�� dE =
TdS+μdN U� ) �����, T  μ �+�4 6�, ����!�� -&��� ,�%�$�/�� �". �$ /7
$�$&#�� ��)�,�W* � �)�4�����.� �&)���/�� S# ���� ������! T

dE = TdS + μdN + αdξ Us*NW

�)�9�� �+�)�&� &#)������� 9��( %�&#�' �" %� � ���3#��8 �� �#,�"#2
5��4 ,� ���4 T  μ U V W- (�0� ��6#)#�' �" U%)� V = constWT

dΩ = −SdT −Ndμ+ αdξ Us*XW

��,� "��� &#)������� 9� ,� �� �� �+R/��  %��#)4�#� * �#4�( �+R/2
�� V1  V2 �+�4 6�, ��,��9�8&1$. &�!- S�+ %�)�9 , ) �� $&8 V1 + V2 = V
U�# V Q %����( �+R/� $�$&#��W- ��"� � $'# ) �� $&1

n1V1 + n2V2 = N,

�# N Q %���� ! "1! $&1 9�$&���! � $�$&#� -
n1 = n1(μ, T )-n2 = n2(μ, T ) Q �+R/�� 0�$&��� 9�$"� 9�$&���! !�5��7 ,
6�, U)�,0".��/�� �#�+�#5#����W*

��#�#�� %�,��9#��. �+R/���4 9�$&�� &#)������� 9��4 �#"�9��  ��#2
!$�� 0- � %��#)4�#��4 2 S* ��!�� 9���� NS = 0*

� Us*XW ��/�� %)� T, μ− const dΩ = αdξ- &��� Ωξ = αξ* ��!�� 9����

Ω = Ω0 + αξ Us*YW

�$! "1!� #�&)�% . S = −(∂Ω
∂T

)μ,ξ- &�

SS = −∂Ωξ

∂T
= −ξ dα

dT
Us*ZW

� "1�� #�#)0 . F = Ω +Mμ_ NS = 0- &��� %��#)4�#�� � "1�� #�#)0 .

FS = αξ Us*PW

^��#)4�#�� #�#)0 .

ES = FS + TSS = (α− T
dα

dT
)ξ Us*[W
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� "1! $&1 &#%"�- S� %�0"���/&1$. %)� �+�)�&� (  ,�&#)� 9� ( ,� � %"�S 
%��#)4� � � ξ1 �� ξ2T

Q = T (SS2 − SS1) = −T dα
dT

(ξ2 − ξ1) Us*\W

���� &#%"� Q  )�+�&� R = α(ξ2 − ξ1) ) ��� ,� � #�#)0 7 ES2 − ES1

��$&�$����3� �� %��#)4�#��0� ��&.0� � 5 ) ����8  77 %�)�� ,�!��
� �%�� ���4 $&�� �- �&)���/�� �� �#)$�"1�� 6��!' 8 � � %)��#�#��7 &#�2
%#)�&�)� UT/TkpW

α

(TkpP 2
kp)

1/3
= f(

T

Tkp
) Us*]W

U%)� T << Tkp ��/�� f( T
Tkp

) ≈ 4W
� !)�&�9� ( &�9' %��#)4�. )�,� "� � 5 ) �!�8  0�,�%�� +��8 6�2

,��� ,��!�/- α = 0*
^)� ��+"�5#�� �� !)�&�9��7 &�9!� 3�)��� %#)#4 ���0� 3�)� � 5

�+��� 6�,��� ��+�)�/ ��!)�$!�% 9��4 %�)��#&) �- $&�/ %�).�!� ��"�9�2
�� !�)#".' (��0� )�� �$� 6"�!&��' ( rc* d�)�!&#)�� �#"�9��� 0�$&���
&#)������� 9��0� %�#&�' �"� ∼ (−t)2−α* ��� !�#6 ' /�& %��#)4�#��0�
��&.0� ∼ rc(−t)2−α* �$! "1!� rc ∼ (−t)−ν  2 − α = νd = 3ν - �&)���/��

α ∼ (Tkp − T )2ν Us*VOW

U6�!&�9�� 2ν ≈ 1, 3W
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